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Q-1
eng/eng

In each of the following questions, two statements I and II are given after the statement. Read all the conclusions and then decide which of the conclusions
logically follows from the given statements. Give Answer-

Statements:

All Men are Riders.
All Riders are Hat.
No Men is Test.
Some West are Men.

Conclusions:
1. All Tests can never be Riders.
II. Some West can be Men.
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In each of the following questions, two statements I and II are given after the statement. Read all the conclusions and then decide which of the conclusions
logically follows from the given statements. Give Answer-

Statements:

All Men are Riders.
All Riders are Hat.
No Men is Test.
Some West are Men.

Conclusions:
1. All Tests can never be Riders.
I1. Some West can be Men.
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In each of the following questions, two statements I and II are given after the statement. Read all the conclusions and then decide which of the conclusions
logically follows from the given statements. Give Answer-

Statements:

No Devdas is Paru.

Some Paru are Chandra.

All Mukhi are Devdas.

All Jack are Paru.

Conclusions:

[. Some Mukhi can be Jack.

I1. All Chandra can never be Mukhi.
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In each of the following questions, two statements I and II are given after the statement. Read all the conclusions and then decide which of the conclusions
logically follows from the given statements. Give Answer

Statements:

No Devdas is Paru.

Some Paru are Chandra.

All Mukhi are Devdas.

All Jack are Paru.

Conclusions:

1. Some Mukhi can be Jack.

II. All Chandra can never be Mukhi.
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Solution for Question 2 Ans Key: 2
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Q-3 In each of the following questions, two statements I and II are given after the statement. Read all the conclusions and then decide which of the conclusions
logically follows from the given statements. Give Answer-

Statements:

All mask are must.
Some mask are mist.
No mist is mufty.

All mufty are masti.

Conclusion:
1. Some must can be mufty.
II. All masks can never be masti.

frerferferT sers w1 §, o 3 are &7 frewd 17 11 i o @) =y R o sire foer o ¢ B fRw o et § & m-ar fAed arffs =0 8
STHLI FIAT g 3T IToTu-

HqA:

Ao
. FE ST qHT 2T T &
11 7T wate FHdT ff 7e 781 31 T

01. Ifonly conclusion I follows./ Tf& Fa@  02. Ifonly conclusion II follows./ T% Fae fAet I1 ST F2aT &l
e [ STEor 2T 81

03. Ifeither conclusion I or II follows / IfZ T 04.  [f neither conclusion I nor II follows / 7% 7 T fAeht [ 3iT 7 2T 11 STHET FaT 2
T AR 13T 11 ST F2aT &

05. Ifboth conclusions I and 11 follow / T2



Q-3

eng hin

AT FAeFT 1 /¥ 11 AT F7d 21
In each of the following questions, two statements I and II are given after the statement. Read all the conclusions and then decide which of the conclusions
logically follows from the given statements. Give Answer-

Statements:

All mask are must.
Some mask are mist.
No mist is mufty.

All mufty are masti.

Conclusion:
1. Some must can be mufty.
II. All masks can never be masti.
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In each of the following questions, two statements I and II are given after the statement. Read all the conclusions and then decide which of the conclusions
logically follows from the given statements. Give Answer-

Statements:
Some cos are cot.
No cot is cosec.
All cosec are sine.

Conclusions:
1. Some cos are not cosec.
II. Some cot can be sine.
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In each of the following questions, two statements I and II are given after the statement. Read all the conclusions and then decide which of the conclusions
logically follows from the given statements. Give Answer-

Statements:
Some cos are cot.
No cot is cosec.
All cosec are sine.

Conclusions:
I. Some cos are not cosec.
II. Some cot can be sine.
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In each of the following questions, two statements I and II are given after the statement. Read all the conclusions and then decide which of the conclusions
logically follows from the given statements. Give Answer-

Statements:



No test tube is rusk.

No rusk is bill.

Only a few bill are bid.

Conclusions:

1. Some bid being test tube is a possibility.
11. All bid being bill is a possibility.
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In each of the following questions, two statements I and II are given after the statement. Read all the conclusions and then decide which of the conclusions
logically follows from the given statements. Give Answer-

Statements:

No test tube is rusk.

No rusk is bill.

Only a few bill are bid.

Conclusions:

I. Some bid being test tube is a possibility.
II. All bid being bill is a possibility.

Trerforfera wears wor |, e o are & ARy 1 11 o 7o 81 asft fFeed o2 oie i ar o7 36 (R 10 ot & & - 9o s &0 9
FA:

TS Tee] T G 2

Fils TEF faeT 751 2l

Ao

I. % faew % araey S T T AT 2

1L =sfT vedt 3 farer 2 Y JreaaT 21

01. [fonly conclusion I follows./ 7% Fare 02. If only conclusion II follows. / T Faet [T 11 SITHTOT F2dT 2l
ﬁ'l’c{?f;llaw\ LEXEI %’|

03. Ifeither conclusion I or II follows / I T 04. If neither conclusion I nor II follows./ 7% 7 T fAeht [ 3iT 7 2T 11 STHETT FaT 2
AT e 13T 11 SIEeor 3T g

05. Ifboth conclusions I and II follow / T
FAT AR 1 M 11 a0 2 2

Solution for Question 5 Ans Key: 5

eng/eng

eng hin




Passage for Question 6, 7, 8, 9, 10 (ST-2077 RRB CLERK MAINS R (6-10) 2020)
eng/eng Passage

Study the following information carefully and answer the question given below.

Nine people O, Z, Y, X, W, V, C, B and A attend the seminar in three different months January, June and December on three different dates 17, 23 and 30 of a
month. No two persons attend the seminar on the same date of the same month. Each one of them likes different fruit Apple, Banana, Kiwi, Avocado, Cherry,
Apricot, Papaya, Orange and Grapes. All the above information is not necessarily in the same order.

Four persons attend the seminar between W and the one who likes Banana. As many persons attend the seminar after the one who likes banana is same as persons
attend the seminar before the one who likes Avocado. Two persons attend the seminar between the one who likes Avocado and O. B neither attend the seminar
with W nor with O. A and B attends the seminar in the same month. Neither A nor B likes Banana. There is seven days gap between the dates of W and the one
who attends the seminar immediately before W. Only one person attends the seminar between X and the one who likes Apple. W attends the seminar on 30th of
the month. The one who attends the seminar immediately after the one who likes Apple attends the seminar on 17th. V attends the seminar immediately before the
one who likes cherry. V attends the seminar on the odd-numbered date. W attends the seminar in a month which has a maximum number of days. A attends the
seminar immediately before B. V and the one who likes Kiwi attend the seminar on the same date. The number of persons who are attending the seminar after the
one who likes Cherry is the same as the number of persons who are attending the seminar before the one who likes Orange. One of the persons attends the seminar
on December 17th. The one who likes Grapes attends the seminar immediately before the one who likes Apricot. The one who likes Apple attends the seminar
after X. There is thirteen days gap between the dates of O and the one who attends the seminar immediately before Z. Y and X attend the seminar on the same
date. Two persons attend the seminar between Y and the one who likes Orange. The one who likes kiwi attends the seminar in the month of 30 days.
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eng hin Passage
Study the following information carefully and answer the question given below.

Nine people O, Z, Y, X, W, V, C, B and A attend the seminar in three different months January, June and December on three different dates 17, 23 and 30 of a
month. No two persons attend the seminar on the same date of the same month. Each one of them likes different fruit Apple, Banana, Kiwi, Avocado, Cherry,
Apricot, Papaya, Orange and Grapes. All the above information is not necessarily in the same order.

Four persons attend the seminar between W and the one who likes Banana. As many persons attend the seminar after the one who likes banana is same as persons
attend the seminar before the one who likes Avocado. Two persons attend the seminar between the one who likes Avocado and O. B neither attend the seminar
with W nor with O. A and B attends the seminar in the same month. Neither A nor B likes Banana. There is seven days gap between the dates of W and the one
who attends the seminar immediately before W. Only one person attends the seminar between X and the one who likes Apple. W attends the seminar on 30th of
the month. The one who attends the seminar immediately after the one who likes Apple attends the seminar on 17th. V attends the seminar immediately before the
one who likes cherry. V attends the seminar on the odd-numbered date. W attends the seminar in a month which has a maximum number of days. A attends the
seminar immediately before B. V and the one who likes Kiwi attend the seminar on the same date. The number of persons who are attending the seminar after the
one who likes Cherry is the same as the number of persons who are attending the seminar before the one who likes Orange. One of the persons attends the seminar
on December 17th. The one who likes Grapes attends the seminar immediately before the one who likes Apricot. The one who likes Apple attends the seminar
after X. There is thirteen days gap between the dates of O and the one who attends the seminar immediately before Z. Y and X attend the seminar on the same
date. Two persons attend the seminar between Y and the one who likes Orange. The one who likes kiwi attends the seminar in the month of 30 days.
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Q-6 Who has a seminar in the month of June?
eng/eng S F He| | T g g2
01. w 02. X
03. 7 04. A
05. Vv
Q-6 Who has a seminar in the month of June?
eng hin W%ﬂﬁﬁ%ﬂﬂﬁﬁwg?
01. w 02. X
03. 7 04. A
05. v
Solution for Question 6 Ans Key: 4
. Month Date Person Fruit Tfar | arfte | =Ry
January 17 X QOrange Wl 17 X AT
January 22 |7 Papaya St 23 z Ekiey
January 30 o Apple EEEgil 30 O LS
June 17 ¥ Banana EL] 1 Yy T
June 23 A Kiwi EC] 23 A EAC T
June 30 B Avocado Gl 30 B P
December 17 |G Grapes - 17 c = "I—
December 23 v Apricot - 23 v TFFI:FF
December 30 W Cherry i 20 o L
Month Date Person Fruit LAl arfta =i W
January 17T i Orange s 17 X AT
January 23|z Papaya st 23 z Tt
January 30 o Apple EEEEil 30 (@] LS
June 17 ¥ Banana EL] 17 y e
June 23 A Kiwi EC) 23 A EACTE
June A B Avocado Gl 30 R P
December 17 |G Grapes - 17 c = _'_
December 23 v Apricot - 23 v Fi_'fr'tﬁ
December 30 W Gherry e 0 e
Q-7 How many persons have seminar between Z and A?
engleng Z 3T A A e sxf<rai 7 AT 82
01. No one/FTE q5T 02. One/T=®
03. Two /=T 04. Three/d=
05. None of These / T ¥ &S Al
Q-7 How many persons have seminar between Z and A?
enghin  Z 3T A% i+ e sf<rai &7 A 22
01. No one/FTE T2t 02. One/T=®
03. Two /=T 04. Three /i
05. None of These / TTH & TS !
Solution for Question 7 Ans Key: 3



eng/eng

Month Date Person Fruit wir | atfte | AR e
January . 17 . X . Orange sl 17 X AT
January 23 |z Papaya St 23 z T
January 30 o Apple EEEgil 30 o #=
June 17 ¥ Banana EL] . 17 Y e
June 23 A Kiwi T 23 A T
June 30 B Avocado o 30 B T
December 17 |C Grapes e 17 c 3’"?
December 23 V Apricot e 23 v TE'E'IT-H‘
December 30 W Cherry e e 20 W e
B Month Date Person Fruit LR L S o
January . 17 . X . QOrange Wl 17 X Ao
January 23 |z Papaya St 23 z T
January 30 o Apple EEEiil 30 o #=
June 17 ¥ Banana EL] . 17 Y e
June 23 A Kiwi EL 23 A EnEC
June 30 B Avocado Eol 30 B ——
December 17 | C Grapes o 17 c S
December 23 v Apricot - 23 v T;—rltf'r
December 30 W Cherry i 20 TR
Q-8 Who likes the fruit called Kiwi?
01. v 02. W
03. C 04. A
05. 7
Q-8 Who likes the fruit called Kiwi?
01. v 02. w
03. C 04. A
05. 7
Solution for Question 8 Ans Key: 4
Month Date Person Fruit LU U T i)
January . 17 - X . Orange sl 17 X At
January 23 |z Papaya St 23 z T
January 30 o Apple st a0 o #=
June 17 ¥ Banana E] - 17 Y AT
June 23 A Kiwi ST 23 A T
June 30 B Avocado T 30 B TETEET
December 1f C Grapes Fewr 17 c EFP'
December 23 V Apricot o 23 v 71'5"7'&
December 30 W Cherry inr 0 W e
B Month Date Person Fruit UL L S o
January . 17 - X . Orange sl 17 X ATt
January 23 |2 Papaya St 23 z T
January 30 o Apple EEER 30 o =
June 17 ¥ Banana EL) - 17 Y AT
June 23 A Kiwi S 23 A =T
June 30 B Avocado T 20 R =



December 17 ' C Grapes &m

5 i7 | e |4n
December \ Apnicot fRu
December 30 W  Che = v |3
ecem : 5
- Rwar | 30 w =
Q-9 How many persons between the perosns who like Apple and Apricot?

engleng HF ST GATHT THE FIA ATl ATHAT % A1 el AT 82

01. One / T= 02.
03. Three /i 04.

05. More than Four / 9T¥ & rfer®

Two /2T
Four / =ATX

Q-9 How many persons between the perosn who likes Apple and Apricot?
eng hin 8 ST GATAT THE FTA AT SATHAT F A1 a1k &2

01. One /TH 02.
03. Three /i 04.

05. More than Four / =T ¥ 37fersh
Solution for Question 9

Maonth Date Person Fruit
January 17 X Orange
January 22 |7 Papaya
January 30 o Apple
June 17 ¥ Banana
June 23 A Kiwi
June 30 B Avocado
December 17 |C Grapes
December 23 v Apricot
December 30 w Cherry
Month Date Person Fruit
January 2 i i Orange
January 22 |7 Papaya
January 30 o Apple
June 17 ¥ Banana
June 23 A Kiwi
June 30 B Avocado
December 17 |G Grapes
December 23 v Apricot
December 30 W Cherry

EEIRRRE RS A RE
}

i
3

=

]

o N
) =~
(& RN

(%)

il N
=2 < 0 W > <0 N X

=

5943217341 911321075 3

e |
o | =

s,
= ]

23
30

(%]
]
E-:om)-cowxélp

Ans Key: 4

Q-10  On which date does Z have a seminar?
eng/eng Z 7T [%# qTETE T HFGAT 22

01. 18 02.
03. 30 04.
05. Cannot be determined / &t 72t 3
ST 9ehdT

Q-10  On which date does Z have a seminar?

enghin  Z 7T & i@ 1 Af6A 22
01. 18 02.
03. 30 04.

05. Cannot be determined / frartfa w2t T
ST "ehdT
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Solution for Question 10 Ans Key: 2

eng/eng

Month Date Person Fruit i ! m
January 17 X Orange 17 X i
January 23 |2 Papaya Tt 23 z i
January 30 o Apple Rl 30 (0] L
June 17 ¥ Banana EL) 17 Y FAT
June 23 A Kiwi EGl 23 A =T
June 30 B Avocada T 30 B T
December 17 C Grapes foun .
23 i C o
December v Apricot foun £
December 30 W  Che - | & ¥
ecem : 5
— fmar | 30 w =
eng hin ﬁ q IS
Month Date Person Fruit : ! m
January 17 X Orange 17 X i
January 23 |2 Papaya e 23 z i
January 30 o Apple R 30 O ik
June 17 ¥ Banana EL] 17 Y FT
June 23 A Kiwi ?JT{ 2':‘ A =.|C'T|1r
June 30 B Avocadao Eol 30 B e
December Cc Grapes = T
17 P e 17 C T
Zecem Eer - :n L 2:’100t £ : 23 Vv T .
ecember 30 ey : — e
e 30 w =
Q-11 In each of the questions below consists of a question and two statements numbered I and II given below it. You have to decide whether the data provided
in the statements are sufficient to answer the question. Read both the statements and Give answer-
Is C the son of S?
I. Sisthe father of F. F is the only sister of B. B is married to K. K, the only child of L, is the sister-in-law of C.
II. F is the sister of C. F is the daughter of L. L is the mother of B. B is the son of S. S has only one daughter.
= FaT 70 9= 95 | U T AT &7 HA 1 ST 11 {2 T ) AT T T FIAT g 06 Fo | [T 0 2T 97 T 3L a1 o (o109 8 AT
SEIERIEREIET R R R I L
FTC, SHFTIT?
I. S, F &7 fUar 21 F, B &t Usume 52+ 21 B #7 oet K & gt g1 K, S LT UshaT 5a19 ¢, C &t 91t )
IL F,CHFagT 2l LA IT 2L, B AT 81 B, SFT 21 21 S F¥ Fayet T 5T 2
01. Ifthe data in statement I alone are sufficient 02. If the data in statement II alone are sufficient to answer the question, while the data in statement I
to answer the question, while the data in alone are not sufficient to answer the question / T F2I= I T 22T 3Tehel 5T T I & F [o10
statement II alone are not sufficient to ERNES| %, ST T [ T 2T T T 3L 2 F ﬁ’l’” TaTH T-T%)r %I
answer the question / 7% T [ T 2T
AT 5T T I a7 F (70 94T g,
Starter F 11§ 30 70 27 997 37 39X
3 % forw oty g 2
03. If the data either in statement I alone orin ~ 04. If the data given in both statements I and II together are not sufficient to answer the question and /
statement II alone are sufficient to answer FfE FAF 13T [ AT F T T 227 927 67 39 34 & o0 9379 781 3 3
the question / T a1 AT AT A= [ AT
F 11 el T°7 FT 3L 2 F (o0 g7y
El
05. Ifthe data in both statements I and I
together are necessary to answer the
question. / 7S F [ 3T 11 T4T § 22T
5T T 3T & o forT a7ie 2
Q-11 In each of the questions below consists of a question and two statements numbered I and II given below it. You have to decide whether the data provided
eng hin  in the statements are sufficient to answer the question. Read both the statements and Give answer-

Is C the son of S?
1. Sis the father of F. F is the only sister of B. B is married to K. K, the only child of L, is the sister-in-law of C.
II. Fis the sister of C. F is the daughter of L. L is the mother of B. B is the son of S. S has only one daughter.

A= R T ek o § UE W ST &V FIT AT M T ) STy g 7 AT g FF e § fRw e 22T wer v 39 a9 & forw waiy g 4r
T ZAT FAAT HT T 37T I A TT0-
FTC, S FTIT?



eng/eng

I. S, F &7 {91 21 F, B T UHAT a2 21 B ¥ ol K & 2reft g1 K, ST LY Tshams &a1e g, C it wreft 21
II. F,CHTagA g F,LAT & 81 L, BFT AT B, S FT AT 1 S T el U 2T &

01. Ifthe data in statement I alone are sufficient 02.
to answer the question, while the data in
statement II alone are not sufficient to
answer the question / % e 1 T 22T
FHA ToT T 3L 2 & (o0 TATH 8,
St e 11 H 20 T 2ar wo7 1 39T
33 for e 7 3

03. Ifthe data either in statement I alone orin ~ 04.
statement II alone are sufficient to answer
the question / T a1 AT AT =T [ AT
e 1 3ol W57 %7 ST o & Torg gty
2l

05. Ifthe data in both statements I and II
together are necessary to answer the

If the data in statement II alone are sufficient to answer the question, while the data in statement I
alone are not sufficient to answer the question / T F=Ie I T 22T 3Tahel T FT IAL & % {70
T &, ST FAT [ FT 2T T3 FT 3T a7 6 (70 I a8l g

If the data given in both statements I and II together are not sufficient to answer the question and /

TfE FI 13T NI H 0 T 27 927 7 39 39 & forw gty 787 8 it

question. / T{E FIT [ 37T 1L TAT § 22T
T T IAL & & (70 AT 2
Solution for Question 11 Ans Key: 3
From I/l &
S+
L
C+ F- B+ <==>K-
From II/IL &
C+ F- B+
From /I &
S+
L
C+ F- B4+ <==>K-
From II/Il &
5+ o ™
c+ F- 8+

Q-12

eng/eng

In each of the questions below consists of a question and two statements numbered I and II given below it. You have to decide whether the data provided
in the statements are sufficient to answer the question. Read both the statements and Give answer-

How many people are sitting in a circle, where all the people are facing the centre?
1. Y sits third to the right of N. Only one person sits between Y and K. K sits third to the left of J. K is an immediate neighbour of E.
II. K sits second to the left of N. E is an immediate neighbour of K. E sits second to the right of H. Only one person sits between H and N.

A= 0 0 TR o § UE T ST &V HIT 1A T T ) TRy A7 7 AT SR TR e § U e 227w v 39 A & forw aaiy g 4v
T ZAT FAAT HT I 37T I A ToT0-

e AR U Fahe § 95 §, STt A AR 47 A AT T T 52
L Y, N TS 3T qT8Y TI79 U< g1 ool U =ARE Y T K 3 1= S3a1 81 K, J 3 970 Ha¥ =219 9 937 g1 K, E &7 qehtel T2l g
1. K, N % T3 ga¥ ®I19 9% 937 g1 E, K FT aehtet T2 1 E, H % 213 gaY ©I19 9% 9371 g1 H 3T N & 1+ #ad UF ATk 9547 2

01. Ifthe data in statement I alone are sufficient 02. Ifthe data in statement II alone are sufficient to answer the question, while the data in statement I



Q-12

eng hin

03.

05.

to answer the question, while the data in
statement II alone are not sufficient to
answer the question / 7% 2 [ T 2T
Fh T T ST o 6 forw qate g,
Starfer e 11 H {30 70 22T 737 7 39%
3 % forw q=Te 78l B

If the data either in statement I alone orin ~ 04.
statement II alone are sufficient to answer
the question / T a1 AT AT FA=T [ AT
I [1 3TheT 57 3T I & o (o0 9a T
El

If the data in both statements I and 11
together are necessary to answer the

question. / TS FIT [ ¥ 11 ST § 22T
=T T 3T & o forT aaie 2

alone are not sufficient to answer the question / IfE ForT 11 3T 2T &bl 57 7 I a4 foro
TATH &, ST FHAT [ T 2T T FT I & % (o0 7F7q 721 gl

If the data given in both statements I and II together are not sufficient to answer the question and /

i FAFT 13T NI H T T 27 T2 F7 3L 34 % o0 9377 7871 2 3%

In each of the questions below consists of a question and two statements numbered I and II given below it. You have to decide whether the data provided
in the statements are sufficient to answer the question. Read both the statements and Give answer-

How many people are sitting in a circle, where all the people are facing the centre?
1. Y sits third to the right of N. Only one person sits between Y and K. K sits third to the left of J. K is an immediate neighbour of E.
II. K sits second to the left of N. E is an immediate neighbour of K. E sits second to the right of H. Only one person sits between H and N.

= F3w T e ey § U WA ST J1 R 13 1 R 0 1 SRt 7g o AT g {6 e # TR T Saw wor v 39w 39 o forw qate § A

e &1 U T B 9% g, el A AT &g i T 3w g 22
I Y, N a2 ¥ q16Y T 9 2| Fae U A1k Y 37 K 3 &= aaar 21 K, T 3 a70 §18< &= 9 937 21 K, E &7 ok ge Tt 2
II. K, N & a0 g8 #1992 927 81 E, K &7 JehTe T2r6T g1 E, H % I8 g9 €19 92 927 81 H #iT N & = Faa U =7f<h dadT &l

01.

05.

If the data in statement I alone are sufficient 02.
to answer the question, while the data in
statement I alone are not sufficient to

answer the question / TS e [ T 2T

el T T 3T 2 % foro a4 iH 2,

Starter A 11§ {30 70 327 997 7 392

If the data either in statement I alone orin ~ 04.
statement II alone are sufficient to answer

the question / FfE T2T AT a7 F 1 AT

F 11 el T°7 T 3T 2 & [o10 gaTq

&l

If the data in both statements I and II

together are necessary to answer the

question. / 7% e 1 3 1 341 § 22T

T9F T IAL & o 1T T7H Bl

Solution for Question 12

eng/eng  From /I &

E
i K ¥
Y
£ or/ AT g
o N
N

There are either 5 or 6 persons./ T T 5 T 6 =7{<F 2l

From I/I &

K E
or/ AT H
K
E
N N

There are 5 or 7 persons./ 5 IT 7 =<k 2
From I and II, they cannot be combined./I 3f¥ II &, 3¢ HATISIT A2l [T ST AT B

[f the data in statement II alone are sufficient to answer the question, while the data in statement I
alone are not sufficient to answer the question / Tf& F=I# II T 32T 3Tahel T T IAL o % {0
TATH 2, STaTeh AT [ T ST T T 3L 7 o (077 GATH g1 )

If the data given in both statements I and II together are not sufficient to answer the question and /
T 9 1T 1 21 & T30 70 S27 757 7 3T a7 & [oI0 931 9871 8 37

Ans Key: 4



eng hin

Q-13

Q-13

eng hin

From /1§

E
i K ¥
Y
g or/ T g
N N
N

There are either 5 or 6 persons./ T T 5 T 6 =<k 2l
From I/IT &

K E
or/ T H
K
E
N N

There are 5 or 7 persons./ 5 IT 7 =k %I
From I and TI, they cannot be combined./T FT I, I HATSTT Al (AT ST JhalT 2l

In each of the questions below consists of a question and two statements numbered I and II given below it. You have to decide whether the data provided
in the statements are sufficient to answer the question. Read both the statements and Give answer-

Among six people A, B, C, D, E and F, each having a different number of experiences, viz 4, 9,13,15, 22 and 27 years (but not necessarily in the same
order). Who is the person with the second lowest experience?

. Only two people are more experienced than B. F is less experienced than B but more experienced than A. Both E and C are more experienced than D.
D's experience is an even number.

II. Cis more experienced than F but less than E. Both A and D are less experienced than F. B is more experienced than D. B's experience is in odd
number.

= FaT 70 9= T | UE T ST a7 A 1 30T 11 R0 | SR T TF FHIAT G 6 H | [0 T 2T T T 3L & 3 (o707 9479 8 AT
TET| ZTAT FAAT T TE 3T ST Ao0-

T AR § A, B, C, D, E 3T F T o TTH STT-S(eRT §eAT § SITHT TA1q 4, 9,13,15, 22 3 27 A & (ATohed 8T HF § T A= Aah)| T
T F AT ATAT SFF FIT 52

I. &ad a1 ATh B | AT T4l gl F, B T ToT1 # H7 ATHAT &, AThT AT AT § 77 Twat 21 E 3T C I &7 Aqaa DF AfgF 81 D
T AT U HH HAT H g

II. C, F & e1fers fhe E & &7 SIqaT 81 A 37T D 11 F & % T4t &1 B, D T G § I8k Si=l g1 B &7 3Iqee U &3 w@eqr # g

01. Ifthe data in statement I alone are sufficient 02. Ifthe data in statement II alone are sufficient to answer the question, while the data in statement I

to answer the question, while the data in alone are not sufficient to answer the question / T T [ FT 22T AT T T 3L 2 F (70
statement II alone are not sufficient to AT g, ST A [ 7 2T I T ITL a4 % o0 g378 721 2

answer the question / TS e 1 T 2T

T T T 3L & & [0 TATH &,

Starfeh e 11§ R0 70 27 9o 7 39T

39 % forT ooty 8 2
03. Ifthe data either in statement I alone orin  04. If the data given in both statements I and II together are not sufficient to answer the question and /
statement 11 alone are sufficient to answer TfE FAT 13T N1 F 0 T 327 927 7 39 39 3 forw gty 487 8 i
the question / T a1 7T AT A= [ AT
I 1 3ol 57 7 ST & & TorT g1y
2l
05. If the data in both statements I and II
together are necessary to answer the

question. / T{E FIT [ 37T 1L AT § 22T

T T IAL & & o7 AT 2
In each of the questions below consists of a question and two statements numbered I and II given below it. You have to decide whether the
data provided in the statements are sufficient to answer the question. Read both the statements and Give answer-

Among six people A, B, C, D, E and F, each having a different number of experiences, viz 4, 9,13,15, 22 and 27 years (but not necessarily in the same
order). Who is the person with the second lowest experience?

1. Only two people are more experienced than B. F is less experienced than B but more experienced than A. Both E and C are more experienced than D.
D's experience is an even number.

II. Cis more experienced than F but less than E. Both A and D are less experienced than F. B is more experienced than D. B's experience is in odd
number.

A RTITTAFITIR CF TI AT FIT LA FRTTCE | STTRT TZTTFAT N R FI7 7 frgsrgSarwa w13Iwee & forg



7T & ATAH AT HITT HT ¢ sHTITLHTIT-

TE ART § A, B, C, D, E 3T F S o ITH ST-STeT H&AT § SIAT 3T41q 4, 9,13,15, 22 3f¥ 27 AT g (AT THT HF § T ST&AT Agh)| T
A FH ATHT ATAT AE DI 52

I. #Fa a1 =<k B & a7fere siqwelt €1 F, B Y Tor1 § 7 et 8, At A Y o & s7fers et €1 E sf¥ C T FT aqaa DAy Afgrs 81 D
T ST UF G987 ST H g

1. C, F 5 e ofhe E 8 %7 A9aT 81 A ST D AT F § FF 4T g1 B, D 3T AT § TFerF el 21 B F7 Ao U [&us 9T 7 2

01. Ifthe data in statement I alone are sufficient 02. Ifthe data in statement II alone are sufficient to answer the question, while the data in statement I
to answer the question, while the data in alone are not sufficient to answer the question / T F2Ie 11 T 22T 3Tahel T T IAL o % {0
statement II alone are not sufficient to TATH &, Sfoh A [ 7 2T T3 /T I & F o0 7978 727 3
answer the question / 7% T [ T 2T
FhT ToF T 3T & o oIy aie 8,

Starteh U 11§ 20 70 327 9o 7 39T
T F o gty 71 2

03. If the data either in statement I alone orin ~ 04. If the data given in both statements I and II together are not sufficient to answer the question and /
statement IT alone are sufficient to answer e = [T [ 21 o {30 0 37 v o7 S9% 3 o forg e -Té)r % Y
the question / % T=T IT AT FHoI+ 13T
F 11 STt T 7 3L & 6 (o0 T
2l

05. If the data in both statements I and II
together are necessary to answer the
question. / 7% e 1 37 1 391 § 22T
o7 T IAL & o {17 I37H Bl

Solution for Question 13 Ans Key: 1

Q-14

From I, I ES)
E/C>C/E>B>F>A>D
27 22 15 13 9 4
Hence A is second lowest /ZEToIT A THIT Ha¥ ¥ 2

From IL, IT 7
B>E>C>F>A,D or/3T E>C>F>A>B>D
27 9

Only I is sufficient. et [ 21 9379 2

From L, [ &
E/IC>C/E>B>F>A>D
27 22 15 13 9 4

Hence A is second lowest /38T ATEHT T FH 2

From II, T &
B>E>C>F>A,D or/3T E>C>F>A>B>D
27 9

Only Lis sufficient./Farl l'g,pr T 2

In each of the questions below consists of a question and two statements numbered I and II given below it. You have to decide whether the
data provided in the statements are sufficient to answer the question. Read both the statements and Give answer-

Point R is in which direction with respect to Point T?

I. Point M is 20m to the south of Point T. Point T is 15m to the east of point L. Point L is 40m to the north of Point X. Point X is exactly between Points R
and C such that points R, X and C form a straight line of 30m.

1. Point R is 30m to the north of Point J. Point J is 15m to the west of Point S. Point S is 30m to the north of Point U. Point U is 10m to the west of Point
M. Point T is to the north of Point M.

A RTITTAFITA CFTT AT FATIATMIRITACE | sATFT TZ TT FATEIN FH FA7 R RO ATITT AT FTITLIAF faIg
Tafa & AT AT FIT1 HT ¢ HTITLATIT-

g R, &g T "oy # e fRam 7 82

I fgM, EgTHF 20 ez Fg T, LT I5Hfer@ a8 FgL, Mg XF 40 frersme g Fg X, Fg R CHF IF A=
2, T T T3 R, X 3T C 30 e it us =reft @r 941 2

1. g R, g ¥ 30 devsav 81 &g 7, g S ¥ 15 Frex ufem & R g1 g S, fg UF 30 fex saw # 81 g U, g M % 10 Hew afemw &
g g T, Ay MF A e gl

01. Ifthe datain statement I alone are sufficient 02. If the data in statement II alone are sufficient to answer the question, while the data in statement I
to answer the question, while the data in alone are not sufficient to answer the question / e AT 1L T T2T ohed T T ITL I % (o0
statement II alone are not sufficient to TATH &, STtk FHAT [ T 2T T FT IO & % (o0 IF77 a1 gl
answer the question / Tf% I [ T 2T
el T T STL & & To70 937y g,

STt e 11 H 30 0 227 w31 &1 397
3 % forw oty Ag 8

03. Ifthe data either in statement I alone orin ~ 04. If the data given in both statements I and II together are not sufficient to answer the question and /



Q-14

eng hin

statement II alone are sufficient to answer
the question / g IEr AT AT FAT [ AT

Foe 1 3ol T°7 7 ST & & forg gaty

2l
05. Ifthe data in both statements I and I
together are necessary to answer the

question. / 7% &I 1 3T 11 ST # Ta1
5T T 3T & o [oIT I 2

T o 1 2% 11 11 § 20 70 227 o o1 3 3 3 for qafa =t © e

In each of the questions below consists of a question and two statements numbered I and II given below it. You have to decide whether the
data provided in the statements are sufficient to answer the question. Read both the statements and Give answer-

Point R is in which direction with respect to Point T?
I. Point M is 20m to the south of Point T. Point T is 15m to the east of point L. Point L is 40m to the north of Point X. Point X is exactly between Points R
and C such that points R, X and C form a straight line of 30m.

I1. Point R is 30m to the north of Point J. Point J is 15m to the west of Point S. Point S is 30m to the north of Point U. Point U is 10m to the west of Point

M. Point T is to the north of Point M.

T RTTTIAF I CHFIA N FATIATUETTCR | ATHRTI TG TTFCATERMN I FITH AT AT ITT AT FTITLIA & (9T
Tafa & AL AT Rt B0 A TITTARIT-

Rz R, Fifg T3 wer & firey fom 29

L fgM g TH20 ez fra g TR LF IsHer @A gL, Mg XF 4o der s Az Mg X, Fg R CF v d=
2, T T f3F R, X 3T C 30 e &t v ey @ a9 gl
I. FgR, FgIF30dersmeaa Fg), FgSsF 15 ez atm # fuaa 21 g S, g UF 30 fer e d &1 Fg U, g M ¥ 10 ez afsw &

21 g T, g M ¥ s fr e 21

01. [fthe data in statement I alone are sufficient 02.

to answer the question, while the data in
statement II alone are not sufficient to
answer the question / TS I [ T 2T
T T FT IAL 2 F (70 479 ¢,
Starter A 11§ 20 70 Z27 9o #7397
03. Ifthe data either in statement I alone or in
statement II alone are sufficient to answer
the question / TS T2T AT qT 4= [ AT

04.

T 11 3Tehel W57 3T I < o (o0 9I T

2l

05. If the data in both statements I and II
together are necessary to answer the
question. / TS 2 [ 3T 11 &1 7 ST
7 T I 4 % o1 g3ty gl

Solution for Question 14

eng hin

From I, R is towards South-West or South from T.

&, R, T & aferor-afam a1 aferr 1 s g1

40

20

R/C 15 X 15 c/r

If the data in statement II alone are sufficient to answer the question, while the data in statement I
alone are not sufficient to answer the question / T F=Ie Il T ST 3Tl T T IAL 3 & 0
TATH T, STk AT [ T ST T T ITL 7 F (70 TATH 981 2

If the data given in both statements I and II together are not sufficient to answer the question and /
Tt o 130 11 =1 8 7 0 a7 sor ot 3 o o forw aarte 727 8 8T

Ans Key: 4

From II, R is either North-west or South-west or West of T

117, R AT a7 Ie-9f2m =t aferor-afem =t T 1 afsm 2

R T
1
n
4
30 i
1
1
L]
T
1 15 5 ]
;,
u 10 M

From I, R is towards South-West or South from T.

19, R, T & IfEror-wfar 7 aferor &t & 2



40 20
M

R/C 15 X 15 c/r

From II, R is either North-west or South-west or West of T

117, R AT a7 Iae-af2m =t aferor-afem =t T a1 afsm 2)

R T

Q-15

Q-15

eng hin

In each of the questions below consists of a question and two statements numbered I and II given below it. You have to decide whether the
data provided in the statements are sufficient to answer the question. Read both the statements and Give answer-

In which month of the year did Kumar go abroad for a vacation?
. Kumar’s wife correctly remembers that they went for a vacation after 31st March.
[I. Kumar remembers that he went for a vacation before 1st May.

T3 T TTTAFTT R THFTT AT FATIH TN FETTCR | sATRT T TT FATENM PR FITF FagauIar Ir FTITLRA ¥ foig
gata g ATALET T FHAT 7198 AIITLAATIT-

FHTE A 6 T HEI | et AT feeer T o

[. FAT AT Tl H 3T F A7 2 7 7 31 779 & q1 F&l /A 0 )

II. FHHETHT AT g 6 a8 1 7 7 T8 G 0 =l U |

01. Ifthe data in statement I alone are sufficient 02. If the data in statement 11 alone are sufficient to answer the question, while the data in statement [

to answer the question, while the data in alone are not sufficient to answer the question / TS FIT 11 FT ST TF T FT 3L 2 F o0
statement II alone are not sufficient to TATH g, STk AT [ T ST T T IAL o F (77 TATH 981 )

answer the question / IS =¥ 1 T 2T
ol T°7 T ST 2 & (o7 GATH g,
Sterfer I 11 H 30 0 227 w51 7 397

9 3 oo gate T8 2
03. If the data either in statement I alone orin ~ 04. If the data given in both statements I and II together are not sufficient to answer the question and /
statement II alone are sufficient to answer T F9 1T [ E1 § T30 70 27 757 7 392 &7 & forw 931 9871 8 i<

the question / 7% T=T AT AT Fa= 1 AT
I 11 3Tehel W57 T I < o o0 aaie
2l

05. If the data in both statements I and I
together are necessary to answer the

question. / 7S FI [ 3T I T4T § 22T

T T I & & o7 AT B
In each of the questions below consists of a question and two statements numbered I and II given below it. You have to decide whether the
data provided in the statements are sufficient to answer the question. Read both the statements and Give answer-

In which month of the year did Kumar go abroad for a vacation?
1. Kumar’s wife correctly remembers that they went for a vacation after 31st March.
II. Kumar remembers that he went for a vacation before 1st May.

A RCITTAFITA CFTT AT FATIATUFITACE | sATFT TIZ TTFATEIN FF Fa7 | FRgargsar g 13937 5 fag
Tqfa & AT AT HIF1 H7T 98 HTITLART-

FHTT Y % e AT § el T faaer Iw 22
L. FATE HT T 1 315 T 472 € T T 31 7140 % 12 et 791 70 )
1. FAT FHT 418 & & a8 | 72 & T8 gel 9% 9 7 )

01. Ifthe data in statement I alone are sufficient 02. If the data in statement II alone are sufficient to answer the question, while the data in statement I
to answer the question, while the data in alone are not sufficient to answer the question / TS =¥ I T TT el T T ST o forw
statement II alone are not sufficient to T &, ST FAT [ FT 2T T FT 3T a7 6 (70 I a1 g
answer the question / TS FI7 [ FT 22T



FheT ToF T 3T & o oIy aaie 8,
STt A 1 H 30 T 221 757 7 397
3 % o ot 9 8
03. Ifthe data either in statement I alone orin ~ 04. If the data given in both statements I and II together are not sufficient to answer the question and /
statement IT alone are sufficient to answer 7fT o 1T I 1§ f 10 227 9o 1 392 & & forw aate Fr@ EEEIRS
the question / T a1 7T AT A= [ AT
FT 11 el T57 T I 24 % forw oty
El
05. Ifthe data in both statements I and II
together are necessary to answer the

question. / 7S F [ 3T 11 T4T § 22T
5T T 3L &4 o T 997 2|

Solution for Question 15 Ans Key: 5

eng/eng By using Statements I and II it can be deduced that Kumar went to vacation in the month of April.

AT 1 37 11 3T START F2eh Tg AT ST HHdT & 9 HATL TIA 6 He (o H gl T2 70 |

eng hin By using Statements I and II it can be deduced that Kumar went to vacation in the month of April.

AT 1 37T 11 3T START F3eh Tg AT ST HHdT & 9 HATL TIA 6 He (o H gl 92 70 9|

Passage for Question 16, 17, 18, 19, 20 (ST-2077 RRB CLERK MAINS R (16-20) 2020)
eng/eng Passage

Study the following information carefully and answer the question given below.

Seven boxes contain different mobile of different companies- Redmi, Blackberry, Nokia, LG, OnePlus, Poco, Infinix are kept above the other, but not necessary in
the same order.

More than three boxes are placed in between box of Nokia and Blackberry. There are two boxes are placed in between Box Y and Box T which contain Infinix.
Box which contains Blackberry is placed below the box of Nokia. Box V is immediately above the box which contains Poco. More than three boxes are placed in
between the box of Poco and the box of Nokia. Box U is immediately below the box of OnePlus. LG mobile is packed in box X. Nokia mobile is not packed in
box W. The box which contains Blackberry is immediately above Box Z.

rafafag STasTd £ 1 5qmga T stegaT R A= Rurrarsrswac

ard e # fafasr FfTT 3 donT-3rem qrarea- YT, sadady, TR, TS, a9, Tl SHE A fi UH-398 & HIT TGl ST 8, A i STesr
SRR R

TR 3T Sersharl o AT o A= oI & T2 aier T U & Ao Y ST afer T fSrs 2ATh = 2 o o= & &7 a1r 7@ U 2| seloha <l arel o= &l
TR AT e o S TET AT g S VS TR o 1R U7 ¢ (O TieRt 1 1o GTeht ST ooy AIThaT o o= § o1+ o 378k ey ¥ ST 2|
ateT U Tl aCeAd o ST % ST /1 Tl AT g Uil Hrarse S X # TET IGT g1 AT0AT Hrars aiad W H 981 7@T @7 g 5 gt # sawei g
T T Z F BT T 2

eng hin Passage
Study the following information carefully and answer the question given below.

Seven boxes contain different mobile of different companies- Redmi, Blackberry, Nokia, LG, OnePlus, Poco, Infinix are kept above the other, but not necessary in
the same order.

More than three boxes are placed in between box of Nokia and Blackberry. There are two boxes are placed in between Box Y and Box T which contain Infinix.
Box which contains Blackberry is placed below the box of Nokia. Box V is immediately above the box which contains Poco. More than three boxes are placed in
between the box of Poco and the box of Nokia. Box U is immediately below the box of OnePlus. LG mobile is packed in box X. Nokia mobile is not packed in
box W. The box which contains Blackberry is immediately above Box Z.

Frafafag STasrd £ 1 5qmga T steggT R A= Ruarrarsrsac

ard at | fafdsr FAfTT 3 domT-3rem Ararea- Y, sadmady, TR, TS, Feerd, T, TAHART f UF-3HY F FIL @ AT 8, Al STer
GEIEEGIE TR

TITRAT ST sAaT o ATl o 1= I & STTere e ¥ MU g St Y 3T st T ored zafsfae g % i § <1 afe ¥ 70 g setshadt arer S 7
FTTHRAT ATl AT o A= TGT AT g1 TR V ST F1aT 6 31 FUL g ISTEH Tl g ST TRl 3T i A1TRAT 6 o= | o | AT aie T ST 2
FiFT U T a5 & J1 o 319 A= T@T AT §| TS Jiared ai X § T@T T47 g1 AR qrarsa aia W H Tgl 7@1 137 ¢ o aiwm #§ sada<i g
g AT Z % T T 2

Q-16 How many boxes are placed in between Box W and the box which contains Blackberry mobile?

engleng  AFT W T o ais # soteradl WIATEA &, F A9 (ha aiFd T ST 22

01. 3 02. |
03. 2 04. 4

05. None / FTE A&l
Q-16 How many boxes are placed in between Box W and the box which contains Blackberry mobile?
enghin T W ST S i & scterad WiaT2 2, A= (ha aiF T ST 22



01. 3 02. 1

03. 2 04. 4

05. None/#Ts 7l
Solution for Question 16 Ans Key: 1
eng/eng Box Mobile

Y Nokia

w Oneplus

U Redmi

T Infinix

X LG

Vv Blackberry

z Poco

FiFq qraTSA

Y GlERI

W ERESIS)

U TEHT

T AR

X EE

v AL

z TRl

Box Mobile

Y Nokia

W Oneplus

U Redmi

T Infinix

X LG

\% Blackberry

Z Poco

Y AT

W FqatIH"

U =4t

T AR

X st

\V4 e

Z O

Q-17 Which of the following box contains Nokia mobile?

ol 9 & fre st O AT qremsa 22

01. T 02. Y
03. X 04. U
05. v

Q-17 Which of the following box contains Nokia mobile?
eng hin  fErforferT & & form Aty & FrfaT wramsa 22

01. T 02. Y
03. X 04. U
05. v
Solution for Question 17 Ans Key: 2
eng/eng Box Mobile
Y Nokia
w Oneplus
U Redmi
T Infinix
X LG
\% Blackberry
Z Poco

IC

iFq CIEREC)



eng hin Mobile
Nokia
Oneplus
Redmi
Infinix

LG
Blackberry
Poco

N<XHcs<® N<XxX-cs<
x

IEA

N<><—|C§-<§‘

Q-18 Which of the following box is placed just above the box which contain LG mobile?
et & T F-ar 9t 37 9 F 1% S0 7T 797 ¢ e uAstt qrarE 82

01. U 02. v
03. T 04. Cannot be determined / 9
05. None of these / T8 H FTS Tal

Q-18 Which of the following box is placed just above the box which contain LG mobile?
et & & Fi9-91 9t 39 (a9 F 3% 397 T@T 47 & e UaAsit A1a7sd 82

o

AT Agl (T ST Jeha

01. U 02. v
03. T 04.  Cannot be determined / et AT forarm ST Tk
05. None of these / ZTH J TS ol
Solution for Question 18 Ans Key: 3

Box Mobile
Nokia
Oneplus
Redmi
Infinix

LG
Blackberry
Poco

N<x-dcs <

IEA

%

eng hin Mobile
Nokia
Oneplus
Redmi
Infinix

LG
Blackberry

Poco

N<XHcs<® N<X-Hdcs<
X



FiFq GIEREC )

N<X-dcs<

Q-19  Which of the following mobile is placed in box Z?
engleng THHTCITET § & &9 AT AIATE A Z H T@T AT 82

01. Blackberry / sFar<t 02. Nokia / ATTHT
03. LG/ Terstt 04. Poco / T
05. Infinix / ST

Q-19  Which of the following mobile is placed in box Z?
eng hin  TEferfEa & & 1 &7 qraTse aiF Z § T@r 14 8?

01. Blackberry / sersha<r 02. Nokia /=rf¥aT
03. LG/ uersit 04. Poco / TTHT
05. Infinix / SATHIAFET
Solution for Question 19 Ans Key: 4

Box Mobile
Nokia
Oneplus
Redmi
Infinix

LG
Blackberry
Poco

N<x-dcCs<

9

TFa WITEA
CHERI

2]

Mobile
Nokia
Oneplus
Redmi
Infinix

LG
Blackberry
Poco

N<X-HCcs<® N<X-Hcs<
b

ClER CIEIEC

Q-20  How many boxes are placed below the Box X?
eng/eng FiFT X F 1= e At 7@ U 82

01. | 02. 3



03. 4 04. None /TS gl
05. 2

Q-20  How many boxes are placed below the Box X?
eng hin AT X & = foae ais 7 10 82

01. 1 02. 3

03. 4 04. None / FTE Tt
05. 2

Solution for Question 20 Ans Key: 5

eng/eng Box Mobile
Nokia
Oneplus
Redmi
Infinix

LG
Blackberry
Poco

N<X-dcs<

9

2|

(Eil nITEA

Mobile
Nokia
Oneplus
Redmi
Infinix

LG
Blackberry
Poco

N<><—|C§-<g N XdcCs<
b

ERi RIELEG
SlERI

‘al(

N<Xx-Cs<

Passage for Question 21, 22, 23, 24, 25 (ST-2077 RRB CLERK MAINS R (21-25) 2020)
eng/eng Passage

Study the following information carefully and answer the question given below.

Eight teachers Babu, Gopi, Imran, Vasu, Kali, Pawan, Ram and Charan give lectures on two different dates 17th and 28th of four different months viz. January,
February, March and April of the same year.

Ram gives lecture on an even date before Babu. Two teachers give lecture between Babu and Gopi. Imran gives lecture before Pawan. Charan gives lecture after
Gopi. Babu gives lecture in the month which has least number of days. Three teachers give lecture between Imran and Pawan. Imran does not give lecture on an
even number date. Kali does not give lecture in the month having least number of days. Gopi does not give lecture before Kali.

Fafafad STasTd F 1 5a@ga T AFIT R AT RUATIT FTIACRN

T3 Trere a1, MY, T, AT, FIAT, TG, TTH ST T T STT-STRT aIEEt | 17 3T 28 T TH a9 o AT SAeNT- e He |l Sa<t, ®adt, A
AT AT | AT < 8

T, T | Tl F9 A § AT < gl a7 1< Tl % o= 2T 760 SATSATT 37 21 TaT F Tgel THUA § AT 7| T F 18 907 ATEAT I
B 9T S WA § AT ad & o w0 7 %7 37 €)1 2000+ ot vaw & = i foreres samea 39 €)1 S0 UF 99 St arelt g 0% AT Tat
AT B FTAT TH FH &7 AT A H AT Tl <aT g TT FIAT F Tgel AT Tai 4dT gl

eng hin Passage




Study the following information carefully and answer the question given below.

Eight teachers Babu, Gopi, Imran, Vasu, Kali, Pawan, Ram and Charan give lectures on two different dates 17th and 28th of four different months viz. January,
February, March and April of the same year.

Ram gives lecture on an even date before Babu. Two teachers give lecture between Babu and Gopi. Imran gives lecture before Pawan. Charan gives lecture after
Gopi. Babu gives lecture in the month which has least number of days. Three teachers give lecture between Imran and Pawan. Imran does not give lecture on an
even number date. Kali does not give lecture in the month having least number of days. Gopi does not give lecture before Kali.

Fafafaa TTasTd &1 eamgd® segaa L A= fRoag g srsacd

a3 Toreqsh a1, T, TH, AT, FTAT, T, T ST T IT FAT-3RT ATl § 17 3T 28 T T9 a9 & AT AT- 3T Hg [l STaa, FLat, 7T
T I | AT 3 2

T, AT T Tgo T8 qTEE | AT &d 8| q19 T 4T o = 37 F270% AT 3 81 999 F T8l THUA F ATEITT AT MY 3 18 F207 AT 3
& T S AT § AT ad & o8 &0 § %7 &7 g1 S0 ST 999 & 1= 114 {27675 AT 3d ¢ THIF UF 99 ST aTel qrirg 9% AT Tal
AT 21 FTAT T FH & FTT AL H SATSATH g1 <aT g1 TAT FTAT F Tgel AT Al dT 2l

Q-21  How many teachers gives lecture between Babu and Pawan?

eng/eng AT ST T % A1 Foheel fovere =T ad 82

01. 2 02. 3
03. 4 04. 1
05. No one / F1% T2t
Q-21 How many teachers gives lecture between Babu and Pawan?

T T Ta % S {ohe e FOTeqeh =TT 3 82

01. 2 02. 3
03. 4 04. |
05. No one /TS &I
Solution for Question 21 Ans Key: 5
Month/Date 17 28
January Imarn Ram
February Vasu Babu
March Pawan Kali
April Gopi Charan
bRk 17 28
enghin  Month/Date 17 28
January Imarn Ram
February Vasu Babu
March Pawan Kali
April Gopi Charan
Ericvkiciic) 17 28
EECrid T ™
wedt B! T
Lii T FeAT
i et i

Q-22  Who among the following gives lecture on 28th March?
eng/eng THHTCITET § H T 28 W &l ATEHTH 2T 22

01. Imran/ZAOT 02. Pawan/9ae



Q-22

eng hin

03. Vasu/ T 04. Kali/ et
05. None of these / T7H F FIS Tl

‘Who among the following gives lecture on 28th March?
Feforfea § & 19 28 AT9 &1 =TT 3qT1 82

01. Imran/ZHIA 02. Pawan/9a9
03. Vasu/amg 04. Kali/ et
05. None of these / T7H & FIs Al

Solution for Question 22

eng/eng

Q-23

Q-23

eng hin

Month/Date 17 28
January Imarn Ram
February Vasu Babu
March Pawan Kali
April Gopi Charan
Tt A 17 28
Tt I ™
W Gli Kl
Month/Date 17 28
January Imarn Ram
February Vasu Babu
March Pawan Kali
April Gopi Charan
i A 17 28
T T ™
EIE] T AT

Who among the following gives lecture immediately after Babu?
Raferied § 7 :19 919 F T 918 AT a1 82

01. Vasu/amg 02. Pawan/ 999
03. Imran/THOA 04. Cannot be determined / et 2t T ST w1har
05. None of these / T7H H FIs Al

‘Who among the following gives lecture immediately after Babu?

Raferfad & & w9 919 F TEd 918 AT 4182

01. Vasu/aTg 02. Pawan/9ad
03. TImran/ZAO 04. Cannot be determined / &t T fram ST F1haT
05. None of these / T7H | FI< gl

Solution for Question 23

eng/eng

Month/Date 17 28
January Imarn Ram
February Vasu Babu
March Pawan Kali
April Gopi Charan

i ardter 17 28

Ans Key: 4

Ans Key: 2



ST THH e
Wt ™ EIEY
= T EaEil
i T =
eng hin Month/Date 17 28
January Imarn Ram
February Vasu Babu
March Pawan Kali
April Gopi Charan
A A 17 28
EEcril A ™
Loy ag EIE
= T FTeAT
ErE) i =T
Q-24 Four of the following five are alike in a certain way and hence form a group. Who one of the following does not belong to the group?

Fraferfe o= & & =17 vF [fea a8 3 v 9 8 T 9o uE g9z a9 g Fefertaa § 9 i aug & g6t ag1 82

01. Charan /=< 02. Kali/=Teft
03. Vasu/amg 04. Babu /=g
05. Ram/IH

Q-24 Four of the following five are alike in a certain way and hence form a group. Who one of the following does not belong to the group?

Fraferfe 9= § & =1 vF [fem as 3§ U S92 T sqie uE 99 a9 §) Fefertad § 9 #19 a9g § 966 T51 82

01. Charan /=01 02. Kali /=Tt
03. Vasu/am 04. Babu /=g
05. Ram/TH
Solution for Question 24 Ans Key: 3
Month/Date 17 28
January Imarn Ram
February Vasu Babu
March Pawan Kali
April Gopi Charan
wh e 17 28
Eocrd =TT Eag:
asal B i
ar oA AT
et arft =
eng hin Month/Date 17 28
January Imarn Ram
February Vasu Babu
March Pawan Kali
April Gopi Charan
i A 17 28
Socrid T T
wdt Rll! Gl
A= =T AT
Py ki T



Q-25  Who among the following gives lecture on 17th of April?
engleng THHTHTET # & 7 17 34T T SATEATH 2T 22

01. Babu/aTg 02. Imran/ AT
03. Gopi /Tt 04. Vasu/=amg

05. None of these / T7H F FIs Tl
Q-25  Who among the following gives lecture on 17th of April?
eng hin  FEferfEa § & %19 17 st i1 =11 3q1 82

01. Babu/=Mq 02. Imran /AR
03. Gopi /Trdt 04. Vasu/=amq
05. None of these / Z7H H FIs Aot
Solution for Question 25 Ans Key: 3
eng/eng  Month/Date 17 28
January Imarn Ram
February Vasu Babu
March Pawan Kali
April Gopi Charan
wE ardtE 17 28
EEER) VT T
= T FTAT
e Tt CEu
Month/Date 17 28
January Imamn Ram
February Vasu Babu
March Pawan Kali
April Gopi Charan
T arfE 17 28

Passage for Question 26, 27, 28, 29, 30 (ST-2077 RRB CLERK MAINS R (26-30) 2020)
eng/eng Passage

A word and number arrangement machine when given an input line of words and numbers rearranges them following a particular rule in each step.
The following is an illustration of an input and rearrangement given below.

Input : blue apple 96 fraud and hollow 65 42 narrow 87 32 19 crowd

Step I : and blue apple fraud hollow 65 42 narrow 87 32 19 crowd 96

Step II : and apple blue fraud hollow 65 42 narrow 32 19 crowd 96 87

Step I1I : and apple blue crowd fraud hollow 42 narrow 32 19 96 87 65

Step IV : and apple blue crowd fraud hollow narrow 32 19 96 87 65 42

Step V : and apple blue crowd fraud hollow narrow 19 96 87 65 42 32

Step VI : and apple blue crowd fraud hollow narrow 96 87 65 42 32 19

Step V1 is the last step for the above input. As per the rules followed in the above Input, find out the appropriate steps for the given input.

Input: Life Joker 106 139 is a 123 bright might of 399 409 221 crew hamper

TF 5T M TCF H&ATAAEATIA AT FTTTF1E TAYE FRITIATA0E T TG 7L F 587 sz Hearadi #71 et FRraw-fFdw ¥ srarzas
TRAF TR FARIT FLIT TEAT 8| TTLE AT [AATEAT FT TFH S0 A7 g1 1= fRav 7778 -

Y2 : blue apple 96 fraud and hollow 65 42 narrow 87 32 19 crowd



=T [ and blue apple fraud hollow 65 42 narrow 87 32 19 crowd 96

=T 11 : and apple blue fraud hollow 65 42 narrow 32 19 crowd 96 87

=7 111 : and apple blue crowd fraud hollow 42 narrow 32 19 96 87 65

=07 IV @ and apple blue crowd fraud hollow narrow 32 19 96 87 65 42

=0T V : and apple blue crowd fraud hollow narrow 19 96 87 65 42 32

=TT VI : and apple blue crowd fraud hollow narrow 96 87 65 42 32 19

LT VI SULIE TAYE T SATaH =207 1 ST 3 | AR FohT 70 et 3 srene a7 $= 3w 10 2qqe & o st =<ont &1 91a #:7)

=7 : Life Joker 106 139 is a 123 bright might of 399 409 221 crew hamper
eng hin Passage

A word and number arrangement machine when given an input line of words and numbers rearranges them following a particular rule in each step.
The following is an illustration of an input and rearrangement given below.

Input : blue apple 96 fraud and hollow 65 42 narrow 87 32 19 crowd

Step I : and blue apple fraud hollow 65 42 narrow 87 32 19 crowd 96

Step II : and apple blue fraud hollow 65 42 narrow 32 19 crowd 96 87

Step III : and apple blue crowd fraud hollow 42 narrow 32 19 96 87 65

Step IV : and apple blue crowd fraud hollow narrow 32 19 96 87 65 42

Step V : and apple blue crowd fraud hollow narrow 19 96 87 65 42 32

Step VI : and apple blue crowd fraud hollow narrow 96 87 65 42 32 19

Step VI is the last step for the above input. As per the rules followed in the above Input, find out the appropriate steps for the given input.

Input: Life Joker 106 139 is a 123 bright might of 399 409 221 crew hamper

TF 5% AT TF AT HATHTIA AT T TT F1S AL [RATHTATE TV TE IATLE & Ao&1 AT FTATH * 1 Freft Faa-fFae ¥ srgreax
T F T | FIFeTT FIAT AT & | TTLE S T GTATEAT FT TH STV 7 /13 & 1= faqrwarg -

2A9< : blue apple 96 fraud and hollow 65 42 narrow 87 32 19 crowd

=07 [ and blue apple fraud hollow 65 42 narrow 87 32 19 crowd 96

=0T I : and apple blue fraud hollow 65 42 narrow 32 19 crowd 96 87

=27 111 : and apple blue crowd fraud hollow 42 narrow 32 19 96 87 65

=FOT IV : and apple blue crowd fraud hollow narrow 32 19 96 87 65 42

=0T V : and apple blue crowd fraud hollow narrow 19 96 87 65 42 32

=97 VI : and apple blue crowd fraud hollow narrow 96 87 6542 32 19

T VI IULIE TAYE T SATaH =207 1 ITLh 39 | AR T 70 f{2HT % sren® a7 i R0 10 g9qe % fordr 3t =2oni &1 91 #:7

=0T : Life Joker 106 139 is a 123 bright might of 399 409 221 crew hamper

Q-26 Which of the following is the fourth element from the right in the III step?
e & & F9-97 qed =207 11§ I T & A7 52

01. 409 02. hamper
03. of 04. bright
05. is

Q-26 Which of the following is the fourth element from the right in the III step?
9% § T -7 a7 =TT 11 H 70 T F =747 82

01. 409 02.  hamper
03. of 04. bright
05. is
Solution for Question 26 Ans Key: 2

eng/eng In each step words are arranged in alphabetical order from left to right and then numbers are arranged in descending order.
Input- Life Joker 106 139 is a 123 bright might of 399 409 221 crew hamper
Step I. A Life Joker 106 139 is 123 bright might of 399, 221 crew hamper 409
Step Il. A bright Life Joker 106 139 is 123 might of 221 crew hamper 409 399
Step Ill. A bright crew Life Joker 106 139 is 123 might of hamper 409, 399, 221
Step IV. A bright crew hamper Life Joker 106 is 123 might of 409 399 221 139
Step V. A bright crew hamper is Life Joker 106 might of 409 399 221 139 123
Step VI. A bright crew hamper is Joker Life might of 409 399 221 139 123 106
Step Vl is the last step.
U TRU1 H Xeql &1 &Y I G JUraTer shH B afeyd foar ST 8 SiR i st &1 siarie! 0 & afeyd faar Jar g |
%1Yc: Life Joker 106 139 is a 123 bright might of 399 409 221 crew hamper
0T |. A Life Joker 106 139 is 123 bright might of 399, 221 crew hamper 409




eng hin

Q-27

Q-27

IROTII. A bright Life Joker 106 139 is 123 might of 221 crew hamper 409 399

TR 11I. A bright crew Life Joker 106 139 is 123 might of hamper 409, 399, 221
IRUT IV. A bright crew hamper Life Joker 106 is 123 might of 409 399 221 139
TIRUT V. A bright crew hamper is Life Joker 106 might of 409 399 221 139 123
IRUT VI. A bright crew hamper is Joker Life might of 409 399 221 139 123 106

TROT VI SifaH TR |

In each step words are arranged in alphabetical order from left to right and then numbers are arranged in descending order.
Input- Life Joker 106 139 is a 123 bright might of 399 409 221 crew hamper

Step I. A Life Joker 106 139 is 123 bright might of 399, 221 crew hamper 409

Step II. A bright Life Joker 106 139 is 123 might of 221 crew hamper 409 399

Step Ill. A bright crew Life Joker 106 139 is 123 might of hamper 409, 399, 221

Step IV. A bright crew hamper Life Joker 106 is 123 might of 409 399 221 139

Step V. A bright crew hamper is Life Joker 106 might of 409 399 221 139 123

Step VI. A bright crew hamper is Joker Life might of 409 399 221 139 123 106

Step Vl is the last step.

U aR0 § Xeql & 91U J S¢ JUHTen v o SFafeyd fohar oirdr g $iR iR Temsii & siarie! v H SJafyd fear srar g
R7YcC: Life Joker 106 139 is a 123 bright might of 399 409 221 crew hamper

IRUT|. A Life Joker 106 139 is 123 bright might of 399, 221 crew hamper 409

IR 1. A bright Life Joker 106 139 is 123 might of 221 crew hamper 409 399

RO 11I. A bright crew Life Joker 106 139 is 123 might of hamper 409, 399, 221

IRUT V. A bright crew hamper Life Joker 106 is 123 might of 409 399 221 139

TIRUT V. A bright crew hamper is Life Joker 106 might of 409 399 221 139 123

IRUT VI. A bright crew hamper is Joker Life might of 409 399 221 139 123 106

TROT VI SifH TR

What is the position of 'Joker' from the left in the first step?
Tl LT | A0 F Joker' 3T FAT TATH &2

01. 3rd /e 02. 2nd FET
03. 4th /=TT 04. 5th/or=ar
05. Ist/ 98

What is the position of 'Joker' from the left in the first step?
Tl L0 H A0 F 'Joker' T FAT TITH &2

01. 3rd/ereeT 02. 2nd/gHIT
03. 4th /=TT 04. 5th/Ti=aT
05. 1st/Tgar

Solution for Question 27

eng/eng

In each step words are arranged in alphabetical order from left to right and then numbers are arranged in descending order.
Input- Life Joker 106 139 is a 123 bright might of 399 409 221 crew hamper

Step . A Life Joker 106 139 is 123 bright might of 399, 221 crew hamper 409

Step II. A bright Life Joker 106 139 is 123 might of 221 crew hamper 409 399

Step Ill. A bright crew Life Joker 106 139 is 123 might of hamper 409, 399, 221

Step IV. A bright crew hamper Life Joker 106 is 123 might of 409 399 221 139

Step V. A bright crew hamper is Life Joker 106 might of 409 399 221 139 123

Step VI. A bright crew hamper is Joker Life might of 409 399 221 139 123 106

Step VI is the last step.

A% TRUN A Xeal 1 a1 I & Jurmrern o8 § afRyd f3ar Sirar g SiR o Temsit &1 srariet o1 & afyd fan S g |
%1Yc: Life Joker 106 139 is a 123 bright might of 399 409 221 crew hamper

Ans Key: 1



eng hin

Q-28

Q-28

eng hin

IRUT|. A Life Joker 106 139 is 123 bright might of 399, 221 crew hamper 409
IRUT . A bright Life Joker 106 139 is 123 might of 221 crew hamper 409 399
IRUTIII. A bright crew Life Joker 106 139 is 123 might of hamper 409, 399, 221
IRUT IV. A bright crew hamper Life Joker 106 is 123 might of 409 399 221 139
IRUT V. A bright crew hamper is Life Joker 106 might of 409 399 221 139 123
IRUT VI. A bright crew hamper is Joker Life might of 409 399 221 139 123 106
TROTVI 3 TR B |

In each step words are arranged in alphabetical order from left to right and then numbers are arranged in descending order.

Input- Life Joker 106 139 is a 123 bright might of 399 409 221 crew hamper
Step |I. A Life Joker 106 139 is 123 bright might of 399, 221 crew hamper 409
Step Il. A bright Life Joker 106 139 is 123 might of 221 crew hamper 409 399
Step Ill. A bright crew Life Joker 106 139 is 123 might of hamper 409, 399, 221
Step IV. A bright crew hamper Life Joker 106 is 123 might of 409 399 221 139
Step V. A bright crew hamper is Life Joker 106 might of 409 399 221 139 123
Step VI. A bright crew hamper is Joker Life might of 409 399 221 139 123 106
Step Vlis the last step.

U IRUT H Nea| bl 91 I SU JUMHTT hH H HafRUd fham Srar g 3R bR Temafi ol 3arig! shH H afyd fhar sar g |

?1Yc: Life Joker 106 139 is a 123 bright might of 399 409 221 crew hamper
IR 1. A Life Joker 106 139 is 123 bright might of 399, 221 crew hamper 409
IR 1. A bright Life Joker 106 139 is 123 might of 221 crew hamper 409 399
TIRUT11. A bright crew Life Joker 106 139 is 123 might of hamper 409, 399, 221
TIROT V. A bright crew hamper Life Joker 106 is 123 might of 409 399 221 139
TIRUT V. A bright crew hamper is Life Joker 106 might of 409 399 221 139 123
IRUT VI, A bright crew hamper is Joker Life might of 409 399 221 139 123 106
RO VI 3o RO |

Which of the following is the fifth step?
9 & & e |7 =700 V 2

01. A bright crew Life Joker 106 1391is 123 02. Life crew 409 399 bright A Joker 221 106 139 is might of 123 is

might of hamper 409 399 221

03. A Life Joker 106 139 is 123 bright might of 04. A bright crew hamper is Life Joker 106 might of 409 399 221 139 123

399 221 crew hamper 409

05. None of these / T7H | FTs gl
Which of the following is the fifth step?
fEdafFarIrve?

01. A bright crew Life Joker 106 1391is 123 02. Life crew 409 399 bright A Joker 221 106 139 is might of 123 is

might of hamper 409 399 221

03. A Life Joker 106 139 is 123 bright might of 04. A bright crew hamper is Life Joker 106 might of 409 399 221 139 123

399 221 crew hamper 409
05. None of these / T7H H FIs Tl

Solution for Question 28

eng/eng

In each step words are arranged in alphabetical order from left to right and then numbers are arranged in descending order.

Input- Life Joker 106 139 is a 123 bright might of 399 409 221 crew hamper
Step I. A Life Joker 106 139 is 123 bright might of 399, 221 crew hamper 409
Step Il. A bright Life Joker 106 139 is 123 might of 221 crew hamper 409 399
Step Ill. A bright crew Life Joker 106 139 is 123 might of hamper 409, 399, 221
Step IV. A bright crew hamper Life Joker 106 is 123 might of 409 399 221 139
Step V. A bright crew hamper is Life Joker 106 might of 409 399 221 139 123
Step VI. A bright crew hamper is Joker Life might of 409 399 221 139 123 106




eng hin

Q-29

Q-29

eng hin

Step Vl is the last step.

A IRUT H eai dl a1 F U JUiHTe oA § TafRUd fohar Srar g 3R fthr Twansii ! 3rarig! e H Saafud fhar Sdr g |

%1Yc: Life Joker 106 139 is a 123 bright might of 399 409 221 crew hamper
IRUT|. A Life Joker 106 139 is 123 bright might of 399, 221 crew hamper 409
IRUT . A bright Life Joker 106 139 is 123 might of 221 crew hamper 409 399
IRUTIII. A bright crew Life Joker 106 139 is 123 might of hamper 409, 399, 221
IRUT IV. A bright crew hamper Life Joker 106 is 123 might of 409 399 221 139
IRUT V. A bright crew hamper is Life Joker 106 might of 409 399 221 139 123
IRUT VI. A bright crew hamper is Joker Life might of 409 399 221 139 123 106
RO VI 3 TR B |

In each step words are arranged in alphabetical order from left to right and then numbers are arranged in descending order.

Input- Life Joker 106 139 is a 123 bright might of 399 409 221 crew hamper
Step |I. A Life Joker 106 139 is 123 bright might of 399, 221 crew hamper 409
Step II. A bright Life Joker 106 139 is 123 might of 221 crew hamper 409 399
Step Ill. A bright crew Life Joker 106 139 is 123 might of hamper 409, 399, 221
Step IV. A bright crew hamper Life Joker 106 is 123 might of 409 399 221 139
Step V. A bright crew hamper is Life Joker 106 might of 409 399 221 139 123
Step VI. A bright crew hamper is Joker Life might of 409 399 221 139 123 106
Step VIl is the last step.

U IRUT H Nea| bl 91 I SU JUHTT pH H HafRUd fham Sirar g 3R bR Temmafi ol 3arig! shH H afyd fhar ar g |

%1Yc: Life Joker 106 139 is a 123 bright might of 399 409 221 crew hamper
IR 1. A Life Joker 106 139 is 123 bright might of 399, 221 crew hamper 409
IR 1. A bright Life Joker 106 139 is 123 might of 221 crew hamper 409 399
TIRUT11. A bright crew Life Joker 106 139 is 123 might of hamper 409, 399, 221
TIRUT V. A bright crew hamper Life Joker 106 is 123 might of 409 399 221 139
TIRUT V. A bright crew hamper is Life Joker 106 might of 409 399 221 139 123
IRUT VI. A bright crew hamper is Joker Life might of 409 399 221 139 123 106
RO VI S RO B |

Which element is next to 139 from the right in the third step?
Y =0T § JTT AT AF-A7 qe 139 F {71 82

01. Lover 02. 409
03. Joker 04. 123
05. 106

Which element is next to 139 from the right in the third step?
A =0 § FTC ST F FA-A7 T 139 F 37T 82

01. Lover 02. 409
03. Joker 04. 123
05. 106

Solution for Question 29

eng/eng

In each step words are arranged in alphabetical order from left to right and then numbers are arranged in descending order.

Input- Life Joker 106 139 is a 123 bright might of 399 409 221 crew hamper
Step I. A Life Joker 106 139 is 123 bright might of 399, 221 crew hamper 409
Step Il. A bright Life Joker 106 139 is 123 might of 221 crew hamper 409 399
Step Ill. A bright crew Life Joker 106 139 is 123 might of hamper 409, 399, 221
Step IV. A bright crew hamper Life Joker 106 is 123 might of 409 399 221 139
Step V. A bright crew hamper is Life Joker 106 might of 409 399 221 139 123
Step VI. A bright crew hamper is Joker Life might of 409 399 221 139 123 106
Step Vl is the last step.

Ans Key: 5



eng hin

Q-30

Q-30

eng hin

U IR0 H Vel Dl S F U JUHTCT shH H TR fhdT1 STdl & 31R fthr TBATSH bl 3faRis! shH H SAdd fhar S g |
%1Yc: Life Joker 106 139 is a 123 bright might of 399 409 221 crew hamper

TRUT|. A Life Joker 106 139 is 123 bright might of 399, 221 crew hamper 409

IRUT . A bright Life Joker 106 139 is 123 might of 221 crew hamper 409 399

IRUTIII. A bright crew Life Joker 106 139 is 123 might of hamper 409, 399, 221

IRUT IV. A bright crew hamper Life Joker 106 is 123 might of 409 399 221 139

IRUT V. A bright crew hamper is Life Joker 106 might of 409 399 221 139 123

IRUT VI. A bright crew hamper is Joker Life might of 409 399 221 139 123 106

RO VI 3 TR B |

In each step words are arranged in alphabetical order from left to right and then numbers are arranged in descending order.
Input- Life Joker 106 139 is a 123 bright might of 399 409 221 crew hamper

Step |I. A Life Joker 106 139 is 123 bright might of 399, 221 crew hamper 409

Step II. A bright Life Joker 106 139 is 123 might of 221 crew hamper 409 399

Step Ill. A bright crew Life Joker 106 139 is 123 might of hamper 409, 399, 221

Step IV. A bright crew hamper Life Joker 106 is 123 might of 409 399 221 139

Step V. A bright crew hamper is Life Joker 106 might of 409 399 221 139 123

Step VI. A bright crew hamper is Joker Life might of 409 399 221 139 123 106

Step VIl is the last step.

U ax0 § XeGl I 91U J G¢ JUHTC o6 H FafUd a1 oirar 8 SR by Tensii &1 siakis! v H Fafyd fharsmar g |
?1Yc: Life Joker 106 139 is a 123 bright might of 399 409 221 crew hamper

IR 1. A Life Joker 106 139 is 123 bright might of 399, 221 crew hamper 409

IR 1I. A bright Life Joker 106 139 is 123 might of 221 crew hamper 409 399

TIRUT11. A bright crew Life Joker 106 139 is 123 might of hamper 409, 399, 221

TIRUT V. A bright crew hamper Life Joker 106 is 123 might of 409 399 221 139

TIRUT V. A bright crew hamper is Life Joker 106 might of 409 399 221 139 123

IRUT VI. A bright crew hamper is Joker Life might of 409 399 221 139 123 106

ROV 3o RO |

How many steps will be required to complete the given input?

01. Eight/3m3 02. Six/=g
03. Seven/dTq 04. Five /T
05. Four /=X

How many steps will be required to complete the given input?

33 T =9 AT T FA % forg foRae Fwont it sraeashar gt

01. Eight/3m3 02. Six/=g
03. Seven/dTd 04. Five /9=
05. Four /=X

Solution for Question 30

eng/eng

In each step words are arranged in alphabetical order from left to right and then numbers are arranged in descending order.
Input- Life Joker 106 139 is a 123 bright might of 399 409 221 crew hamper

Step I. A Life Joker 106 139 is 123 bright might of 399, 221 crew hamper 409

Step II. A bright Life Joker 106 139 is 123 might of 221 crew hamper 409 399

Step II1. A bright crew Life Joker 106 139 is 123 might of hamper 409, 399, 221

Step IV. A bright crew hamper Life Joker 106 is 123 might of 409 399 221 139

Step V. A bright crew hamper is Life Joker 106 might of 409 399 221 139 123

Step VI. A bright crew hamper is Joker Life might of 409 399 221 139 123 106

Step V1 is the last step.

T AT H TET il AT0 & FT0 AUHTAT HF | Aaresd a1 Srar g si¥ Fhe St & il 79 § Faredd #am Sar 2|
gaY<: Life Joker 106 139 is a 123 bright might of 399 409 221 crew hamper

=T 1. A Life Joker 106 139 is 123 bright might of 399, 221 crew hamper 409

Ans Key: 2



=0T 11. A bright Life Joker 106 139 is 123 might of 221 crew hamper 409 399
=0T II1. A bright crew Life Joker 106 139 is 123 might of hamper 409, 399, 221
=TT IV. A bright crew hamper Life Joker 106 is 123 might of 409 399 221 139
LT V. A bright crew hamper is Life Joker 106 might of 409 399 221 139 123
=TT VI. A bright crew hamper is Joker Life might of 409 399 221 139 123 106
FT07 VI S| =2or 2

eng hin  In each step words are arranged in alphabetical order from left to right and then numbers are arranged in descending order.
Input- Life Joker 106 139 is a 123 bright might of 399 409 221 crew hamper
Step I. A Life Joker 106 139 is 123 bright might of 399, 221 crew hamper 409
Step II. A bright Life Joker 106 139 is 123 might of 221 crew hamper 409 399
Step III. A bright crew Life Joker 106 139 is 123 might of hamper 409, 399, 221
Step IV. A bright crew hamper Life Joker 106 is 123 might of 409 399 221 139
Step V. A bright crew hamper is Life Joker 106 might of 409 399 221 139 123
Step VI. A bright crew hamper is Joker Life might of 409 399 221 139 123 106
Step V1 is the last step.
T FL0T | QTa1 Al AT 8 JT0 qUIHTAT 8 H Faedd ThaT SITar g 3T fhe sweamsti &1 Saret w7 § sFafead fhar Sar g1
gaY<e: Life Joker 106 139 is a 123 bright might of 399 409 221 crew hamper
=0T I. A Life Joker 106 139 is 123 bright might of 399, 221 crew hamper 409
=07 1. A bright Life Joker 106 139 is 123 might of 221 crew hamper 409 399
=0T I11. A bright crew Life Joker 106 139 is 123 might of hamper 409, 399, 221
=T IV. A bright crew hamper Life Joker 106 is 123 might of 409 399 221 139
T V. A bright crew hamper is Life Joker 106 might of 409 399 221 139 123
=TT VI. A bright crew hamper is Joker Life might of 409 399 221 139 123 106
=0T VI e =2

Passage for Question 31, 32, 33, 34, 35 (ST-2077 RRB CLERK MAINS R (31-35) 2020)
eng/eng Passage

Study the following information carefully and answer the question given below.
In a certain code

'must saves some money' is a code for 'j0j d7b d12g jl4e'

'he made good money' is a code for 'd8e d12g g3d h3e'

'he must be good' is code for ' h3e d7b b3e g3d'

'be good saves grace' is a code for 'g2e g3d j0j b3e'.

rafafag STasTd £ 1 sqmga T stegga W AT Rurrarasrsac
uF AP A F,

'must saves some money' T T 'j0j d7b d12g jl14e' Bl

'he made good money' T F< 'd8e d12g g3d h3e' B

'he must be good' T FE ' h3e d7b b3e g3d' &l

'be good saves grace' FT 1€ 'g2¢ ¢3d jOj b3e' Bl

eng hin Passage

Study the following information carefully and answer the question given below.
In a certain code

'must saves some money' is a code for 'j0j d7b d12g jl4e'

'he made good money' is a code for 'd8e di2g g3d h3e'

'he must be good' is code for ' h3e d7b b3e g3d'

'be good saves grace' is a code for 'g2e g3d jOj b3e'.

Frafafad STasTd F 1 sq\ga T AFIT R AT FRUTTIT FT1IACRN
T AfEa Fe

'must saves some money' T € 'j0j d7b d12g j14e’ %"I

'he made good money' T FTT 'd8e d12g g3d h3e' %I

'he must be good' T FTE ' h3e d7b b3e g3d' %I

'be good saves grace' FT FI< 'g2e g3d j0j b3e' %I

Q-31  Which of the following is the code of 'must'?
eng/eng 'must FT Fre T § g wm arg?

01. g3d 02. b3e
03. d7b 04. h3e

05. Cannot be determined fRaTRa *T&pf B
ST "ehdT



Q-31  Which of the following is the code of 'must'?
eng hin 'must' T I Feferterd § & ®ie qr g?

01. ¢3d 02. b3e
03. d7b 04. h3e
05. Cannot be determined R 78t fFam
ST "ehdT
Solution for Question 31 Ans Key: 3

eng/eng must
m=13=1+3 =4 =d (left)
t=20=2+0 = 2 = b (right)
20-13 = 7(mid)
must = d7b

eng hin  must
m=13=1+3 =4 =d (left)
t=20=2+0 =2 = b (right)
20-13 = 7(mid)
must = d7b

Q-32  What does the code 'j0j' stand for?
'j0j' forereRT e 82

01. some 02. must
03. be 04. grace
05. saves

Q-32  What does the code 'j0j' stand for?
j0;' rERT FIE 22

01. some 02. must
03. be 04. orace
05. saves
Solution for Question 32 Ans Key: 5
saves = j0j

s=19=1%9 = 10=4@)
s=19=149=10=j(r)
19 - 19 = 0(m)

saves = j0j
s=19=149=10=j(1)
s=19=1+9=10=j(r)
19 - 19 = 0(m)

Q-33 Which of the following is the code for 'power'?
eng/eng '‘power' T Fre ME AT FRTAT %?

01. g}d 02. gZe
03. ;0] 04. i
05. d7e

Q-33  Which of the following is the code for 'power'?
eng hin  'power' &T Fe A A AR ATE?

01. g3d 02. g2
03. ;o] 04. i
05. d7e
Solution for Question 33 Ans Key: 4

eng/eng power = g2i



p=l6=1+6=7=g()
r=18=1+8=9=1i(r)
18-16=2 (m)

eng hin

power = g2i
p=1l6=1+6=7=g()
r=18=1+8=9=1(r)
18- 16=2 (m)

Q-34

eng/eng

Q-34

eng hin

'by grace of money' may be coded as-
'by grace of money' FT FT &I TohAT ST FhaT %?

01. di12y dl2e d7e k5h 02. g2edl2y g3d b5h
03. j12ab3e g2e i24r 04. d12g g2e Ofb23g

05. j16adl2yj0ja2g
'by grace of money' may be coded as-
'by grace of money' FT FT &I TohAT ST TFHAT &2

01. d12ydi2e d7e kSh 02. g2edl2y g3d bsh
03. j12ab3e g2ei24r 04. di12g g2e Ofb23g

05. j16adl2y joja2g

Solution for Question 34

Q-35

Q-35

eng hin

by grace of money =b23g g2e fOf dl2g

by =b23g
b=2=2+0=2=b(l),y=25=2t5=7=g(r), 25-2=23 (m)
grace = g2e
g=7=7t0=7=g(1),e=5=5+0=5=¢e(1r),7-5=2 (m)

of =19f

0=15=14t5=6=1f(), f=6=6+0=6=1(1), 15-6=9 (m)
money = d12g
m=13=1+3=4=d(l),y=25=2+5=7=g(1),25-13=12

by grace of money =b23g g2e fOf dl2g

by =b23g

b=2=2+0=2=b (l),y=25=2+5=7=¢ (r), 25-2 =23 (m)
grace = g2e

g=7=T1t0=7=g(),e =5=5+0=5=¢ (1), 7- 5 =2 (@)

of =19f

0=15=145=6=f(),f=6=6+0=6=1(1), 15-6=9 (m)
money =d12g
m=13=1+3=4=d(l),y=25=2+5=7=g(1),25-13=12

What does the code 'd8e' stand for?
'd8e' Tt FIe 82

01. some 02. made
03. saves 04. money

05. good
What does the code 'd8¢' stand for?
'd8e' foheTeRT I 87

01. some 02. made
03. saves 04. money
05. good

Solution for Question 35

Ans Key: 4

Ans Key: 2

eng/eng

made = d8e
m=13=1+3=4=d (),
e=5=5t0=5=e¢e(r)
13 -5=28 (m)

eng hin

made = d8e
m=13=1+3=4=d (),
e=5=5t0=5=e¢e(r)
13-5=28 (m)




Passage for Question 36, 37, 38, 39, 40 (ST-2077 RRB CLERK MAINS R (36-40) 2020)
eng/eng Passage

Study the following information carefully and answer the question given below.

Eight person A, B, C, D, E, F, G and H are sitting in a row facing towards South, but not necessarily in the same order. Each of them belongs to different
professions- Engineer, Doctor, Pilot, Banker, Businessman, Teacher, Faculty and Lawyer, but not necessarily in the same order. Each of them also likes different
movies- Mom, Baahubali, Kaabil, Noor, Phillauri, Jolly LLB, Raabta and Jagga Jasoos, but not necessarily in the same order.

F likes Noor and his profession is Pilot. C is third to the left of B and he is sitting at one of the extreme ends of the line. G likes Baahubali and his profession is
Lawyer. D is sitting exactly between B and F. A likes Raabta and his profession is Doctor or Engineer. C’s profession is Banker and is neither likes Kaabil nor Jolly
LLB. D likes Phillauri and his profession is a Businessman. A is fourth to the right of G. E does not like Kaabil. The one who is faculty sits second to the right of F.
The one who is Teacher is second to the left of the one who likes Jolly LLB. The one who likes Jagga Jasoos is an immediate neighbour of Engineer.

FafafaT STasTd F 1T 8a\gaF AFIT R AT RUTTITFTIACRN

AT ZEdT - A, B, C, D, E, F, G 31T H U UftF 92 9% g i< aferor Y sire 39 v 8 ofeh &<t 7t o6 =2t %3 & g1 e =7{<h SIeiT-31eT s7a T St
TR, ST, TTade, do, ATITL, STLATTF, Hhoal ST aehie J HHITerd g1 ST ATk AT- 3ol oo St /I, argaett, Ffard, 97, ey, st
TATAST, AT 3T TR SATHH THE T &, AR STELT Al 1o <61 FH | 2T

F ¥ THE T § 37T a8 91Iee g1 C, B % a1 |y 97 ¢ i< ag ufth & Foeft ua sifaw &7 97 921 €1 G, argaeht w6 a7 § sfiv ag 9 &1 D, B
T F & 2T 919 | T3T g1 A, TEaT THE FdT g 3T ag T AT TS09AT g1 C, 5T g 37T a8 7 al FTae 7 &1 Siell TAUAal T8 Fdr g1 D, Feetrey
ng‘aﬁtagwcnﬁé’l A, G T ST 3T 8 E,WWT@W%’IT{ﬁWﬁFW%F%@W%%I ag@ﬁaqﬁmrem%,
ST TATAST THE FI AT SATE % JT3 GO g1 ag SATh ST SINIT STTEH THE FLAT g S oI T 2d TS

eng hin Passage
Study the following information carefully and answer the question given below.

Eight person A, B, C, D, E, F, G and H are sitting in a row facing towards South, but not necessarily in the same order. Each of them belongs to different
professions- Engineer, Doctor, Pilot, Banker, Businessman, Teacher, Faculty and Lawyer, but not necessarily in the same order. Each of them also likes different
movies- Mom, Baahubali, Kaabil, Noor, Phillauri, Jolly LLB, Raabta and Jagga Jasoos, but not necessarily in the same order.

F likes Noor and his profession is Pilot. C is third to the left of B and he is sitting at one of the extreme ends of the line. G likes Baahubali and his profession is
Lawyer. D is sitting exactly between B and F. A likes Raabta and his profession is Doctor or Engineer. C’s profession is Banker and is neither likes Kaabil nor Jolly
LLB. D likes Phillauri and his profession is a Businessman. A is fourth to the right of G. E does not like Kaabil. The one who is faculty sits second to the right of F.
The one who is Teacher is second to the left of the one who likes Jolly LLB. The one who likes Jagga Jasoos is an immediate neighbour of Engineer.

fafafaa TTasTd &1 eamgd® qeqqTF A= fRuagwrHrIacd)
AT &t - A, B, C, D, E, F, G 3f¥ H U= Uik 9% 9% g ¥ aferor &7 T 3@ g & ifeh STedt A5l o 561 %8 § 27| i =A< JoT- 3o sAaard 9

ST, TFes, TTIde, ST, ATITL, ALTTTS, Tehee! ST aehid o TEE A &1 T T ST<h -3 {hed STH- HIH, aTgae!, wiad, 97, fheard, stte
TAUAHT, T@HT@ﬁTWWW’?:W% STehet STt A5t o6 <o | | 2l

F ¥ 9% 2T g &Y 98 Ia«e 81 C, B%WWW%ﬁTFﬁ%WUEFWWWa’TEI G, ATEAAT THE FAT g ST a5 a@ﬁ@r% D,B
AT F F 3 o1 H 437 21 A, [T T8 FHLAT 2 307 98 S T s 21 C, S ¢ T a2 T a0 Fliaa '_‘|':p[01Iv|| TATAT TEE F2aT 2| D, fhea <l
ngmw—fwﬁl A, G 3 T3 =TT 95T 2 E,Wﬁﬂ'mﬁm?,’lFW@%W%,FT’W?WWpIWﬁT%ST%W%,
STt TATAST THE FI ATl SATh 6 d13 GO gl g SATh ST SIRIT ST THE FAT g S99 &1 2d TS 2l

Q-36  Who is third to the left of the one who is Doctor?

01. H 02. F
03. The one who likes Mom /ST =af<h AW 04. The one who likes Baahubali / ST 1< aTgarelt TS FYaT &
THT FAT S
05. The one who likes Kaabil /ST 7<%
T T6E FAT S
Q-36  Who s third to the left of the one who is Doctor?
eng hin TiFe? & ATH TET &I T3 52

01. H 02. F
03. The one who likes Mom /ST &f<F #1  04. The one who likes Baahubali / ST Zf<h aTga T6HE FaT §
qEE FAT S
05. The one who likes Kaabil /ST =1f<h
FIT T6E FAT S
Solution for Question 36 Ans Key: 3
eng/en i
siene Businessman
Faculty Engineer Pilot Doctor Lawyer Teacher Banker
E A F D B G H C

| | | | | | | |

v IR v v v i v




L L L3

Jagga Raabta Noor Phillauri Baahubali Kaabil Mom
Jasoos Jolly LLB

E A F D B
I I I I I

voovo v vy

ST TEAr % (e ST aTgEer 7
TATAST

3 k]

G
|
v

<oy

eng hin

Businessman

Faculty Engineer Pilot Doctor Lawyer Teacher Banker
E A F D B G H C
| | | | | | |
vV v v v v vV
Jagga Raabta Noor Phillauri Baahubali Kaabil Mom
Jasoos Jolly LLB
Tedl AT qTges IR iy T seETTs ue
E A F D B G H C
| I | | | | | I
vV v vV v vy v
ST A Tl T e STl qgAr  FrEe AW

Q-37 Four of the following five are alike in a certain way and so form a group. Which one does not belong to that group?

Feforfea 9= & & =17 U [Ri2a ads & UF S 8 T SHieT UF 99 a97d g1 Fi| 97 36 948 ° qaidd el g2

01. C-Pilot/C—9mF<e 02. F - Businessman /F — ZTqT¢
03. D - Engineer /D — (1T 04. G -Banker/G - §%%
05. E - Faculty / E - Ssheat

Q-37 Four of the following five are alike in a certain way and so form a group. Which one does not belong to that group?

enghin  (HEICEd TI= @ | A€ T (=0 A H T 9H g SA% AT T HHg anid gl Hi 61 39 §4g 9 qai6d al 5/

01. C-Pilot/C —9TIeIE 02. F - Businessman /F — saTaT<t
03. D - Engineer /D —3S{I=a¥ 04. G - Banker/G - §%<
05. E - Faculty / E - ®shedt

Solution for Question 37

Ans Key: 5

eng/eng Businessman
Faculty Engineer Pilot Doctor Lawyer Teacher Banker
E A F D B G H C
R T A R
Jagga Raabta Noor Phillauri Baahubali Kaabil Mom
Jasoos Jolly LLB

E A F D B G H C



I TN T T T |
eng hin Businessman
Faculty Engineer Pilot Doctor Lawyer Teacher Banker
E A F D B G H C
43—
Jagga Raabta Noor Phillauri Baahubali Kaabil Mom
Jasoos Jolly LLB
FEAl  FifaAT ez AR ster oA gwrmaw S
E A F D B G H C
| | | | l l | |
v vV vV VvV Vv ¥ ¥
el T frirf A TTETAT  FrEew AW
7 Ira lraé

Q-38 What is position of A with respect to D?
D % 729 # A FT &I 77 gA?

01. Third to the left / aTd FTHT 02. Fourth to the left / ¥ =TT
03. Third to the right / T3 FHE¥ 04. Immediate left/ T2 a1

05. Second to the right / 35 FHIT
Q-38 What is position of A with respect to D?
D % Tead H A T BT 4T SN2

01. Third to the left / =T FTEZT 02. Fourth to the left / & =TT
03. Third to the right / 3TF T 04. Immediate left/ T a1
05. Second to the right / 375 AT

Solution for Question 38

Businessman

Faculty Engineer Pilot Doctor Lawyer Teacher Banker
E A F D B G H C
R T T T T T
Jagga Raabta Noor Phillauri Baahubali Kaabil Mom
Jasoos Jolly LLB

AT
E A F D B G H
| | I | I JI,

e B R

ﬂ"*ﬁ——n%’t

Ans Key: 5

eng hin 3
Businessman

Facultv Encinear Pilat Nartar | awver 1eacher Banker



L4 . ™ D T T I

E A F D B G H C
I I | | | | I |

v vV v v v v v

Jagga Raabta Noor Phillauri Baahubali Kaabil Mom
Jasoos Jolly LLB

E A F D B
I I I I

% %

G
I
Sl el LsEdl p FeetTer ST g

Q-39  Who amongst of the following likes Kaabil?
enolens  [HERTTTET # & FIF-AT SATH HITIA THE FIAT 22

01. H 02. D
03. G 04. E
05. B

Q-39  Who amongst of the following likes Kaabil?
Faferfea o & F9-a7 =afE St 76 F#3ar8?

01. H 02. D
03. G 04. E
05. B

Solution for Question 39

Businessman

Ans Key: 1

Faculty Engineer Pilot Doctor Lawyer Teacher Banker
E A F D B G H C
| | | | I | | |
A A A A
Jagga Raabta Noor Phillauri Baahubali Kaabil Mom
Jasoos Jolly LLB
Tl FfET qTreE U stgew T sermew 9
E A F D B G H C
T N 2 B B
s S SO 71 L N LS L D £ e
eng hin Businessman
Faculty Engineer Pilot Doctor Lawyer Teacher Banker
E A F D B G H C
V3
Jagga Raabta Noor Phillauri Baahubali Kaabili Mom

Jasoos Jolly LLB



]

ﬂ)‘f——ﬁ%‘f

B G

E A F D
I I I I I

e B R

ST TR % P ST dEEdr e

1

Q-40 ‘Who amongst the following is sitting at the extreme end of the line?
engleng THHTATET § | & &7 ={<h 4f<h % Af~aw BT T2 d87 22

01. C, A 02. C,E
03. C,B 04. C,G
05. The one who likes Mom and Rabta / f5/&

W ¥ TEar e 8

Q-40  Who amongst the following is sitting at the extreme end of the line?

eng hin faferfea & & i ar =it dftr ¥ afcm s w a2

0L C A 02. C.E
03. C.B 04. C.G
0s. The one who likes Mom and Rabta / ISkl

HIH {17 @1 T g

Solution for Question 40

Businessman

Faculty Engineer Pilot Doctor Lawyer Teacher Banker
E A F D B G H C
| | I | | | | |
TFY 1" ™Y 7/ V. "M =
Jagga Raabta Noor Phillauri Baahubali Kaabil Mom
Jasoos Jolly LLB

D B G H

F
’ % T & 1
T _

Ans Key: 2

eng hin Businessman
Faculty Engineer Pilot Doctor Lawyer Teacher Banker
E A F D B G H C
i~ % ¥ ¥ ¥ ¢ 3
Jagga Raabta Noor Phillauri Baahubali Kaabil Mom
Jasoos Jolly LLB

TRl FfaT Tras IR gheT T4 AT

E A F D B G
I I

H
% % ¢ ¢ 1

~ /. —_——r

ﬂ’ﬂs——ﬁg’!
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Passage for Question 41, 42, 43, 44, 45 (ST-2077 RRB CLERK MAINS M (1-5) 2020)
eng/eng Passage
Study the following graph carefully and answer the following questions.
Production of three types of cars in different years (In thousands)
|oNano mFiat malto |

201 2012 2013 2014 2015

fGu o o6 F IEYdE gt A GT aw ust & SR Afew
affiza auf & AT ydR A FRT &1 3curea (FART #)
ltr*-’v—-?r E:Jﬁm".gaﬁéfl

a0 5
80 4
70 4
60 5
50 1
40
30 1
20 4
10 1

2011 2012 2013 2014 2015

eng hin Passage
Study the following graph carefully and answer the following questions.
Production of three types of cars in different years (In thousands)

IEINann EFiat @AIlto |

90 1
80 4
70 1
60 4
50 1
40 4
30 1
20
10

0

201 2012 2013 2014 2015

few 7T I% F CIEYdE ugak A GT AT uAt & 3R QST
fafdea auf & NT gdw Y FRT &1 Scurea (gaRT F)
[0 @ frre B s

SITITITIT

201 2012 2013 2014 2015

Q-41 What is the difference between average production of Nano in five years and average production of Alto in five years ?

eng/eng I AT H AT % ST IeATEA ST T 0T H el F ATHT IeqTE o A1+ fohaar a2



01. 3000 02. 1000
03. 2000 04. 10000
05. None of these / TH T FTE H@'

Q-41 What is the difference between average production of Nano in five years and average production of Alto in five years ?

enghin = AT H AAT % ST IATaA ST q1= AUl H (w2l  ATHT IATIA A4 fhaar Sqaz g ?

01. 3000 02. 1000
03. 2000 04. 10000
05. None of these / T7H H FIs Tl

Solution for Question 41

eng/eng Total average production of Nano
= 233000 _ 47000

Total average production of Alto
= 240000 _ 43000

Difference between average production of Nano and Alto.
= 48000 - 47000 = 1000

Al T R/l ScUTeed
= 235000 _ 4170

el o1 3Ed 3cu Gol
= 240000 _ 45

At 3R 3rear @ 3MET Icued B dig 3R
= 48000 - 47000 = 1000

Total average production of Nano
- LZ“““ = 47000

Total average production of Alto
— 240000 _ 45000

Difference between average production of Nano and Alto.
=48000 - 47000 = 1000

Sl &1 del Sculeel
= 233000 _ 4700

el T 3'ﬁ"\‘:l?f Sculcd
= 240005 _ 43000

3 3R 3rcar @ 3T scuea @ AT IR
= 48000 - 47000 = 1000

Q-42 The total production of three cars in 2011 is what percent of total production of three cars in 2013 ?
eng/eng AT X T A 2011 § FHF TG AT HT4 6 a9 2013 H FHoT IeqTa FT Fobeer qfaerd g 2

01. 125 02. 120
03. 100 04. 200

05. None of these / TAH T FIE -‘-lfr

Q-42  The total production of three cars in 2011 is what percent of total production of three cars in 2013 ?
eng hin Tl &I FT A 2011 H FHT IS AT FT4 F AW 2013 § F I F71 ey Tfaerd g 2

01. 125 02. 120
03. 100 04. 200
05. None of these / T7H H FIs Tl

Ans Key: 2



Solution for Question 42 Ans Key: 1
eng/eng  Required production of cars in 2011
_ 125100 _ o,
100
BR P12011 H B ScUree
_ 125100 _ o,
100
Q-43  The production of Fiat in 2014 is what percent of total production of Fiat in five years ?
eng/eng  THHUZ % 2014 T Ieura fthue % &+t oot # fhue % o1 Ioaras 1 faar afdeq 22
01. 21% 02. 20%
03. 22% 04. 25%
05. None of these / Z7H H F:Is Aot
Q-43 The production of Fiat in 2014 is what percent of total production of Fiat in five years ?
enghin  TRUZ % 2014 ¥ Sera e % &+t 3wt # fohue 3 F Icarad 1 fhaar afderd 22
01. 21% 02. 20%
03. 22% 04. 25%
05. None of these / ZTH T FTS T2l
Solution for Question 43 Ans Key: 3
Required percentage = M =22%
250000
FTT FT 74E gierg = H9000x100 _ 550,
250000
Required percentage = M =22%
250000
FTT FT 74fE qierg = H9000x100 _ 550,
25000
Q-44 What is the ratio between total production of Fiat and total production of Alto in all the given years ?
Tt 7t § fRuz ST s(eal & H{ ICITEA & & 1+ FAT AITT 82
01. 24:25 02. 42:52
03. 24:26 04. 25 :24
05. None of these / T7H H FIs Al
Q-44 What is the ratio between total production of Fiat and total production of Alto in all the given years ?
Tt aut | FhUe o7 ool  HA I F S F7T AT 22
01. 24:25 02. 42:52
03. 24:26 04. 25 :24
05. None of these / 37H | FIE Aot
Solution for Question 44 Ans Key: 4

eng/eng

Total production of fiat = 250000

Total production of alto = 240000
Fiat Alto

Ratio= 250000 : 240000
25 24

fhTC &1 fHel Scuree = 250000
3eel T Gl 3cUle = 240000
fthue el

3equrd = 250000 : 240000
25 24

eng hin

Total production of fiat = 250000

Total production of alto = 240000
Fiat Alto

Ratio= 250000 : 240000
25 : 24



fpUe &1 |/l Scure = 250000
3feel @ @l ScUlee = 240000

frue 3ol
31egUTe = 250000 : 240000
25 : 24

Q-45 In which of the following years the production of the three types car was maximum ?
engleng (HETCTTET & & {36 o A1 121 T A ICATEA HAH AT © 2

01. 2011 02. 2012
03. 2013 04. 2014
05. None of these / T7H H FIs Tl

Q-45 In which of the following years the production of the three types car was maximum ?

enghin  Feforfea # & frr ad 41 F10 FT A IcET qa AT ¢ 2

01. 2011 02. 2012
03. 2013 04. 2014

05. None of these / ZTH T FTS A=1
Ans Key: 5

Passage for Question 46, 47, 48, 49, 50 (ST-2077 RRB CLERK MAINS M (6-10) 2020)
eng/eng Passage
Study the following graph and answer the questions.

- -4 - X —B— Y+ZJ

700 1
600 -
500
400 4
300 A
200 1
100 A

0 T T T T T
2004 20086 2008 2010 2012 2014

Graph shows the production of three companies in differetnt years.

faFafafla or% o1 coagdes vaaa Hifaw AR [Feafaf@a usl & 3w 9w -

|-+-x—-— Y+Z|

700 1
600
500 ~
400 -
300 A
200 A
100 A

0

2004 2006 2008 2010 2012 2014

3T T2 T i FEtAT w7 AT Ut § Icarad gerrar g
eng hin Passage

Study the following graph and answer the questions.
[- o -X —m— ¥ —a—2z]|

700 -
600
500 A
400 A
300
200 A

A Jd




1w
ol

50

700 -
600 -
500 -
400 -
300 -
200
100 1

2004 2006 2008 2010 2012 2014

Graph shows the production of three companies in differetnt years.

feferfd ars 1 eamaE s srerw fiforo sire Fferfaa w3 s ffvm:

[- + -x—m— ¥ —a—2Z|

'0?00

0

Q-46

Q-46

2004 20086 2008 2010 2012 2014

e ar I N FFuAAT &1 Affe auf #F scuea guTar |

What is the difference between average production of company X and average production of company Z ?
FEOAT X 6 AT ICATEA 3T FFIAT Z F AT6d IcATa 1= 4T 3T g2

01. 116.33 02. 133.33
03. 116.66 04. 106.67

05. None of these / T7H | FI< Tal
What is the difference between average production of company X and average production of company Z ?
FEIAT X 3 AT IR ST FFIAT Z 5 ST IATEA 5 A1 F47 HqT 82

01. 116.33 02. 133.33
03. 116.66 04. 106.67
05. None of these / S8 F IS Tl

Solution for Question 46

Total production of campany X.

=300 + 400 + 400 + 500 + 500 + 700
=2800

Production of campany Z

50 + 250 +300 + 300 + 500 + 600
=2000

diff. = 2800 - 2000 = 800

Average = % =133.33

hi Solution

dEiuh X & IeaTaw

=300 + 400 + 400 + 500 + 500 + 700
=2800

FEAT Z FT I

50 + 250 + 300 + 300 + 500 + 600
=2000

¥ = 2800 - 2000 = 800

o = % =133.33

Ans Key: 2

eng hin

Total production of campany X.

=300 + 400 + 400 + 500 + 500 + 700
= 2800

Production of campany Z

50 + 250 + 300 + 300 + 500 + 600

= 2000

diff. = 2800 - 2000 = 800

Average = % = 133.33

hi Solution
dEiuh X F JeTae



=300 + 400 + 400 + 500 + 500 + 700
= 2800

FEAAT Z T IcqTaT

50 + 250 + 300 + 300 + 500 + 600
=2000

T = 2800 - 2000 = 800

e = % =133.33

Q-47 The production of company Y in year 2010 is what percent more than the production of company Z in the same year ?

eng/eng A9 2010 F FFIAT Y FT IUEH, IHT qW FFIAT Z 5 ITEH & el TTaerd A8 € 2

01. 331% 02. 38%
3
03. 125% 04. 100%

05. None of these / TTH H Fl% T
Q-47 The production of company Y in year 2010 is what percent more than the production of company Z in the same year ?

enghin Y 2010 H FFIAT Y T IcqTEA, IJHT A FFIAT Z % Iearaa 7 e gfqera sfers g 2

1. 2.
0 33%% 02. 38%

03. 125% 04. 100%

05. None of these / TAH T FIT T
Solution for Question 47

Production of Company Y in 2010 = 400
Production of Company Z in 2010 = 300
_ 100 x100
- 300

1

=33_-%
3

hi Solution
FFAT Y T 2010 H IATEA = 400
FFAAT Z FT 2010 H ITTEA = 300
_ 100100
~ 300
=33 1%
3
Production of Company Y in 2010 = 400
Production of Company Z in 2010 = 300
_ 100 x100
~ 300
1

=33 %
3

hi Solution

FEOAT Y T 2010 F IcATET = 400
FEIAT Z T 2010 T I<aTET = 300
_100x100

~ 300

:?‘-31%
3

Q-48 What is the ratio between the total production of all three campanies ?

engleng  FHT TN F F ST 6 A9 § FT AT & ?

01. 55:39:40 02. 55:41:39
03. 56:33:40 04. 41:55:39
05. None of these / 37H | FIS A5t

Q-48  What is the ratio between the total production of all three campanies ?
enghin T FFOAT F FT ST 6 A1 § FT AT & ?

01. 55:39:40 02. 55:41:39
03. 56:33:40 04. 41:55:39
05. None of these / TTH & FIS Aol

Ans Key: 1



Solution for Question 48 Ans Key: 3
eng/eng  Total production of X = 2800
Total production of Y = 1650
Total production of Z =2000
Soratioof X:Y :Z
2800 : 1650 : 2000
56:33:40
hi Solution
FHIAT X T HA IeATEA = 2800
FFTATYFT Fe AT = 1650
FHIAT Z T FHA IcATaA = 2000
qq: XY : ZFT AT
2800 : 1650 : 2000
56:33:40
eng hin  Total production of X = 2800
Total production of Y = 1650
Total production of Z = 2000
Soratioof X:Y:Z
2800 : 1650 : 2000
56:33:40
hi Solution
FEOAT X T A IcI1ad = 2800
FEOATYHT F/ ITATEA = 1650
FEAT Z FT A IcITaT = 2000
Aqq: X Y : Z T A
2800 : 1650 : 2000
56:33:40
Q-49 Total production of Company X is what percent of total production of company Y and Z ?
X TR T H/A IeATET Y 3T Z FRIAT 36 e ScaTae 7 fhaeT Sraer g 2
01. 65.95% 02. 68%
03. 69% 04. 69.75%
05. None of these / T8 T IS AT
Q-49 Total production of Company X is what percent of total production of company Y and Z ?
X FFIAT T H{A ICATEA Y 31T Z FFARIT o ol ICATEA 1 [ha w1 STerd g 2
01. 65.95% 02. 68%
03. 69% 04. 69.75%
05. None of these / T7H H FIs Al
Solution for Question 49 Ans Key: 5
2800x100
———— =76.71%
3650
enghin 2300 x100
———— =T6.71%
3650
Q-50 In which of the following years total production of all three companies was maximum ?
eng/eng ﬁw‘@fﬂﬁ?ﬁ?ﬁwﬁﬁ%‘r;ﬁgcq & Fw STTAF a7 2
01. 2008 02. 2010
03. 2012 04. 2014
05. None of these / TTH & FIS Aol
Q-50 In which of the following years total production of all three companies was maximum ?
eng hin T o AT FFARAT T F1 IeqTA e STI2F o7 ?
01. 2008 02. 2010
03. 2012 04. 2014
05. None of these / Z7H H FIs A5t
Solution for Question 50 Ans Key: 4

eng/eng

In 2014 total production of three companies = 1800
hi Solution



2014 ® AT FFAAAT T Icare = 1800

eng hin  In 2014 total production of three companies = 1800
hi Solution
2014 H ST FHFAT T I = 1800

Passage for Question 51, 52, 53, 54, 63 (ST-2077 RRB CLERK MAINS M (11-15) 2020)
eng/eng Passage

Read the following graph and answer the question given below.
% expenditure of various company.

Company| Profit %
A 40
B 25
C 50
B 18% 80
E 70
ki 80

Total expenditure = 40 crore

P %= '—"ExE" x100

&I 9T I H Ufev AR 5T 7 o & 3R v
A FeulAat & % g

TN | @ %
A 40
B 25
C a0
D 60
E 70
F 80

R/ T =40 HUS
A

% =T 7 " X100
C.E |
eng hin Passage

Read the following graph and answer the question given below.
% expenditure of various compaiy.

Company| Profit %
A 40
B 25
C 50
B 18% D 90
E 70
F 80

Total expenditure = 40 crore
Po%="1"EX_ 100
Ex

¥ 97 I I ufer 3R T & gt & 3R v
A drulaal & % =g

HEAT MY %
A 40

F 15%
A 30% B 25

= 470




L
D 60
E 70
F 80
®el @I =40 FUZ
et % = AA-AA 400
C. [ |
Q-51  What is the income of company A ?
eng/eng  FEAAT AT AT FAT AT
01. 21.6crore/21.6 FS 02. 16.8 crore / 16.8 FUIE
03. 224 crore/22.4 FS 04. 27.5 crore /27.5 FS
05. None of these / Z7H H FIS Aot
Q-51  Whatis the income of company A ?
FEOAT A T AT FAT 972
01. 21.6 crore/21.6 F4E 02. 16.8 crore / 16.8 1€
03. 224 crore/22.4 FE 04. 27.5 crore / 27.5 FIE

05. None of these / 378 H IS T2l

Solution for Question 51

Expenditure =

403 By
0

P% = 40%

Ex x (100 + P%)
100

=12x140 _ 158 cr.
100

hi Solution

g = 403 _ rage

100
ATH % = 40%
o Ex x (100 + P%)
100

= 12x140_ 148 777z

100

Income =

Expenditure = 40x3 _ 15 ¢,
00

P% = 40%
Ex x (100 + P%)
100

= 12x140 _ 158 r,

Income =

hi Solution
g =403 _ )53
100

ATH % = 40%
srr— Exx (100 +P%)
100
= 12x140_ 16 g 7312
100

Ans Key: 2

Q-52

eng/eng

Q-52

eng hin

What is the sum of net profit of company C, D and F ?
FFIAT C, D 3T F FT A ATH FqTe|

01. 27.00 cr./27.00 FIIE
03. 12.46cr./12.46 FIIE

05. None of these / T7H F FIs Tl
What is the sum of net profit of company C, D and F ?

FEIAT C, D 3T F &1 HoA AT Tt

02.
04.

28.48 cr. / 28.48 FIIE
9.24 cr./9.24 FIIE



01. 27.00 cr./27.00 FIE 02. 28.48 cr./28.48 FIE

03. 12.46cr./12.46 FUE 04. 924cr./9.24F0g
05. None of these / T7H | FIs gl
Solution for Question 52 Ans Key: 4
eng/eng P% xEx
p= 100
50x3.6
pc= 100 =jg¢r
60x44
pD= 100 =3¢64cr
80x6

pF= 100 —435¢r.
Total profit=9.24 cr.

hi Solution
pP= P % x =
100

pc=90x36_, cmm
100

pp=90x44 ) 1 s
100

pF = 80x8 _ 4 s 1
100

Rl oTH = 9.24 S

Total profit=9.24 cr.

hindi sol
o % < =a

p— 100
50x3.6

pc= 100 - g3F3s
60x4.4

pD= 100 — 612
80x6

pF= 100 — 485z
®eT ATH = 9.24 HUS

Q-53 Profit of company E is what percentage of the income of company C ?

eng/eng FEIAT E T ATH FEOAT C T HA 0T FT oy qfqerd 2 2

01. 120% 02. 88.14%
03. 900% 04. 40%
05. None of these / Z7H H FIs Aol

Q-53 Profit of company E is what percentage of the income of company C ?

enghin  FFAT E FT ATH FFOA1 C T o 17 FT e Ifaqera g 2

01. 120% 02. 88.14%



03. 900%
05. None of these / T7H F IS Tl

Solution for Question 53

eng/eng Profit of E=11.56 - 6.8 =4.76 cr.
income of C =5.4 cr.
o= 4 76100
54
=88 .14%
hi Solution
E &7 T4 = 11.56 - 6.8 = 4.76 Bl
C Pl A = 5.4 TS
o= 4 76x100
5H4
=88 .14%

eng hin  Profitof E=11.56 - 6.8 =4.76 cr.
income of C=5.4 cr.
0 = 4 76100
h4
=88 .14%
hi Solution
E BT 19 = 11.56 - 6.8 = 4.76 IRIS
C & I = 5.4 B
0 = 4. 76100
H4
=88 .14%

Q-54 Income of company B is how much percent more than the expenditure of company C ?

04. 40%

FEOHT B T T T C % =77 & Bhae wfqea afaw 2 2

01. 125% 02. 150%
03. 30% 04. 14%
05. None of these / TTH T I3 T2l
Q-54 Income of company B is how much percent more than the expenditure of company C ?

FEOAT B T T T C % =77 F o afdera sifar 2 2

01. 125%
03. 30%
05. None of these / ZTH T F13 T2l
Solution for Question 54
Income of B=9 cr.
Expenditure of C = 3.6 cr
Difference = 5.4 cr.
h4x100
a6

% more =

=150%

hi Solution

B @ 3T = 9 BRI

C &7 &g = 3.6 PRIS

IR = 5.4 B

aftre % = 4X100 _ 1500,
36

eng hin  Income of B=9 cr.
Expenditure of C =3.6 cr
Difference = 5.4 cr.
H4x100
36

% more =

=150%

hi Solution

B 31 3T = 9 RIS

C BT Y = 3.6 FRIS

IR = 5.4 B

ot % = -4%100 _ 500,
36

02. 150%
04. 14%

Ans Key: 2

Ans Key: 2

Passage for Question 55, 56, 57, 58, 59 (ST-2077 RRB CLERK MAINS M (16-20) 2020)

eng/eng Passage



Study the following table carefully to answer the questions total follow——
Marks obtained by six students in different subject

Student Subjects
A B c D E F
Outof 75 |Outof80 |Outof 120 |Out of 125/Out of 150] Out of 150

P 35 42 48 50 60 80

Q 40 65 44 54 80 130

R 36 68 54 60 70 100

S 50 54 60 50 90 a0

T 60 62 90 100 15 95

U 54 64 108 10 135 120

RrFATfd aRol #1 FrEaaEgdE U 3R g8 T us a1 e AR

affea fawat & 6 o gRT g 376
k] fagg
A B C D E F
quiw 75 | quiie 80 | quitw 120 | qeriw 125| qeite 150 | qeriiw 150
P 35 4z 48 50 60 80
Q 40 65 44 54 80 130
R 36 68 54 B0 70 100
s 50 54 80 50 90 80
T 60 62 80 100 15 85
u 54 64 108 10 135 120

eng hin Passage

Study the following table carefully to answer the questions total follow:

Marks obtained by six students in different subject

Student Subjects
A B C D E F
QOutof 75 [Outof80 [Outof 120 |Out of 125{Out of 150 Out of 150
P 35 42 48 50 60 80
Q 40 65 44 54 80 130
R 36 68 54 60 70 100
S 50 94 60 50 a0 90
T 60 62 90 100 115 95
U 54 64 108 110 135 120
et areoft w1 aEaE s Ted iT T& T3 T41 B ST a194-
e foroat # 6 =l T 9T o
oA oo
A B C D E F
IS 75 Ui 80 | U@ 120 | Uuiiw 125| quiie 150 | quiw 150
- g - R g
Q 40 65 44 54 80 130
R 36 68 54 60 70 100
s 50 54 80 50 90 90
T 60 62 90 100 115 95
u 54 64 108 110 135 120
Q-55 Approximately what is the average percentage of marks obtained by all students in subject A?
engleng T AH FHT FTAT ZILT ATH TIQAAT ST FT SET (FRTHIT) FAT ZRIT 2
01. 61 02. 65
03. 66 04. 58
05. 70
Q-55 Approximately what is the average percentage of marks obtained by all students in subject A?
eng hin o AH &+t ST Z12T I T 30T T SfHT (FRTHIT) FAT ST 2
01. 61 02. 65
03. 66 04. 58
05. 70
Ans Key: 1
Q-56  What was the overall percentage of marks obtained by Q in all the subjects together?

eng/eng

Q gy 7+t fAwa § forem fraar wfaera s g B @ 2



01. 49 02. 69
03. 59 04. 55
05. None of these / Eﬁﬁ'aﬁ—{'ﬂ'@

Q-56 What was the overall percentage of marks obtained by Q in all the subjects together?
enghin ~ Q FTXT #T farwrart § ferrene. foramr wicteray sie sy o w17 2

01. 49 02. 69
03. 59 04. 55

05. None of these / T7H H FIS Tl

Solution for Question 56

eng/eng  40+65+44+54+-80+130
 75+80+120 +125+150+150

= E)-:1IIIZI =59%
F00

enghin ~ 40+65+44+51+80+130
75480 +120 +125+150+150

= ﬂ:-:11:!3 =59%
700

Q-57 What is the average percentage marks obtained by all the students in subject F ?
o F # |+t 2=t g1 9Ta Tiaerd st 7 de T SiEd #4 g 2

01. 66 02. 68
03. 79 04. 80
05. 70
Q-57 What is the average percentage marks obtained by all the students in subject F ?

o= F 8 7+t =t g are Tfqerd SRt T SRR a2

01. 66 02. 68
03. 79 04. 80
05. 70
Solution for Question 57
Bl]+130+1l]]+!]]+95+120x1m
1506
_615
9
=6833
80+130+1[I]+!!]+95+120x1w
150x6
_615
9
—6833

Q-58 Total marks obtained by R in all the subjects is what percent of the total marks obtained by U in all the subjects together?
eng/eng R BT FT oot § oy ey 3 o, U gmer O it Aot / o st i1 faar aiqera 22

01. 55 02. 75
03. 60 04. 70
05. 66

Q-58 Total marks obtained by R in all the subjects is what percent of the total marks obtained by U in all the subjects together?
enghin ~ RETET HT foror=t & srar ey 13 i, U grer e it farwi # o sient 1 faan afqera 22

01. 55 02. 75
03. 60 04. 70
05. 66

Solution for Question 58

eng/eng _ 36+63+54 4+ 60+ 70+100 <100

Ans Key: 3

Ans Key: 2

Ans Key: 5



294+ +10s8+-110+-130+-1.20
_ 388 100
591

=6565 = 66

enghin  36+68+54+60+70+100 <100
- 54+ 64+108+110+135+120

_ 388 100
591

=6565

Q-59 What is the approximate average marks obtained by all students in subject B ?
eng/eng T FTAT FTT F0 B H TTH AT 36T F7 60T 747 82

01. 50 02. 55
03. 65 04. 59
05. 70

Q-59 What is the approximate average marks obtained by all students in subject B ?
enghin &1 BT 17 faoar B H TH SR04 S{hT 7 S 447 22

01. 50 02. 55
03. 65 04. 59
05. 70

Solution for Question 59

eng/eng  42+65+68+54+62+64
B 6

_3%
6
=5916 =59

enghin  42465+68+54+62+64
B 6

Wil
6
=59.16 w50

Passage for Question 60, 61, 62 (ST-2077 RRB CLERK MAINS M (21-25) 2020)
eng/eng Passage

Study the following graph carefully and give the answers
The profit % earned by companies A and B of given years
Income - expenditure )

Yoprofit / loss = it 100
expenaiture
—+—B--4-A
L1}
55
m # PR )
45 e _‘H'""“‘-: ad .
B e e -
K 1] T
-]
20
15
10
5
0 : . : :
2004 2006 2006 207 208 208

A o 7 AT qEF ALATT HT 3T I TR T HT IAL S 1101 -
33 T a9t # F7 FAEAT A ST B 1T ST AT &7 Siaerd

hamr/ TR = 0T 100

REEBEHERS
.
4

Ans Key: 4




2004 2005 2006 2007 2008 2009

eng hin Passage

Study the following graph carefully and give the answers———
The profit % earmed by companies A and B of given years

Yoprofit / loss =

Income - expenditure
s il %100

o RBRERBEBHS

expenditure
—+—B--a
e e, s
s T :
2004 2005 2006 2007 208 2000

AE == 7 AT T AT FT 36 T AT T AT ITAL <01 --
o T ot § 27 Fufat A ST B g AfSia Ard F i

AT — <0

Y=/ ET x 100
il
[——B A
60 - =
56 - |
50 4
45
40 4
3
30 4 - re | 4 i L
25 1 | F ¥ |
20 SR B B B B S 9
15 1 _—— —— - —— =
10 1 _ ——— — - —
54 L I & & L
2004 2005 2006 2007 2008 2009
Q-60 If the ratio of income of company B in 2006 and 2007 is 2/3 then what is the ratio of expenditure of these 2 years?
T F B FT 2006 3T 2007 FT ST FT STATT FHH: 2/3 2T, AT S &1 0T H FAT 6 77 FHT AT F9T 972
01. 20:29 02. 9:10
03. 29:45 04. 10:29
05. None of these / 37H | FIE Aal
Q-60  Ifthe ratio of income of company B in 2006 and 2007 is 2/3 then what is the ratio of expenditure of these 2 years?
enghin  TT2 FFAT B FT 2006 3T 2007 FT ST FT SATATT HHA: 2/3 T, T ZA &1 aWT H FAAT o 77 FT SATATT F4T T2
01. 20:29 02. 9:10
03. 29:45 04. 10:29
05. None of these / T7H F FIs Tl
Solution for Question 60 Ans Key: 3
eng/eng i endiliine = incomex 100
100+ %pmihit
2100

B'sexpin2006 100450
B'sexpin2007 3xx100
100+ 45

_2xxi00 145 29
150 ~ 3xx100 45

29:45



hi Solution

~ 3mgx100
100 + %=mH

2% =100
Br2006 ¥=@ 1003 50
B=r 2007#=g 3x =100
100 + 45

_2xx100 145 29
T 7150 3xx100 45

=29:45
eng hin e:q:emliure=immxmu
100+ %proit
2xx100

B'sexpin2006 100450
B'sexpin2007 3xx100

100 +45
2xx100_ 145 29

Sy TV —99-45
150 3xx100 45
hi Solution
- 100
- 100 + % =T+
2% =100
B#12006 =31 100+ 50
Bwr 2007#=rg 3% x 100
100 + 45
_ 2xx100 145 29
- 150 3xx100 45
=29:45

Q-61 The expenditure of company B in 2005 and 2006 is 12lac and 14.5 lac respectively. What is the total income in year 2005 and 2006?
FOAT B T 2T 2005 37T 2006 H FHL: 12 AT 30T 14.5 AT@, q FOAT B #HT 2005 ¥ 2006 H FH 307 F47 T 2

01. 39.75 lakh/39.75 &T@ 02. 37.95 lakh/37.95 <T@
03. 38.50 lakh / 38.50 =TT& 04. p

05. None of these / ZTH J TS ol
Q-61 The expenditure of company B in 2005 and 2006 is 12lac and 14.5 lac respectively. What is the total income in year 2005 and 2006?
hin 9T B 3T 217 2005 3T 2006 § FHHA: 12 AT A< 14,5 AT@, T FHAAT B T 2005 37T 2006 H FeT 07 47 ofF 2

01. 39.751akh/39.75 @@ 02. 37.95lakh/37.95 T
03. 38.50 lakh / 38.50 =TT@& 04. p
05. None of these / S | i< Agl

Solution for Question 61

eng/eng  eng Solution

income = Ellp.(‘|+

pmﬂ%]
100

B's income in 2005

= 12(1+£J= 12)-{E =162
100 20

B's income in 2006 = 14_5(1+ £J= 14_5){3 =21.75
100 2

so, total income = 16.2 +21.75 = 37.95 lakh Rs.

hi Solution

=g = =3 . 1+ﬂ
100

2005 ¥ B &1 ag=

35 27
= 12[1-'-@]_12}(%_16-2

2006 % B %71 a9 =

1+£ 3

14.5( }= 145« — =21756

Ans Key: 2



100 ) s
3 B AT = 16.2 + 21.75 = 37.95 AT .

eng hin  eng Solution

income = exp_(1+

pmﬂ%]
100
B's income in 2005

= 12(1+£J= 12x£=1ﬁ.2
100 20

B's income in 2006 = 14_5(1+£J= 14_5x§ =2.7h
100 2

so, total income = 16.2 +21.75 = 37.95 lakh Rs.
hi Solution

=g = =3 . 1+ﬂ
100

2005 ¥ B &1 Hg=

35 27
= 12[1+mj_12xﬁ_16_2

2006 % B %7 a9 =

14.5(1 : =, 145 = 3 =2175
100 P

3 fel AT = 16.2 + 21.75 = 37.95 1T .

-62 If the expenditure of company A and B are equal in year 2009. The income of two companies is 5.7 lakh then how much the total expenditure in 2009?
p pany q ¥ [ p
TfE a9 2009 H FAAT A 3T B FT 7T IITGT AT AT AT HAAAT 61 0T 5.7 AT@ &, AT a9 2009 F FT FATAAT T el =77 FT AT 2

01. 4lakh/4 =T™ 02. 2 lakh/2<Td
03. 4.2 lakh/4.2 <19 04. can’t be detemined / feTa w1 AT ST Fha
05. None of these / TTH T T3 T2l
Q-62 If the expenditure of company A and B are equal in year 2009. The income of two companies is 5.7 lakh then how much the total expenditure in 2009?

Tf< a9 2009 H FAAT A 3T B FT 7T FIEL AT AT AT HAAAT 68 30T 5.7 AT@ &, AT a9 2009 F T FATHAT T Tl 7T F4T AT 2

01. 4lakh/4=T@ 02. 2 lakh/2 &T@&
03. 42 lakh/4.2 M9 04. can’t be detemined / TaTRa T2t f3Fam ST Trehan
05. None of these / ZTH J FTE Tl
Solution for Question 62 Ans Key: 1

let the exp. of comany A and B is x lakh rupees.
A's income in 2009 = x(1+ ﬁ)
100
5
and B's income in 2009
- x[1 45)- 21
100/ 20
(A+B)'s income = ?_x+ 29x
h 20
o
20
? x=2lakh
Total exp. = x + x =4 lakh.

hi Solution
AT HUT A TAT B BT I x AT 6. AT
2009% A FY a7 = x(1+£J p=
100 5
2009 % B FY aTa x(1+£J= 29x
100 20
(A+B)PT 3
7x , 29x
_5 20
57_90%
20

X =279 9.
Bl I =X+ X =479 %.



eng hin et the exp. of comany A and B is x lakh rupees.

A's income in 2009 = x (1+ ﬁ)
100
_
5
and B's income in 2009
_ ( 45 ]_29:{
= X1+ [F==
100, 20
(A+B)'s income = ?_x+ 20x
5 20
5.7=97%
20
? x=2lakh

Total exp. = x + x = 4 lakh.

hi Solution
AT HUT A TAT B BT G x AT 6. AT
2009 % A @Y ama = x(1+£J = fx
100 5
2009 % B & ama x(1+£J= 29x
100 20
(A+B)FT 3
7 29
_5 20
oy L)
20
X =2 19 3.
@m=x+x=4m 2.

Passage for Question 51, 52, 53, 54, 63 (ST-2077 RRB CLERK MAINS M (11-15) 2020)

eng/eng Passage

Read the following graph and answer the question given below.
% expenditure of various company.

Company Profit

=

A

Total expenditure = 40 crore
P %= In—Exx"m
Ex

&d 9T I H Ufev IR 6T 7 g & 3R v
RAff sufaal & %o

Sl T %
A 40
B 25
c 50
D 60
E 70
F 80

eng hin Passage

Read the following graph and answer the question given below.




Company | Profit %
A 40
B 25
4 c 50
B18% D 8o
v E 70
F 80

% expenditure of various company.

Total expenditure = 40 crore
P%="1"E, 100
Ex

¥ v I @ ufer 3R T = ust B 3R ST
AP peulaal & % g

FEAT ATH %
A
F 15% 40
B 25
(i 50
D 60
E 70
F 80

H/T I =40 FUZ

JE-49q

AH % = T " " X100

Q-63

Q-63

L E. |

Find the difference between the total income and the total expenditure of all the six companies.

F: FEAAAT 6T A AT TAT /A AT o A= F97 AL 82

01. 29.5¢r./29.5 % 02. 25.8cr./25.8 FIS
03. 272 cr/272F0E 04. 20.6cr./20.6 FIE

05. None of these / TH T FIs AT

Find the difference between the total income and the total expenditure of all the six companies.

: FEAAIT 6T A ST TAT H/A AT % A9 F47 (¥ 82

01. 29.5cr./29.5F0E 02. 258cr./25.8 FE
03. 27.2cr/27.2 FE 04. 20.6 cr./20.6 FE
05. None of these / 37H H FIS Aol

Solution for Question 63

Ans Key: 4

eng/eng

Income = w From,

100

Total income = 606000000
Total Expenditure = 400000000
Difference = 206000000
=20.6 cr.
hi Solution
aT= Ex » (100 +P%) N,

100

Fel 3T = 606000000
FA @ = 400000000

3T} = 206000000
=20.6 B

eng hin

Ex x (100 +P%) From.
100

Income =



Total income = 606000000

Total Expenditure = 400000000

Difference = 206000000

=20.6 cr.

hi Solution

qT = Ex x {100 +P%) N,
100

FA 3T = 606000000
FA @ = 400000000

3R = 206000000
=20.6 B

Q-64  Inhow many different ways can the letters of the word 'BOTTLE' be arranged?
eng/eng 915 'BOTTLE' % (&1} T S-S Sl T § Foag (447 ST qHAT 22

01. 120 02. 720
03. 60 04. 5040

05. None of these / T7H H FIs Tl
Q-64  Inhow many different ways can the letters of the word 'TBOTTLE' be arranged?
enghin 9753 'BOTTLE' % (&3] & S[eT-STT {ohael T & Foaag (6T ST qaT 22

01. 120 02. 720
03. 60 04. 5040
05. None of these / ZAH T FTS A2l
Solution for Question 64 Ans Key: 5
6 6x5xdx3x2x1__
Re S= = = 360
2l 21
f G-
HHIES OIS A
£ i
_ _ Bl 6xBxd3x2x1
2 5= 5 = = 360
B G54 3x2x1
HHE TRIE —.
2 21
60
Q-65 49 persons consume 350 kg of wheat in 30 days.In how many days will 35 persons consume 50 kg of wheat?

49 =f<h 350 AT, g 30 AT # ITHNT F2d &, qv 35 =at<n 50 R, T 1 Fhae &A1 § STHRT F#31?

01. §days/8 & 02. 10 days/ 10 fa=
03. 6days/6 e 04. 9days/9fam

05. None of these / Z7H H FIs A5t
Q-65 49 persons consume 350 kg of wheat in 30 days.In how many days will 354persons consume 50 kg of wheat?
enghin 49 =T<H 350 T, 7 30 fAT § SO 7 €, A7 35 =afen 50 Fhum. g it et foat & ST e

01. 8days/8 T 02. 10 days/ 10T
03. 6days/6 e 04. 9days/9 fam
05. None of these / T7H | FI< Tal
Solution for Question 65 Ans Key: 3
eng/eng  49x30 35xd,
350 50
d, =6 days
hindi solution
49x30 35xd,
350 50
d,=6f&=
enghin  49x30 35xd,




350
d, =6 days
hindi solution
49x30 35xd,
350 50

d, =6f%

Q-66

eng/eng

Q-66

In each of the following questions you have to solve the given equations to find m and n and-

L m=_frm

II. n?=625

frerferfera wert & aisreon 7 2o F2% m 3i¥ n T 7 AT HY TJT-
L m=.ff29

II. n2=625

0l. ifm>n/TfRm>n 02. ifm>n/IfREm>n
03. ifm<n /¥ m<n 04. ifm<n/TfEm<n

0S. if m=n or relationship can not be

established. / 7T m = n T oo T2T

[ERISIEERI
In each of the following questions you have to solve the given equations to find m and n and-
I m=_frmg

. n2=625

fRrerferfiaa o=t & afison &7 27 F2% m 3T n 7 /T 0T FT J9T-

I m=_frmg

II. n%=625

01. ifm>n/aFfEm>n 02. ifm>n/IfREm>n
03. ifm<n /TEm<n 04. ifm<n/IfEm<n

0S. if m = n or relationship can not be
established. / T3 m = n T¥awe TATMOT T2
[ERUSIEET I

Solution for Question 66

=S

eng Solution

(iDg.= 2%

() ni=1£25
m>n

hi Solution

@0 m=27

(II) n=+25
m>n

Ans Key: 1

eng hin

eng Solution

I m=27

(IM) n=+25
m>n

hi Solution

M m=27

(I) n=425
m>n

Q-67
eng/eng

In each of the following questions you have to solve the given equations to find m and n and-
L (m)?=(-11)?
L n® =2197

fRferfera wert & aefiaeon 1 g F% m 3T n &1 A4 A7 F2 J4T-
I (m)?=(-11)?
I n® =2197

01. ifm>n/FfXm>n 02. ifm>n/FR¥m>n
03. ifm<n/If¥m<n 04. ifm<n/IR¥m<n



Q-67

eng hin

05. if m = n or relationship can not be

established. / 7T m = n T¥=er TTMAT 1

[ERISIEEGI
In each of the following questions you have to solve the given equations to find m and n and-
I (m)?=(-11)?
IL n3 =2197

rerferfera woit & aehisreont 1 21 FF m i< n T /I 19 L qAT-
L (m)?=(-11)?

. n3 =2197
01. ifm>n/TRm>n 02. ifm>n/IR¥m>n
03. ifm<n/TfRm<n 04. ifm<n/FR¥m<n

05. if m = n or relationship can not be

established. / 7% m = n ¥y TTAT 1
[ERISIEEGI

Solution for Question 67

eng/eng  eng Solution

Q-68

Q-68

eng hin

M m=-11
(Hn=13
n>m

hi Solution

I m=-11

(IHn=13
n>m

eng Solution

I m=-11

IHn=13
n>m

hi Solution

(I) m=-11

(IHn=13
n>m

In each of the following questions you have to solve the given equations to find m and n and-
L m?+16=212
IL n>-6n-16=0

fAeafaf@a usit & gafieon & g Rd m 3R ndr AT AT B T2T-

I m2+16=212

I n?-6n-16=0
01. ifm>n/afTm>n 02. ifm>n/Fm>n
03. ifm<n/Tf¥m<n 04. ifm<n/I¥m<n

0S. if m = n or relationship can not be

established. / Tf& m = n G w1iUT ‘Tapf

ERUSIGETRIT
In each of the following questions you have to solve the given equations to find m and n and-
L m?>+16=212
IL. n-6n-16=0

AFATId usl # gHAON Bl T Bd m 3T ndT AT A B TAT-
L m2+16=212
IL n2-6n-16=0

0l. ifm>n/TfXm>n 02. ifm>n/FR¥m>n
03. ifm<n/If¥m<n 04. ifm<n/FR¥m<n

0S. if m = n or relationship can not be

established. / 7% m = n Ty TTiOT 1
ERISIGERI

Solution for Question 68

eng/eng  eng Solution

Ans Key: 3

Ans Key: 5



(Hm?=196, m = 14
(I)n%-8n+2n-16=0
n(n-8)+2(n-8)=0
(n-8)(nt2)=0

n=-2,8

Relationship cannot be established.
hi Solution

(Hm? =196, m = 14
()n?-8n+2n-16=0
n(n-8)+2(n-8)=0
(m-8)(n+2)=0

n=-2,8

T TATIAT A5l (AT ST qohaTl

eng hin

Q-69

Q-69

eng Solution

(Hm2=196, m= 14
(MHn?-8n+2n-16=0
n(n-8)+2n-8)=0

-8 (nt2)=0

n=-2,8

Relationship cannot be established.
hi Solution

(Hm?2=196. m= 14
(In%-8n+2n-16=0
n(n-8)+2n-8)=0
(n-8)n+2)=0

n=-2,8

T ST Aol (R AT ST FehaTl

In each of the following questions you have to solve the given equations to find m and n and-

L m"2 =12
1. (n)'3=3

Rerferfera wert § a0t 7 2 %% m T n FT 919 377 F3 T97-

L m”2 =12
. ()3 =3

01. ifm>n/TfXm>n
03. ifm<n/TfTm<n

05. if m = n or relationship can not be

established./ T m = n F¥==e TATIOT A1

AT ST el

02. ifm>n/TTm>n

04. ifm<n/ITm<n

In each of the following questions you have to solve the given equations to find m and n and-

E (m)l/2 =12
. (n)'3=3

Frerferfer wert & SO 7 g F2% m 3H¥ n &7 719 AT HY TIT-

L m"2 =12
L. n)3=3

01. ifm>n/TfR¥m>n
03. ifm<n/IfTm<n

05. if m=n or relationship can not be

established./ & m = n ¥ TATIOT AT

T ST @

Solution for Question 69

02. ifm>n/TfTm>n
04. ifm<n/IR¥m<n

Ans Key: 1

eng/eng  eng Solution

() m= 144
(I n=27
m>n

hi Solution

DHm=144

(IM)n=27
m>n

eng hin

eng Solution



(M) m= 144
(I n=27
m>n

hi Solution

(Hm=144

() n=27
m>n

Q-70

eng/eng

Q-70

In each of the following questions you have to solve the given equations to find m and n and-

7m_8n
6 9

Frerferfera weIt & SO 7 g F3% m 37¥ n &7 79 AT FHY TIT-
7m_8n

6 9

0l. ifm>n/TfRm>n 02. ifm>n/TfREm>n
03. ifm<n/TfRm<n 04. ifm<n/TfRm<n

05. if m = n or relationship can not be

established. / 7T m = n T¥a=e TTMAT 1
T ST HehaT|
In each of the following questions you have to solve the given equations to find m and n and-

fm_dn

6 9

e P - s -
[AHTATET TIT H HHTR L Rl g hiteh m 3T n kT HH AT FL TAT-
fm_dn

6 9

0l. ifm>n/TRm>n 02. ifm>n/IfEm>n
03. ifm<n/Tf¥ m<n 04. ifm<n/IfTm<n

0S. if m = n or relationship can not be
established. / 7T& m = n T¥a= TATUT 751
EERISIEETII

Solution for Question 70

eng/eng

eng Solution
m_ 43
n
m:n=48:63

m<n

hindi Solution
m_ 43
n
m:n=48:63
m<n

Ans Key: 3

eng hin

eng Solution
m_48

n 63
m:n=48:63
m<n

hindi Solution
m_43

n 63
m:n=48:63
m<n

Q-71

eng/eng

The questions given below contain two statements giving certain data. You have to decide whether the data given in the statements are sufficient for

answering the question.
Find the perimeter of a semi-circle.
1. The side of a square is twice the radius of the semi-circle.

II. The area of the square is 196 cm?.

T 2w U WAt O ST AT e W ST a1 T 2 T I 0T AT 8 T A ey § < TS ST S9Y a7 & o7y 93 2l



Q-71

eng hin

Solution for Question 71

AZFT T TRATT FT & ?

(1) & & T G T T Broar £ TR )
(1) = =T & 196 A2 71

I A=

01. If statement I alone is sufficient but 02. If statement II alone is sufficient but statement I alone is not sufficient. / % &aret o 1 & TATH
statement IT alone is not sufficient. / T & ST et F9 [ Tl
FA FAT [ E1 TATH & AT et Ho 11

03. [f each statement alone (either Tor II)is ~ 04. If statement I and II together are not sufficient. / % I 7 Il SI9T 79T g
sufficient. / T =T Farer [ T Faet 11 TATH
2l
05. Ifboth statement together are sufficient but
neither statement alone is sufficient. / 7%
T FHAT 1 F 11 TF AT TATH g ATl
-3 Tl
The questions given below contain two statements giving certain data. You have to decide whether the data given in the statements are sufficient for
answering the question.
Find the perimeter of a semi-circle.
1. The side of a square is twice the radius of the semi-circle.
1I. The area of the square is 196 cm?2.

= faw T st § 27 FAAT F ATeA ¥ g At &7 TS 2 gy 7g i FAr 5w wuar #§ 8 7€ S 39w 39 % o 91iw )

(1) =7 T AT G ot AT &t IRFAT
(I1) =97 7 &=FeT 196 T2 21

01. Ifstatement I alone is sufficient but 02. If statement II alone is sufficient but statement I alone is not sufficient. / T Faet o 1L 27 TATH
statement II alone is not sufficient. / Tfe ? AT e A9 1 FI%PF
FAA FAF 1 Z1 TITH § AT daet w9 11
LEl
03. If each statement alone (either I or IT) is 04. If statement I and II together are not sufficient. / Tf< [ 7 11 T ATATH Zl
sufficient. / 7S =T et [ AT Feer [L9ATH
2l

05. Ifboth statement together are sufficient but
neither statement alone is sufficient. / T
AT FAT | T 11 U 8T TIT9 & At

eng Solution
(IT) Area of square = 196 cm?
Side = 14 cm

(I) Radius = M _70m
2

Both statements are sufficient.
hi Solution

(IT) ot @7 &, = 196 W2

ST = 14 W+

(1) foroar = % - 74

A AT HAT T g

eng hin

eng Solution
(II) Area of square = 196 cm?
Side = 14 cm

(I) Radius = 1M _7em
2

Both statements are sufficient.
hi Solution

(IT) 7 1 &. = 196 WH2

oIl = 14 9

(1) Prsar = % =7 %

A AT FHAT TATH B

Q-72

eng/eng

The questions given below contain two statements giving certain data. You have to decide whether the data given in the statements are sufficient for
answering the question.

Ans Key: 5



0-72

What is the rate of interest p.c.p.a on an amount of Rs. 24000/- deposited in a bank.
1. The difference between the S.I. and C.I is Rs. 240.
II. The S.I for two years is Rs. 2000/-.

A= fo 0 et | qTFAAT o AT R/ SAARIAT &1 T2 g Iah! g i 31 ¢ 56 77 oy & € 7 a1y 392 & & forg a7iy 2
I ATfr-

& T STHT 24000/~ F. TL AT T T FTE 2

(I) AT T FHG [ AT o HeT qT 240 F. &

(IT) =T ST T LT AT 2000 TTF 2

01. [f statement I alone is sufficient but 02. If statement IT alone is sufficient but statement I alone is not sufficient,/ 7% &<t Fa 1 &7 TATH &
statement I1 alone is not sufficient. / Tf& AR Fael HAT [ T2
FAA FAT [ ST TATH g AR dhaet w4 11

03. Ifeach statement alone (either [orI)is ~ 04. If statement I and II together are not sufficient./ T I & I1 IIAT IITH 2|
sufficient. / Tf% =T Faer [ A7 &<t 11 7378
£l
05. Ifboth statement together are sufficient but
neither statement alone is sufficient. / 7%
FETFAT [ F 11 TF 91T TATH & A0
AT Tl
The questions given below contain two statements giving certain data. You have to decide whether the data given in the statements are sufficient for
answering the question.
What is the rate of interest p.c.p.a on an amount of Rs. 24000/~ deposited in a bank.
I. The difference between the S.1. and C.I is Rs. 240.
II. The S.I for two years is Rs. 2000/-.

A= 0 T ot 3 27 Rl o AT A A ST &7 TE § ArTeht A ot AT € o A weren | & g STk 39 2 o forg oie g
% T STHT 24000/~ F. T T 1 7 FATE 2

(I) HTemo El"clvhﬁl(;j-\ SATST 3 WET ¥ 240 .

(ID) =T ST HT FTLTIT 4TS 2000 I 21

01. TIfstatement I alone is sufficient but 02. If statement I alone is sufficient but statement I alone is not sufficient./ T& FaeT FI= 1 T 74T 2
statement II alone is not sufficient. / T2 AT FdeT BT [ H%Br
Fae FIT | ZT TATH & TTohel sharet e 11
Tl

03. [feach statement alone (either Ior II)is ~ 04. If statement I and II together are not sufficient./ T 1 & 11 FT STTTTH Bl

sufficient. / T2 AT Faer 1 AT et [ TITH
2l
°

0S. Ifboth statement together are sufficient but
neither statement alone is sufficient. / Tf
AT FIT 1 F 1 TF 1 TATH & AR

Solution for Question 72 Ans Key: 2

eng/eng  eng Solution

(I S.I~CI=240

D S.I=

2000 =

only 1T is sufficient

hi Solution

@) @r. =gt ~ =, | = 240

(1) . = = Pt
100

2000 = 24000 xrx 2

100
Sad || $AT & 9ATd B |
eng hin  eng Solution
(I) S.I.~C.I=240
I S.1=
2000 =
only 1T is sufficient
hi Solution

I) @ et ~ =, |are = 240

(1) . = = Pt
100
2000 = 24000 xrx 2

100



P |l B & =T B |

Q-73 The questions given below contain two statements giving certain data. You have to decide whether the data given in the statements are sufficient for
eng/eng answering the question.
What is the ratio of X : Z ?
1. Theratioof AtoBisx:8andratioof BtoCis12:Z.
II. Theratioof AtoCis2:1.
Mark answer-
Fr=r F30 T st | T FAAT AT F R SAARTAT &F T2 2 ATl 78 707 F5war g T a7 et & €7 T STy 39 a9 & forT a2 gl
X : Z % W AT FAT 2
() A& B HeT ST x : 8 TIT B H C F HeT AT 122 2 2
(MATCF T AAA2: 1 Bl
I -
01. If statement I alone is sufficient but 02. If statement IT alone is sufficient but statement I alone is not sufficient. / % &<t FHAT 11 & TATH
statement II alone is not sufficient. / % g AT Fat Fa [Tl
FAA FAT [ &1 TATH & A0 Fadl Fa 11
T
03. Ifeach statement alone (either [orI)is ~ 04. If statement I and II together are not sufficient. / 7% I 7 II FAT TTATH &1
sufficient. / TT< AT Fer [ T Fa< 11 TATH
El
0S. Ifboth statement together are sufficient but
neither statement alone is sufficient. / 7T
AT FHAT 1 F 11 TF |7 TATH g ATohel
Q-73 The questions given below contain two statements giving certain data. You have to decide whether the data given in the statements are sufficient for
answering the question.
What is the ratio of X : Z ?
I. Theratio of Ato Bisx: 8 and ratio of Bto Cis 12 : Z.
II. Theratioof AtoCis2: 1.
Mark answer-
A= T 0 et | qTFAAT F AIEAH R/ SAARIAT &1 T2 g Tl g [0 F37 ¢ T 71 Foay | &4 78 ST 392 & & forw 9779 2
X : Z % W AT FATE 2
() A ¥ B HeT ST x : 8 TT BH C F HLT 1T 122 2 8]
(AT CF FeT AT 2 : 1 Bl
01. [fstatement I alone is sufficient but 02. If statement 11 alone is sufficient but statement I alone is not sufficient. / T Farel FI 11 ﬁ LRl
statement II alone is not sufficient. / Tt 2 AT FaeT FaT [ T2t
Fa HAT L &1 TATH @ ATHA daet 2 11
03. Ifeach statement alone (either I or IT) is 04. If statement I and II together are not sufficient. / I I & I &1 ATATH Zl
sufficient. / 7% =T Faer 1 AT Fhaet 11 7318
2l
05. Ifboth statement together are sufficient but
neither statement alone is sufficient. / 7%
T FHAF 1 F 11 TF AT T3 g ATl
-3 Al
Solution for Question 73 Ans Key: 5
eng/eng  eng Solution
OHA:B=X:8
B:C 12:Z
A:B:C=12X:96:8Z
A:C=12x:8Z
a 12X _2
& 1
X:Z=4:3
Both the statements are sufficient.
hi Solution
DHDA:B=X:8
B:C12:Z
A:B:C=12X:96:8Z
A:C=12x:8Z
x| %

X:Z=4:3



FT FHIF T g

eng hin  eng Solution
HA:B=X:8
B:C 12:Z
A:B:C=12X:96:8Z
A:C=12x:8Z
an 12X _
8z
X:Z=4:3
Both the statements are sufficient.
hi Solution
OHA:B=X:8
B:Cl12:Z
A:B:C=12X:96:8Z
A:C=12x:8Z
) E_%

= | N

87
X:Z=4:3
FAT FHIF T g

Q-74  The questions given below contain two statements giving certain data. You have to decide whether the data given in the statements are sufficient for
eng/eng answering the question.

What is the probability that at least two are green balls ?

I. A basket contains 3 blue, 2 green and 5 red balls.

II. The balls are picked at random.

Mark answer -

A= fom T et | JT FAAT F WA F F{g AARTAT oF T2 3 Ty 7 i A1 g 55 o1 oy #§ & 7€ STy 392 &+ o forg agiy 2
FH | HH ATIQ g4 2l SHeh! FAT I a1 2™ 2

() U AT H 3 VAT, 2 T TAT 5 ATA T 2

(D) = =T Fazdta AT @

01. Ifstatement I alone is sufficient but 02. If statement II alone is sufficient but statement I alone is not sufficient. / T2 Farel F 11 27 TATH
statement II alone is not sufficient. / T2 2 AT Faer U [ T2t
FAA FAT [ ST TATH g AT dae w5 11

03. [feach statement alone (either Ior I)is ~ 04. If statement I and II together are not sufficient. / TS I =7 Il =TT 37921 2
sufficient,/ T AT et | T et [ TATH
2l
05. Ifboth statement together are sufficient but
neither statement alone is sufficient. / 7%
A1 FT 1 F 11 T q1 TATT & A fohet
S-S Al
Q-74 The questions given below contain two statements giving certain data. You have to decide whether the data given in the statements are sufficient for
answering the question.
What is the probability that at least two are green balls ?
1. A basket contains 3 blue, 2 green and 5 red balls.
II. The balls are picked at random.
Mark answer -

Fr=r F3w T ot | T FAAT F AT F fg SAARTAT & TS 2 ATl 77 iy At g 5 7 wuen § 4 T Sy 39 39 F forw oAty g
FH F FH QIS g T ZEehT AT T haT gAY 2

() TF ZrHLT | 3 AT, 2 ZLT TAqT 5 AT T4 2

(I1) =T T Saedter feTeT @

01. If statement I alone is sufficient but 02. If statement IT alone is sufficient but statement I alone is not sufficient. / TS &<t FHa I1 & TATH
statement IT alone is not sufficient. / 7T g AT Fat Fa [Tl
FAA FAT [ ST TATH g ATohe Faed H 11

03. Ifeach statement alone (either [or I)is ~ 04. If statement I and II together are not sufficient. / 7% I & II FAT TTATH &1
sufficient./ T2 AT Faer [ A7 Faer [ TATH
El

0S. Ifboth statement together are sufficient but
neither statement alone is sufficient. / 7%
T FHAT 1 F 11 TF |7 TATH g ATohel
HT-ST Al

Solution for Question 74 Ans Key: 4




eng/eng

eng Solution

In both the statement it is not given how many balls are drawn in a chance at rundom. Hence both the statements are not sufficient.
hi Solution

AT FAATH 7 AT oA A7 g O v e § frae W9 vawrua ferett S w3 g1 o I A 9hiy T2 2l

eng hin

eng Solution

In both the statement it is not given how many balls are drawn in a chance at rundom. Hence both the statements are not sufficient.
hi Solution

AT FAATH 7 AT a7 g T v A § fraey WS vawrua fAerett S w3 g1 o I A 9hiy T2 2

Q-75

eng/eng

Q-75

The questions given below contain two statements giving certain data. You have to decide whether the data given in the statements are sufficient for
answering the question.

Find the strength of clerks in a staff of a company .

1. The average salary of 150 officers is Rs. 460.

II. The average salary of clerks is Rs. 110.

Mark answer-

A= fo T et | JTFAAT F AT F F/g SAARIAT &F T2 g 3Ty g i 37 g 5 07 ey & & T SIaehry 392 & & forg ugiy 2
T FEIAT § FAhT ] HEAT TaqTe 2

() 15 STRET HT T T F. 460 B

(I1) FAeht T T AT F. 110 B

I ffSru-

01. Ifstatement I alone is sufficient but 02. [f statement 1 alone is sufficient but statement I alone is not sufficient. / T Fearet e 11 2T TATH
statement I alone is not sufficient./ T2 e g AT e FO9 [ A1

FAT | ST THTH & SIeheT el e 11 et

03. Ifeach statement alone (either I or IT) is 04. If statement I and II together are not sufficient./af< 1 = I1 ST sra4TH I
sufficient,/TT< AT Fae [ T Fae [1 THTH
2l
Q

05. Ifboth statement together are sufficient but
neither statement alone is sufficient. / 7%
AT AT 1 11 T AT TATH 8 AT
The questions given below contain two statements giving certain data. You have to decide whether the data given in the statements are sufficient for
answering the question.
Find the strength of clerks in a staff of a company .
I. The average salary of 150 officers is Rs. 460.
II. The average salary of clerks is Rs. 110.
Mark answer-

= 2 T et § 7 AT F AT g AAHAT &7 TS ST A2 v FA € 5 A Fur # 4 TS A 397 27 F oy ai 2
T FEIAT § Feht i HEAT TaATeA 2

(1) 15 STFET HT ST T = 460 g

(1) FeAeht T rEq T =. 110 2

01. Ifstatement I alone is sufficient but 02. If statement II alone is sufficient but statement I alone is not sufficient. / 7T& Faret FHI 11 &F TATH
statement II alone is not sufficient./S Farer & ST et Fa [ Tl
FAF 1 S TATH § AT Faet 2 11 Tl
03. Ifeach statement alone (either TorI)is ~ 04. If statement I and II together are not sufficient,/ = 13 I T raTH g
sufficient,/ T T Fae [ 77 #1718
2l
05. Ifboth statement together are sufficient but
neither statement alone is sufficient. / 7%

AT FAT [ F 11 TF 91 TATH & A0
AT Tl

Solution for Question 75 Ans Key: 4

eng/eng

eng Solution

In both the statement it is not given that what is the average salary of the staff.
So both the statement are not sufficient.

hi Solution

AT FAAT H TTEF Y Sfiwd g Tt &F T 2

A TAT HAT FTATH 2|

eng hin

eng Solution

In both the statement it is not given that what is the average salary of the staff.
So both the statement are not sufficient.

hi Solution

AT AT H T hi SHEd 3T A1 &1 74T 2



A T FAT ATATH B

Q-76  Find the missing number in following number series
eng/eng 51975 9450 2100 600 240 160 ?

fAferferd wem o« § faep wwer s fiforr
51975 9450 2100 600 240 160 ?

01. 320 02. 323
03. 327 04. 333
05. None of these / T7H H FIs Al

Q-76  Find the missing number in following number series
enghin 51975 9450 2100 600 240 160 ?

et e gaar | fae w@wear s fitera
51975 9450 2100 600 240 160 2

05. None of these / T8 T F1$ A1

Solution for Question 76

><2 ><2><2><2 ><2
o J e R e
><2 x2x2x2 ><2
113595077 h

S 2 Xz

e e |

» = Kz

e |

Q-77 Find the missing term in the following number series-
5 9 25 73 ? 521

% |t JadT § FF 9% AT Ao -
5 9 25 73 2 521

01. 188 02. 210
03. 180 04. 201
05. 220

Q-77 Find the missing term in the following number series-
enghin 5 9 25 73 ? 521

R s e ® | 77 ;1 A -
5 9 25 73 2 521

01. 188 02. 210
03. 180 04. 201
05. 220

Solution for Question 77

Ans Key: 1

Ans Key: 4

eng/eng 5 9 25 73 201 521

H2X1) H2X2) H2™3) +(2x4) H2°x5)

enghin 5 9 25 73 200 521
H2X1) H2X2) H2'X3) +(2x4) H2%%5)

Q-78 Find the missing term in the following number series-
eng/eng
1620 1600 780 ? 40 -12
e dwea saer § 98 72 9 Ao -

1620 1600 780 ? 40 -12

01. 280 02. 260
03. 240 04. 320



Q-78

eng hin

05. 340
Find the missing term in the following number series-

1620 1600 780 ? 40 -12
9% T e § | 98 AT A -

1620 1600 780 ? 40 -12

01. 280 02. 260
03. 240 04. 320
05. 340
Solution for Question 78 Ans Key: 3
eng/eng 620 1600 780 240 40 -12
+1-20 +2-20 +3-20 +4-20 +5-20
enghin 620 1600 780 240 40 -12
+1-20 +2-20 +3-20 +4-20 +5-20
Q-79 Find the missing term in the following number series-
eng/eng
8 15 28 49 80 ?
R s et | 7 97 7 A -
8 15 28 49 80 ?
01. 123 02. 132
03. 108 04. 232
05. 106
Q-79 Find the missing term in the following number series-
eng hin
8 15 28 49 80 ?
R AT g § 7 98 A1 S -
8 15 28 49 80 ?
01. 123 02. 132
03. 108 04. 232
05. 106
Solution for Question 79 Ans Key: 1
engleng g 15 28 49 80 123
+2+3  +3%+4 +4+5  +5+6 +67+7
enghin g 15 28 49 80 123
+2%43  +3%44 +445  +5%M46 +6+7
Q-80 Find the missing term in the following number series-
eng/eng
7 ? 319 5124 163993
e e @ § 8 98 A9 A -
1 7 ? 319 5124 163993
01. 42 02. 40
03. 36 04. 38
05. 35
Q-80 Find the missing term in the following number series-
eng hin

7 ? 319 5124 163993



e wwaT et § 8 72 S Ao -

1 7 ? 319 5124 163993

01. 42 02. 40
03. 36 04. 38
05. 35
Solution for Question 80 Ans Key: 4
engleng | 7 38 319 5124 163993
X2+5 x22+10 x23+15 x2%+20 x2°+25
73 il 1 7 38 319 5124 163993
X2+5 x22+10 x23+15 x2%+20 x2°+25
Q-81  India is planning to procure 21 MiG-29 fighter jets from which country under its latest defence deal?
engleng  FTEA A TATAAH TeAT H12 6 qad 68 29T 21 T -29 FETE e @A ¥ FIS41 a1 721 82
01. Japan 02. China
ST =T
03. US 04. Germany
05. Russia
«q
Q-81 India is planning to procure 21 MiG-29 fighter jets from which country under its latest defence deal?
AT AT TAATH &7 |I< 6 Tgd (o8 97 7 21 7 -29 F2mg Sie @iiae it Trs1 397 727 82
01. Japan 02. China
ST =T
03. US 04. Germany
0S. Russia
«q
Solution for Question 81 Ans Key: 5

eng/eng India is planning to procure 21 MiG-29 fighter jets from Russia under its latest defence deal.

T ST TAATH YT i F dgd &9 9 21 T 29 T e @eiae & FsT1 a7 72T 8l

India is planning to procure 21 MiG-29 fighter jets from Russia under its latest defence deal.

AT I AAATH LT Hs F dgd &9 9 21 T 29 F=1F Sie @éiae &l FsT1 a7 72T 8l

Q-82 Indian classical vocalist, Pandit Jasraj passed away, he was awarded which award?
o o L e o n\d 1%1_&[_ a_ o o ?
eng/eng  HILATd TST4 ¥4, Qisd \TIH(I\S'IEFFI"IHd,S‘Tg GLEDTL H HHATIAC TondT 741!

01. Padma Shri 02. Sangeet Natak Akademi Award
a7 =it TR AT AFHTEHT [IERTT
03. Padma Bhushan 04. Padma Vibhushan
T S T
05. All of the above
IULE T

Q-82 Indian classical vocalist, Pandit Jasraj passed away, he was awarded which award?

eng hin  WTTAT AT T, G STt 7 (e, 378 e qresnre & weamtaa o o

01. Padma Shri 02. Sangeet Natak Akademi Award
a7 =it TR AT SAHTIHT [IERTT
03. Padma Bhushan 04. Padma Vibhushan
T 0T w2y fersgerT

05. All of the above



ITLh Tt

Solution for Question 82 Ans Key: 5

eng/eng

Indian classical vocalist, Pandit Jasraj passed away. He was born in Haryana in 1930, his musical career spanned eight decades.

ATCA T AT T, GIT STERTST 7 (e 81 AT 1 ST S/ 1930 H FHRATO & g o, 37 &9 VA< 6T [%eTd 375 Ferhi 7 g o)

eng hin  Indian classical vocalist, Pandit Jasraj passed away. He was born in Haryana in 1930, his musical career spanned eight decades.
AT AT T, GTT STEETST 7 (e 21 AT 1 37T S/ 1930 H ZHRATO & g o, 37 &9 H1va< 6T &eTd oS Ferhi 7 g o)
Q-83 Indian Weightlifting Federation (IWF) has recently banned the use of equipment of which country?
engleng WL AT AET&e (IWF) 7 2T & # 36 397 3 ITHL07 % ITANT 0% qfdael a0aT 82
01. Pakistan 02. Nepal
EIEZSICE GEIES
03. Bangladesh 04. US
FATILT ST
05. China
E1G]
Q-83 Indian Weightlifting Federation (IWF) has recently banned the use of equipment of which country?
enghin WL AT AETEH (IWF) 7 2T & § 368 397 3 STH07 % ITANT 02 qfdae a90aT 82
01. Pakistan 02. Nepal
< E H\ q [
03. Bangladesh 04. US
FATILT et
05. China
E1G]
Solution for Question 83 Ans Key: 5
Indian Weightlifting Federation (IWF) has recently banned the use of equipment of China country.
ATLA TS AT HETHE (IWF) 7 21T 21 § =19 297 F ST o6 STANT 9% Tfaeer & =47 2l
Indian Weightlifting Federation (IWF) has recently banned the use of equipment of China country.
ATLA T AT AT HETEE (IWF) 7 21T 21 § H19 297 F ST o STANET 9% Tfaeer &9 =47 2
Q-84 Recently Oil India Limited has received environmental clearance for its exploration project beneath which national park?
T 21 & st iR forfaes & form g S=rme o A ST stearoT IS  forw qartawor w9t fedt 22
01. Jim Corbett National Park 02. Gugamal National Park
5 wide g 3= [ITHS T I
03. Dibru-Saikhowa National Park 04. Kaziranga National Park
Rg-gEmar g 3T TSt AT TS ST
0S. Madhav National Park
HTYE T A
Q-84 Recently Oil India Limited has received environmental clearance for its exploration project beneath which national park?
enghin 2T &t # sitFer 22T ferfoee 1 fm gt = o A= st stearor RSt  forg warieor d faedt 22
01. Jim Corbett National Park 02. Gugamal National Park
[EREIECRSEIREEDIC] T TP I
03. Dibru-Saikhowa National Park 04. Kaziranga National Park
Rg-famEr g 3T TSI TTEHT ST
05. Madhav National Park
HTIT T é RESCIC]
Solution for Question 84 Ans Key: 3
eng/eng  The major exploration by the Qil India Limited beneath the Dibru-Saikhowa National Park of Assam received environmental clearance.
99 o Rg-arsErar Foee qre F A= ataer S forfies g fhw 0 s steerr i gttt S e
eng hin  The major exploration by the Oil India Limited beneath the Dibru-Saikhowa National Park of Assam received environmental clearance.
9o % Rg-arsErar Foee qreh F A= g 2 forfies g fhw o s st wr gataeeft w5 e
Q-85 Recently PhonePe has partnered with which private sector bank on UPI multi-bank model?
eng/eng g‘l?'r’@'ﬁ'PhonePe%UPIﬂ 'c‘l-é’cﬁ‘ﬁ%ﬂ“%\‘{ ﬁsi %ﬁ%é’cﬁ%‘ﬁqﬂ aa f Eﬁ'%?

01. ICICI Bank 02. YesBank



arEEtemEEens d% T §%
03. Bandhan Bank 04. Indusind Bank
05. HDFC Bank
THSTUFRHT
Q-85 Recently PhonePe has partnered with which private sector bank on UPI multi-bank model?
enghin 2T &1 # PhonePe ¥ UPI He21-a% Aise T2 o AT &1 % o F a1y Areray & 82

01. ICICI Bank 02. YesBank
EIESIEIESIEIFEED RCET
03. Bandhan Bank 04. Indusind Bank
05. HDFC Bank
TASITUEAT 9%
Solution for Question 85 Ans Key: 1
eng/eng  PhonePe has partnered with ICICI Bank on UPI multi-bank model.
PhonePe ¥ UPI Heel-5% Aiee 9% ICICI S F HT ATHAST T 21
eng hin  PhonePe has partnered with ICICI Bank on UPI multi-bank model.
PhonePe ¥ UPI #He2l-5 Aiger 9% ICICI S F HT AT 6T 21
Q-86 Recently the central government has launched a scheme for complete solarization of which of the temple?
T BT § &g FRTE o o HTET 3 07 H1eahaor o ol Ua T o i 82
01. Kedarnath Temple 02. Konark Sun Temple
FAEATT AT FomE qF HiGT
03. Khajuraho Temple 04. Akshardham Temple
0S. Iskcon Temple
Q-86 Recently the central government has launched a scheme for complete solarization of which of the temple?
BT &1 | &g g1 e 6T & ot #1eaer & forw s AT 8 it 82
01. Kedarnath Temple 02. Konark Sun Temple
FATTATT HiaT FITE F HiY
03. Khajuraho Temple 04. Akshardham Temple
GETel #iaT FLTTYTH T2
0S. Iskcon Temple
Solution for Question 86 Ans Key: 2

A scheme has been launched by the central government for complete solarization of Konark Sun Temple and Konark town in Odisha.

AR LRI FIT AT H Fmh g FIET T F0meh g% 6 IO HILh0T 6 o0 U FISHT % il TS g

eng hin

A scheme has been launched by the central government for complete solarization of Konark Sun Temple and Konark town in Odisha.

AR FLHTY FIT AT H FHI0T GF FIET T FHI0 g7 6 T AR % {70 T FIST OF T T2 g

Q-87

eng/eng

Q-87

eng hin

Recently which organization has developed a disinfection unit named Ultra Swachh to disinfect a wide range of materials, including Personal Protective
Equipment (PPEs), electronics items, fabrics and others?

BT &1 | T3 1 F ARG Geer ST (FI1S), Tl sirzed, FUE 3T 777 aied ardt it U faeqd @aT flemRigd & & fow
ST T AT FISTUETeA THTS fAsfad T 82

02. DRDO
AEHTTHAT EIEIREIE

03. CSIR 04. ISRO
EIREEIECIR T
05. BARC
FrosmHT
Recently which organization has developed a disinfection unit named Ultra Swachh to disinfect a wide range of materials, including Personal Protective
Equipment (PPEs), electronics items, fabrics and others?

BT 2t & T Tvree F i geer Suaer (FrdiS), Taae e ssed, F92 oY o= gigd aradl &1 U fEeqa gaar fernped & & o
ST TAF ATHE HISTU[ITET SHTS (AT ol 82

01. ICMR



01. ICMR 02. DRDO

AT EEREIE
03. CSIR 04. ISRO
RLLGEIEEIE8 TH
05. BARC
EILEIRET

Solution for Question 87

Ans Key: 2

eng/eng DRDO has developed a disinfection unit named Ultra Swachh to disinfect a wide range of materials, including Personal Protective Equipment (PPEs),

electronics items, fabrics and others.

FATCENAT 7 o] T ATHF U HIeT0eiied THTs fAwtea i g, S st qran sawr (frdie), soeeie sreew, F#92 sie s anfier

2l

eng hin  DRDO has developed a disinfection unit named Ultra Swachh to disinfect a wide range of materials, including Personal Protective Equipment (PPEs),

electronics items, fabrics and others.

FATCENA 7 e T ATHF U HIeTUeied THTs fAatea i g, S st qran sawr (frdie), soeete sreew, F#92 sie s arfae

2l

Q-88 Recently which state government has announced to launch a student centric scheme named as ‘“Padhai Tuhar Para’?

engleng BT ol H [ L7 ALHTT F "IGTE QT2 T ATH & TF T (5 ATSTAT 0% FLed il ST 61 32

01. Bihar 02. Jharkhand
03. Uttar Pradesh 04. Madhya Pradesh
3T T2 HeT 29T
0S. Chhattisgarh
) 1_'4 T3
Q-88 Recently which state government has announced to launch a student centric scheme named as “Padhai Tuhar Para”?

2T &1 H 3 ToF T 9 "TeTs IR U AT 8 UF ST i iad AT 90 Fed T T oor i g2

01. Bihar 02. Jharkhand

03. Uttar Pradesh 04. Madhya Pradesh
IAL TG T T2

0S. Chhattisgarh
'e,\; T H I ©

Solution for Question 88

Chhattisgarh government has announced to launch a student centric scheme named as “Padhai Tuhar Para”.

SITETE HYATY 7 "IETS qaTe TRT" 19 & T BT {xd TS L& FL 200 S0 i gl

Chhattisgarh government has announced to launch a student centric scheme named as “Padhai Tuhar Para”.

FRITENE ALY 7 "IETS @1 TTET" 1 & T BT Fiwd TS L& F 200 S0 i &

Q-89 Recently which state government has signed MoU with industry associations to create 10 Lakh jobs for migrants?
eng/eng ST ol # P T AT WaTfRt % oy 10 @ ST a3 fore =i €6t 3 |rer aoetar a7 07 gEare? By €2

01. Madhya Pradesh 02. Bihar
T T IEFARS
03. Jharkhand 04. Rajasthan

G TSTETH
05. Uttar Pradesh
IAL TR

Q-89 Recently which state government has signed MoU with industry associations to create 10 Lakh jobs for migrants?
enghin 2T &t # B TT57 AT T yaTREt % o0 10 a0 ST a1 & oy =T #9  |1e FHeATa ST 97 e o 82

01. Madhya Pradesh 02. Bihar
HET TR9T IEFARS
03. Jharkhand 04. Rajasthan

EIRCE RELIET
05. Uttar Pradesh
I I

Solution for Question 89

Ans Key: 5

Ans Key: 5

eng/eng UP government signs MoU with industry associations to create 10 Lakh job for migrants.



eft HEHTT T AR o T 10 wrer S a7 F for =T /6y % ATy aHeAar A9 97 geqra? )

eng hin  UP government signs MoU with industry associations to create 10 Lakh job for migrants.
TfY T 7 TETiRE % forw 10 A A a9 o o ST @6t 36 Qe qwsAar A9 97 geqra”
Q-90 Recently which state has launched ‘Balram’ scheme to provide credit to 7 lakh landless farmers?
engleng BT ol # (o T7 F 7 AT SIHETT AT T 07 T&TH FTA 0 (oI TR ATSAT 05 61 52
01. Madhya Pradesh 02. Bihar
HET T2 [EFARS
03. Jharkhand 04. Punjab
EIRCES EEIE]
05. Odisha
EIE
Q-90 Recently which state has launched ‘Balram’ scheme to provide credit to 7 lakh landless farmers?
enghin 2T &t # B\ T 7 7 A1 {AE AT T 07 T FTA 6 oI T8 AT 05 61 82
01. Madhya Pradesh 02. Bihar
HET T2 [EFAES
03. Jharkhand 04. Punjab
05. Odisha
EUER
Solution for Question 90 Ans Key: 4
Odisha has launched ‘Balram’ scheme to provide credit to 7 lakh landless farmers.
AT 7 AT SHET ShETAT &1 0T Y& FE o o7 ram TATH " TTSHET % T g
Odisha has launched ‘Balram’ scheme to provide credit to 7 lakh landless farmers.
ST 7 7 w7 | Tetd TRATHT T ST T&TH 2 o T ram SIE=TH "I 9\[?33&@
Q-91 Recently which state wildlife advisory board has approved proposals for transfer of forest land for the development of roads in Gangotri National Park?
T 15T 3 AT AATEHTY TS F I A9 qTh H TZhi o (90T o (0 a ST o geaia<or & Searal &l Jod1 &1 82
01. Himachal Pradesh 02. Uttarakhand
IECIEERE IqEE
03. Uttar Pradesh 04. Madhya Pradesh
I T HET qa 9T
0S. Haryana
RS IR
Q-91 Recently which state wildlife advisory board has approved pmposdls for transfer of forest land for the development of roads in Gangotri National Park?
T 15T o TSI AATEHTT AT F I A9 qTeh H T 6 (9076 6 (70 a S % geaia<or & Searal &l 7od 1 &1 g2
01. Himachal Pradesh 02. Uttarakhand
[ERIEERE) IATET
03. Uttar Pradesh 04. Madhya Pradesh
ST TR HET T2
05. Harya_na
Solution for Question 91 Ans Key: 2
eng/eng  Uttarakhand wildlife advisory board has approved proposals for transfer of forest land for the development of roads in Gangotri National Park.
IALTEE AT HATEHTE TS o IRAT TS qTeh H TShT o (460 o6 (o0 a7 A 6 gEaiaeor & TEqral Hf Gl @ F 2
eng hin  Uttarakhand wildlife advisory board has approved proposals for transfer of forest land for the development of roads in Gangotri National Park.
IALTEE IS HATEHTE TS o FRAT TS qTeh H TSh! o (461 o (o0 a7 A 6 geaiaeor & TEqral ol Gl @ oF 2
Q-92  Recently which State/UT launched an initiative “SUKOON — COVID-19 Beat the Stress™?
engleng &I ol # (o T157 / Feg AT T34 T “SUKOON - COVID-19 Hiz T #7” ATHF U Tgel L& 17

01. Delhi 02. Jammu & Kashmir
ot ST ST FEHIT

03. Goa 04. Chandigarh
T FENTE



05. Chhattisgarh
EXIGRES
Q-92  Recently which State/UT launched an initiative “SUKOON — COVID-19 Beat the Stress™?
enghin 2T &t # e 57 / %75 aTAT T297 T“SUKOON - COVID-19 Hiz T #8” ATHF UF Teel L& 17

0. Delhi 02. Jammu & Kashmir
et STHY T FeHiT
03. Goa 04. Chandigarh
TrET EEIUE
05. Chhattisgarh
BRATETE
Solution for Question 92 Ans Key: 2

eng/eng  Jammu & Kashmir launches an initiative “SUKOON — COVID-19 Beat the Stress”.
STHY 37T FeHIT 7 TF 92 "SUKOON - COVID-19 &fe T T8 g% T gl

eng hin  Jammu & Kashmir launches an initiative “SUKOON — COVID-19 Beat the Stress”.
STHY 37T FeHIT 7 TF 98 "SUKOON - COVID-19 &fe T &8 0% T gl

Q-93  Recently who has assumed charge as Secretary, Department of Chemicals and Petrochemicals?

engleng BT ol H [H# THIAT ST ULl THTAA [T % &= F €9 H 7349 720 a1 22

01. Suman Rao 02. Arun Singhal
03. Atul Saxena 04. Rohit Malhotra
05. RK Chaturvedi

Q-93 Recently who has assumed charge as Secretary, Department of Chemicals and Petrochemicals?
T 21 & e T #fT Oy warae A F |fE F w0 § gew agr R 22

01. Suman Rao 02. Arun Singhal
03. Atul Saxena 04. Rohit Malhotra
0S. RK Chaturvedi
Solution for Question 93 Ans Key: 5

RK Chaturvedi assumed charge as Secretary, Department of Chemicals and Petrochemicals.
A AQAST 7 THTAT ST TZT T 90T & qf=a F 7§ 93977 T 6|

RK Chaturvedi assumed charge as Secretary, Department of Chemicals and Petrochemicals.
A FqAal o THTAA ¥ 92T LA 90T & qi=d & &7 § 9897 T80 7]

Q-94  Recently who has become the brand ambassador of IDFC FIRST Bank?
eng/eng 2T &t # &9 IDFC FIRST &% T AT GaEST a1 22

01. Akshay Kumar 02. Virat Kohli

03. Rohit Sharma 04.  Amitabh Bachchan
Trfga et Sfearey ag=

05. P.V.Sindhu
ot AT, oy

Q-94  Recently who has become the brand ambassador of IDFC FIRST Bank?
enghin 2T &t # &9 IDFC FIRST &% T &7 GaEST a1 22

01. Akshay Kumar 02. Virat Kohli

03. Rohit Sharma 04.  Amitabh Bachchan
Trfga et Sfeary ag=

05. P.V.Sindhu
ot AT, oy

Solution for Question 94 Ans Key: 4



eng/eng IDFC FIRST Bank has signed Amitabh Bachchan as its brand ambassador.
IDFC FIRST &% T {01 Sg T 379471 7€ TaHeT a9 gl

eng hin  IDFC FIRST Bank has signed Amitabh Bachchan as its brand ambassador.
IDFC FIRST &% T {01 ag T 37947 7€ TaHeT a9 gl

Q-95 Recently who has been appointed as additional judge of Kerala High Court by President Ramnath Kovind?
engleng &Il H TP THATT FHIET G0 F3 IF ATATAT % ATqTch AATeer F =7 § ey fzges fa w22

01. Karunakaran Nair Haripal 02. Sangita Dhingra Sehgal
FEUTHLI ATAL AT TRET ST HEwe
03.  Govind Mathur 04. Sanjay Karol
ULEE IS EERETE
05. B.P. Dharmadhikari
AT . gt

Q-95 Recently who has been appointed as additional judge of Kerala High Court by President Ramnath Kovind?
enghin 2T &l # TP THATT FHIET G F3 IF ATATAT % ATqTh AATeier F = § ey fzges far w22

01. Karunakaran Nair Haripal 02. Sangita Dhingra Sehgal
FEUTHLOT AT FHATA Gfrar ST T
03. Govind Mathur 04. Sanjay Karol
ULEEERIR S GERERIE
05. B.P.Dharmadhikari
Solution for Question 95 Ans Key: 1

Karunakaran Nair Haripal appointed as additional judge of Kerala High Court.
FEVTHLT ATAL ZIATA Tl A2 Ig ~ATATAT T ATA Tk =AraTefter fFgeh B )

Karunakaran Nair Haripal appointed as additional judge of Kerala High Court.
FRVTRLT ATAL ZIATA Tl A2 Ig ~ATATAT T ATA Tk =Araredier =g B )

Q-96 Recently who has launched a Video Blogging Contest titled “My Life My Yoga?
T ot | T “HT Sfrae 527 AR ot & U SR s gfaaiar g% i 82

01. Narendra Singh Tomar 02. Dr. Harsh Wardhan
Tz g amw =T, g qET

03. Amit Shah 04. Narendra Modi

05. Ravishankar Prashad

Q-96 Recently who has launched a Video Blogging Contest titled “My Life My Yoga?
eng hin BT &l § T3 “HIT S{ae #21 AT of o | 0o AT s 1 Faairar 3 it 2

01. Narendra Singh Tomar 02. Dr. Harsh Wardhan
03. Amit Shah 04. Narendra Modi
e e TF T
0S. Ravishankar Prashad
REHERS I
Solution for Question 96 Ans Key: 4

eng/eng “My Life My Yoga” (also called “Jeevan Yoga”) has been launched by the Indian Prime Minister Narendra Modi.
BT Strae AT ART (R <Strae R Y FgT ST 8) ST Teme #3773 Jray g1 % BT @ 2)

eng hin  “My Life My Yoga” (also called “Jeevan Yoga”) has been launched by the Indian Prime Minister Narendra Modi.
BT Sttae AT ART (R «Sfrae R Y FgT ST 8) S Tema #5773 Jray g1 % 367 @ 2)

Q-97 Recently who has launched the web portal of the Garib Kalyan Rojgar Abhiyaan?
engleng BT &l H I FHod T LS ATHAT HT 4 T e Atear fam 22



01. Piyush Goyal

oy T

03. Harshimarat Kaur Badal
AT FIT aEed

05. Dharmendra Pradhan
S T

02. Narendra Singh Tomar

04.  Amit Shah
oo g

Q-97  Recently who has launched the web portal of the Garib Kalyan Rojgar Abhiyaan?
enghin &1 &l # T FeaT0T TS SATHATT HT o TIEe e A 6T 22

01. Piyush Goyal

02. Narendra Singh Tomar

gy T 37 g amw
03. Harshimarat Kaur Badal 04.  Amit Shah
LW FIT a1a e o og
05. Dharmendra Pradhan
THE TETT
Solution for Question 97 Ans Key: 2
eng/eng  The web portal of the Garib Kalyan Rojgar Abhiyaan has been launched by Narendra Tomar.
TR THT FTT TG FHea 107 TSI SATHATH FT 98 GIeed Ated 71 747 2
The web portal of the Garib Kalyan Rojgar Abhiyaan has been launched by Narendra Tomar.
TE AL G T Fed 0 LS ATHAT FT 9a qIee Afe =67 T47 2|
Q-98 Recently who has taken over as Secretary, Ministry of Steel, and Government of India?
BT &1 | [ohE T ST & SE9Td HATAT % Hod 1 TS AT 82
01. Devendra Mehra 02. Govind Shukla
03. Pradip Kumar Tripathi 04.  Amit Singhania
TET FATE BTt srfee et
05. Ambuj Srivastava
Q-98 Recently who has taken over as Secretary, Ministry of Steel, and Government of India?
A &1 | 3ha T ST & 3E9Td HATAT % qud 7 TS AT 82
01. Devendra Mehra 02. Govind Shukla
03. Pradip Kumar Tripathi 04.  Amit Singhania
05.  Ambuj Srivastava
EEERIEIE]
Solution for Question 98 Ans Key: 3

eng/eng

Pradip Kumar Tripathi has taken over as Secretary, Ministry of Steel, and Government of India.
TET HHATE FPOTET T AT AEFRTE F TEATT HATAT 5 Fod FT TIHTE TATAT 2

eng hin

Pradip Kumar Tripathi has taken over as Secretary, Ministry of Steel, and Government of India.
TET HHATE FPOTET T AT AERTE F TEATT HATAT 5 T FT TIHTE THTAT 2

Q-99

eng/eng

Q-99

eng hin

Recently who inaugurated ‘ Aatma Nirbhar Uttar Pradesh Rojgar Abhiyan’, the largest employment generating program in the country?
BT &1 | T97 § T F=T TSR oI HTAHH, ATCHT (Y ITT T TSI ST 7 I5TeA fohe a2

02. Narendra Modi
T AR

04. Amit Shah
o g

01. Prakash Javadekar
THRTT ATAZHL

03. Nitin Gadkari
[BIRE R EEa
05. None of these
TAH IS T
Recently who inaugurated ‘ Aatma Nirbhar Uttar Pradesh Rojgar Abhiyan’, the largest employment generating program in the country?
BT &1 | T97 § T T=T TSR oI HTAHH, ATCHT (THY ITT T TSI ST 7 I5Ted fohae a2



01. Prakash Javadekar 02. Narendra Modi

THRTIT TATAZHT TV AqIET
03. Nitin Gadkari 04. Amit Shah

fAfaT et fHT oTe
05. None of these

TAH FFIE TR0

Solution for Question 99

Ans Key: 4

eng/eng  Narendra Modi inaugurated ‘Aatma Nirbhar Uttar Pradesh Rojgar Abhiyan’, the largest employment generating program

in the country.

Mg A ST F FIH T3 AR Foled HIRHHA, A AR 3R w6 VR AfRIAF &1 3gTea fomam|

eng hin Narendra Modi inaugurated ‘Aatma Nirbhar Uttar Pradesh Rojgar Abhiyan’, the largest employment generating program in the country.

TG A A U F FH T3 VIR oI PRshA, ATeAT AR 3R GST AeiaX AfFAT &1 3g1eA fova|

Q-100 Recently World Bank Group has approved how much amount under STARS Program?

engleng &1 ot # {3 & #HE T STARS FTHHH g fhaeit 1A F=Fd i 22

01. USD 500 Million 02. USD 400 Million
USD 500 fafera= USD 400 fafers
03. USD 300 Million 04. USD 200 Million
USD 300 forferm USD 200 faferm
05. USD 100 Million
USD 100 farfer=

Q-100 Recently World Bank Group has approved how much amount under STARS Program?

2T 21 #§ forsa 5 a9 T STARS A% o dgd fhawt T1fer w=ega it &2

01. USD 500 Million 02. USD 400 Million
USD 500 fafera= USD 400 faferre
03. USD 300 Million 04. USD 200 Million
USD 300 fafer= USD 200 faferm
05. USD 100 Million
USD 100 fafera=

Solution for Question 100

World Bank Group Approves USD 500 Million under STARS Program.
s 5 A9 T STARS FHH & dgd USD 500 A= #1 e

World Bank Group Approves USD 500 Million under STARS Program.
o % @ 9 STARS FTIHH & qgd USD 500 THferae #T srqeia fham

Q-101 Researchers of which IIT have discovered new ways to prevent memory loss due to Alzheimer?
TR ATEEET eI T2 T o L0 ST g T T & (70 7T qé0 il @I Al 82

01. TIT Guwahati 02. TIT Madras
ATEHATELT TATZET ATEAEET AITH
03. [T Bombay 04. IIT Kanpur
ATSATSET e AEATEET FTHAIE
05. TIT Delhi
EIEE I AR il

Q-101 Researchers of which IIT have discovered new ways to prevent memory loss due to Alzheimer?

eng hin T SATEATEET T AoTZHT 5 FTLOT TG T FT AFA F o0 70 6% A7 =it 71 82

01. TIT Guwahati 02. TIT Madras
ATEATEET ATRTET AEATEET AITH
03. [T Bombay 04. IIT Kanpur
ATSATSET e AEATEET FTAI
05. TIT Delhi
EIEE AR il

Solution for Question 101

Ans Key: 1

Ans Key: 1

eng/eng  Researchers at the Indian Institute of Technology (II'T) Guwahati have discovered new ways that can help prevent or reduce short-term memory losses

associated with Alzheimer’s disease.



AT TRITTRT HETe (1T) AT % STEha sl & 70 8 Giot @ ST ST TSHY T & ST AeTFhTiors T g T el AT FH F7 § A
T qHA Bl

eng hin  Researchers at the Indian Institute of Technology (IIT) Guwahati have discovered new ways that can help prevent or reduce short-term memory losses
associated with Alzheimer’s disease.
ATLAT TRITHRT HEAT (1T) [EATETE % STERa sl § 70 a8 Giof @ ST STeATSHY TN & ST ATFT ol T ZT T el AT FH F77 H HE
T qHA B
Q-102  The Defense Acquisition Council (DAC) has recently approved a proposal to acquire how many new fighter aircraft from Russia?
eng/eng AT AU TRWE (DAC) ¥ 211 &1 § ®F & e 70 =g FHT ITH FT % T8 67 697 1 82
01. 20 02. 26
03. 33 04. 28
05. 15
Q-102  The Defense Acquisition Council (DAC) has recently approved a proposal to acquire how many new fighter aircraft from Russia?
enghin &7 AR 7WT (DAC) 7 211 &1 § = & e 70 A=t f&H IT6 A  T&q7 1 7S a1 &2
01. 20 02. 26
03. 33 04. 28
05. 15
Solution for Question 102 Ans Key: 3
The Defense Acquisition Council (DAC) has approved a proposal to acquire 33 new fighter aircraft from Russia.
TeAT ATEUZO T (DAC) 7 %4 § 33 70 AT [T IR A % TEAT A1 {1 2 &1 2
The Defense Acquisition Council (DAC) has approved a proposal to acquire 33 new fighter aircraft from Russia.
TeqT ATEIRI T WE (DAC) F 9 & 33 AU AT AT 118 2 & TEqTd H ALl 2 & 2
Q-103 The Reserve Bank of India announced a Rs 15,000-crore line of credit to the Export-Import Bank of India to help the sagging foreign trade, where is the
headquarter of EXIM Bank?
e Toore d 7 et =4I &7 9= § qeE A F (70 UHUE-2aIe S S EISAT F7 15,000 FAE TG T ATET 1 =001 T, U
T AT 2157
01. New Delhi 02. Mumbai
03. Lucknow 04. Chennai
TGS EEES
05. Kolkata
Q-103  The Reserve Bank of India announced a Rs 15,000-crore line of credit to the Export-Import Bank of India to help the sagging foreign trade, where is the
headquarter of EXIM Bank?
T e §F 7 Aot 29I i g § 9EE wA F o7 UAae-291E S 3 SIAT &7 15,000 FE €A T AT T =roor £, vleay g%
FT q{EATAT Fgl a2
01. New Delhi 02. Mumbai
TE faeedy e
03. Lucknow 04. Chennai
EICEE EEH
05. Kolkata
FHIAHTAT
Solution for Question 103 Ans Key: 2
eng/eng The Reserve Bank of India (RBI) announced a Rs 15,000-crore line of credit to the Export-Import Bank of India (EXIM), to help the sagging foreign
trade.
WA 1 ST Soh(MREATRMTE) 7 AR raTa- At Ssh(uiEeTd §) 7 15000 T €I 7 st o 7 TATT {5037
eng hin  The Reserve Bank of India (RBI) announced a Rs 15,000-crore line of credit to the Export-Import Bank of India (EXIM), to help the sagging foreign
trade.
A 1 RS Soh(Teme) 7 Iy Srara- At S §%) 7 15000 FIE €90 7 st o w1 TATT {563
Q-104  The theme of International Day for Biological Diversity 2020 is “Our solutions are in nature”, it is celebrated on which date?
eng/eng St fafaear & forg siaigia fRaw 2020 7 oo gamT swram w6 § €, 78 B ara F1 791 S 82

01. 21st May 02. 22nd May
21 9% 229



03. 15th May
1598
05. 10th May
109%

04.

28th May
28 9%

Q-104  The theme of International Day for Biological Diversity 2020 is “Our solutions are in nature”, it is celebrated on which date?

eng hin ST e 3 fore siqeidia Ram 2020 %7 oo gomr awmeaT w6 § &, 78 Fre i &7 w=mm s &2

01. 21st May 02. 22nd May
21 9% 22WE
03. 15th May 04. 28th May
157 289%
05. 10th May
109E
Solution for Question 104 Ans Key: 2
eng/eng International Day for Biological Diversity celebrated on 22 May.
22 72 &7 fae g 92 7 S faferear % fore sfaeigi fiaq & €9 § 79737 91t 21
eng hin  International Day for Biological Diversity celebrated on 22 May.
22 7 &7 f3= g 92 7 S fAferear % fore sfaeigiy fdaq & &9 § 749737 917 21
Q-105 The theme of World Milk Day 2020 is “20th Anniversary of World Milk Day”, it is celebrated on which date?
o gre fRaw 2020 1 forory “fasa gogr feaw 6t 20 1 aviwris” 2, 78 e fafer st sam sran 82
01. 4th June 02. [stJune
45T 15
03. 10th June 04. 7th June
10 S 7 S
05. 31st May
31\E
Q-105 The theme of World Milk Day 2020 is “20th Anniversary of World Milk Day”, it is celebrated on which date?
s gegr famer 2020 F7 o <o 3o feaw 1 20 & awWris” g, 7 o [t &1 a9y Smar g2
01. 4th June 02. [stJune
45 LS
03. 10th June 04. 7th June
10 S 7 S
05. 31st May
319%
Solution for Question 105 Ans Key: 2

World Milk Day celebrated on 01st June.

g g feaw 01 S =1 79T ST 21

eng nin  Worid Milk Day celebrated on 0ist june.

o 3 feaw 01 S &1 /AT ST 21

Q-106 The Union Cabinet extended the Pradhan Mantri Vaya Vandana Yojana a social security scheme for senior citizens, till which year?

engleng FATT WIAHSH o TeITH HAT FF FIAT AISIAT 1 TS AT % For0 TF ATATISF AT TISAT (36 TG TF 937 412

01. January, 2023
STET, 2023

03. July, 2022
ST g, 2022

05. March, 2023
T, 2023

02.

04.

December, 2023
fegew, 2023
April, 2022
37T, 2022

Q-106 The Union Cabinet extended the Pradhan Mantri Vaya Vandana Yojana a social security scheme for senior citizens, till which year?

enghin  FATT HIEAHSH F TeTH HAT FF FIAT AISHAT 1 AT TR % o0 TF ATATTSF TLAT TISHAT (367 TG TF 937 212

01. January, 2023
SEET, 2023

03. July, 2022

TS, 2022

02.

04.

December, 2023
fegeT, 2023
April, 2022
7T, 2022



05. March, 2023
T, 2023

Solution for Question 106

Ans Key: 5

eng/eng

The Union Cabinet extended the Pradhan Mantri Vaya Vandana Yojana (PMVVY), a social security scheme for senior citizens, for three years till March,

2023.

FLTT WA 7 ARG ARG T ATATE AT § ST TFHAT a7 d&AT1 TroT (Froaatdiars) £ srafer a1+, 2023 T O a1t % o sie

e &l

eng hin

The Union Cabinet extended the Pradhan Mantri Vaya Vandana Yojana (PMVVY), a social security scheme for senior citizens, for three years till March,

2023.

FAT AEFESA 7 TS ARG T AT AT F S[ET TEAHAT a7 @1 JroT (Fuaateiars) i st 91, 2023 T 0 91 6 o 37T

T AT

Q-107

eng/eng

Q-107

Which Indian tennis player has won the PSD Bank Nord Open Tennis tournament in Germany?

e At 2fRe @St 7 ST § PSD & 7S S S gAtHe Star 82

01. Aditya Mehta 02. Sania Mirza
e Fgar LUERIREEI
03. Yuki Bhambri 04. Saina Nehwal
REARICE HTAT AgaTd
05.  Sumit Nagal
T AT

Which Indian tennis player has won the PSD Bank Nord Open Tennis tournament in Germany?

o et 2| faerEt 3 ST § PSD 9% q1€ & 299 A He STar g2

01. Aditya Mehta 02. Sania Mirza
ArfaeT wgar CIHERIAEET
03. Yuki Bhambri 04. Saina Nehwal
0S.  Sumit Nagal
T qARTe

Solution for Question 107

Q-108

Q-108

eng hin

Sumit Nagal tennis player has won the PSD Bank Nord Open Tennis tournament in Germany.
AT TR 7 THAT § FOHST S AqTS 9T 49 SAHE ST (o137 gl
Sumit Nagal tennis player has won the PSD Bank Nord Open Tennis tournament in Germany.

T AN 7 THAT & FTUHST S AT A9 A g sid foram g

Which of the Hockey player has been recommended for the Rajiv Gandhi Khel Ratna Awards?

TTSIe ITTeft @t T QAT o for gieht o forey faereT ot ferrfer & 7€ 82

01. Navneet Kaur 02. Mandeep Singh
EECIRICIES T fie

03. Birendra Lakra 04. Rani Rampal
faves @t TAT AT

0S. Surendra Kumar
@g >

Which of the Hockey player has been recommended for the Rajiv Gandhi Khel Ratna Awards?
TTSe Teft @ T QAT o for gieht o forey faarsT ot fererfer & 1 82

01. Navneet Kaur 02. Mandeep Singh
GERISEILS HIT g

03. Birendra Lakra 04. Rani Rampal
o et T T

0S. Surendra Kumar
W >

Solution for Question 108

Ans Key: 5

Ans Key: 4

eng/eng  Hockey India recommended India Women Team Captain Rani Rampal for the Rajiv Gandhi Khel Ratna Awards.

gieht 2R 7 Trstia ieft &t v et & forw e ¥ wigar S £ Fam aet aaare i e £

eng hin

Hockey India recommended India Women Team Captain Rani Rampal for the Rajiv Gandhi Khel Ratna Awards.
BT SR 7 TSt et @ T et & forw s & afgar w0 & A T Taare i e




Q-109  Which state government has launched “Rajiv Gandhi Kisan Nyay Yojana on 21st May on the death anniversary of former Prime Minister Rajiv Gandhi?
engleng THE ST FLAHIT A 21 WE HT T4 TTAHAT TH1F T 67 Tty 92 "Trsiia Tt e =y arsmr o0 7 82

01. Rajasthan 02. Tamil Nadu
TISTEATT g

03. Kerala 04. Madhya Pradesh
FTA e T

05. Chhattisgarh
BRGNS

Q-109  Which state government has launched “Rajiv Gandhi Kisan Nyay Yojana” on 21st May on the death anniversary of former Prime Minister Rajiv Gandhi?
enghin T 5T FTHIT A 21 WE AT T4 TLTAHAT 119 T 67 Tafafer 72 "arsita Tt e =y arsmr o0 $i1 82

01. Rajasthan 02. Tamil Nadu
TISTEATT Ty

03. Kerala 04. Madhya Pradesh
FTA e T

05. Chhattisgarh
BRATEE

Solution for Question 109

Ans Key: 5

Chhattisgarh government has launched “Rajiv Gandhi Kisan Nyay Yojana’ on the occasion of death anniversary of former Prime Minister Rajiv Gandhi.

SRITNTE AYARTY F TF TLTAwT TTsiia et 7 quafafsr & srea ax "arsta Tieft e =1 Fsmr &7 e T 21

Chhattisgarh government has launched “Rajiv Gandhi Kisan Nyay Yojana’ on the occasion of death anniversary of former Prime Minister Rajiv Gandhi.

TRITTE ALY F TF TLTAwT TTsfia et 7 quafafsr  sreaa ax arsta Treft e = Fismr &1 o T 21

Q-110  Which Union Territory has celebrated its 59th anniversary of the “De-Jure” day on 16th August?

16 ST &7 foh &7 QT8 TR9T 7 “F-Sae &g iy 59 Af aWiis /AT 872

01. Delhi 02. Andaman & Nicobar
03. Lakshadweep 04. Puducherry
terdr S
05. Daman & Diu
T AT AT
Q-110  Which Union Territory has celebrated its 59th anniversary of the “De-Jure” day on 16th August?
shin 16 ST T TR g omTiRra wrRer 7 “3-S[are” faas i 59 A awris 94T 82

01. Delhi 02. Andaman & Nicobar
feeett EELICIC ENCEACIES

03. Lakshadweep 04. Puducherry

a’ E\)
05. Daman & Diu
T AT AT

Solution for Question 110

Ans Key: 4

eng/eng  The Union Territory of Puducherry has celebrated its 59th anniversary of the “De-Jure” day on 16th August.
FFLATIET T TG 7 16 3T HT “I-5 F&a® it 59 Af aWiris 74T% 2

eng hin  The Union Territory of Puducherry has celebrated its 59th anniversary of the “De-Jure” day on 16th August.
FZATIET T TG 7 16 3T HT “I-5 FZa® it 59 Af FWris 74T% 2

Q-111  World Hydrographic Day was observed every year on .

eng/eng g g ay T FATIT SATET 2T
01. June21/21 S 02. June 20/20 7
03. June22/22 A 04. June 19/19 7
05. June23/23 S

Q-111  World Hydrographic Day was observed every year on )

eng hin

TSI faae gTad T HATAT STTET A7)



01. June21/21 S 02. June 20/20 [
03. June22/22 5 04. June 19/19 57
05. June23/23 S
Solution for Question 111 Ans Key: 1

eng/eng  World Hydrographic Day is observed annually on June 21 to highlight the importance of hydrography & its relevance in our lives.
Theme - ‘Hydrography Enabling Autonomous Technologies’.

o grsgianthe fead AR Sad & FS3EmhT 3R SHEAT UrEhdl & HAgcd N 3PR aX @ Tolt Arelel 21 S H AT ST &l
N - ETEITh HaTH TAIT vt |

eng hin  World Hydrographic Day is observed annually on June 21 to highlight the importance of hydrography & its relevance in our lives.
Theme - ‘Hydrography Enabling Autonomous Technologies’.

a1 gregtanfthes feaw AR Shad 3 Frsgiamhr 3K sHdr UfAihdr & HAecd $l 3PR ¥ & fov AT 21 S @Dl AART STl &
NA - gTSSITH HeTH Tarza Tafady |

Q-112  In which state Mount Abu Wildlife Sanctuary is located?
engleng WTSE S =TT AHATL Ty o7 H ooy 32

01. Gujarat/T[s2Td 02. Rajasthan/TTSTEAT
03. West Bengal/af2re sTer 04. Jharkhand/AATTEE

05. None of these/TTH | s Tl
Q-112  In which state Mount Abu Wildlife Sanctuary is located?
TTSE g A= 19 AAATOT fohet 1157 § oo 2

01. Gujarat/T[sTZTd 02. Rajasthan/TTsTETT
03. West Bengal/Tf% a¥TTer 04. Jharkhand/AATEEE
05. None of these/ZaH & FTS qGT
Solution for Question 112 Ans Key: 2

Mount Abu Wildlife Sanctuary is located in one of the oldest mountain ranges of India, the Aravalli range. It was declared a wildlife sanctuary in
1980.Mount Abu is one of nine Ecological Sensitive areas (ESAs) situated in the state of Rajasthan.

TS AT A9 STHATIIR AT ol Had T T d @1 | F U Sqael] of § (#9q g1 38 1980 H UF Fas(19 a0 "o =51 7w
AT| TTSTEATH % TT57 ¥ T2 A1 qrifearfas gaaasiier &= (Sua0) § 9 UF ag g

Mount Abu Wildlife Sanctuary is located in one of the oldest mountain ranges of India, the Aravalli range. It was declared a wildlife sanctuary in
1980.Mount Abu is one of nine Ecological Sensitive areas (ESAs) situated in the state of Rajasthan.

TS ST AvSE ATITIOT I il T [T TId AT | F T TITAAT o7 § BAd g1 T8 1980 H U F=goiia STAATLOT =Hfua T 17
AT| TTSTEATE & T7 ¥ Toorq At i feartas gagaefie &= (Suan) § 4 UF ag gl

Q-113  World Music day was observed annually on

EEEUCAEEERIGER T HATIT STTAT A7)
01. June21/219A 02. June 20/20 5
03. June22/229A 04. June 19/19 A

05. June 23 /23 S

Q-113  World Music day was observed annually on .
eng hin 3T &fa s gfaad T HATAT ST =T

01. June21/215H 02. June 20/20
03. June22/22 S 04. June 19/19
05. June23/23 5
Solution for Question 113 Ans Key: 1

eng/eng  World Music Day is celebrated annually on June 21 around the world to honour amateur and professional musicians. The day aims to provide free music to
everyone & to promote peace and spread goodwill through music.

o TfTa e Ifaay 21 S &1 AT AT § ST SiT T90aT S aeprel i SEATT L o (o0 AATAT SITar g1 & 7 3297 77 7 o S¥0a
TR AT § S Tifr T FErar <47 i< &  ATeaw F TgraaT BT gl

eng hin ~ World Music Day is celebrated annually on June 21 around the world to honour amateur and professional musicians. The day aims to provide free music to
everyone & to promote peace and spread goodwill through music.

o @fiq feem Ifaed 21 S 1 gfFaT 9% 8 9 RRaT ST U9ra SRTIaeRt< sl TEATT % o (o1 HATIT STar | T3 1 297 |eit T qord |9tia



T FEAT 2 ST 97T T T@TaT 34T < Fiid % A1 F Tgrae1 Herr gl

Q-114

eng/eng

Q-114

eng hin

Where is the HQ of United Nations World Fopd Programme located?
T g o7 FTar FAFH H7 TS Tl Ad 82

01. Geneva/Si=aT 02. Paris/af
03. Vienna/fa==T 04. London/&aw
05. Rome/T®

Where is the HQ of United Nations World Food Programme located?
T Y e AT FTEFH T qeATad Fgl 29d 82

01. Geneva/Si=aT 02. Paris/afe
03. Vienna/fag=T 04. London/eT==
05. Rome/TIH
Solution for Question 114 Ans Key: 5
eng/eng The HQ of United Nations World Food Programme located at Rome, Italy.
T4, Zeat | Roq weh g foed arer Fraw 7 gearad|
eng hin  The HQ of United Nations World Food Programme located at Rome, Italy.
T, TEAT | 2 Hh Y 30 @ FTaaH 7 JeaTad|
Q-115 Who is the present MD&CEO of Yes Bank?
T & F TAATT THST AT {2 i 22
01. Neeraj Dhawan/1%sT &&= 02. Ashish Agarwal/=ITefT™ sRrETA
03.  Prasanth Kumar/91id AT 04. Ravi Kumar/Tfaf FAT
05. Pinaki Ghose/f9=TshT =TT
Q-115 Who is the present MD&CEO of Yes Bank?
01. Neeraj Dhawan/f1%sT &+ 02. Ashish Agarwal/sTefTe SRIaTe
03.  Prasanth Kumar/J9Td FHHTY 04. Ravi Kumar/7fa FATY
05. Pinaki Ghose/fa=TehT =T
Solution for Question 115 Ans Key: 3

1g/eng  The Yes Bank Limited is an Indian public bank headquartered in Mumbai, Maharashtra. The RBI later reconstructed the board and named Prashant

Kumar former Chief financial officer of SBI as new MD & CEO at Yes Bank.
TH 9% [IHES UF AT ATASF 9 ¢ [STEhT GEATad Has, HeTg | 8| ALATSTS o 7% § a1S T TAAT07 (6T SiY THeies % 3 97
o STfSraTT T AT 1 T9 o | 70 UHST ofiT HISHAT 6 &9 § ATH (67
The Yes Bank Limited is an Indian public bank headquartered in Mumbai, Maharashtra. The RBI later reconstructed the board and named Prashant
Kumar former Chief financial officer of SBI as new MD & CEO at Yes Bank.
79 & forfies v aed arEstfaeE d 8 R geames §as, Agerg § 81 eEiers 9 918 § v w7 e ator G o et F @ ger
ot STfesrTY Worid AT AT T 9% § U UHST i HEA F =T | A7 671

Q-116  Where is the HQ of UCO bank located?

engleng THT 3F T AEATAT Fgt (47 22
01. Hyderabad/gz¥TaTa 02. Pune/ToT
03. Mumbai/Has 04. Kolkata/HTeTdT
05.  Gurugram/T=ImH

Q-116  Where is the HQ of UCO bank located?

enghin  THT 3% FT &ATAT Fgt o 2
01. Hyderabad/g2¥TaTE 02. Pune/Tor
03. Mumbai/Has 04. Kolkata/HTeAFTaT
05.  Gurugram/T&UTH

Solution for Question 116

Ans Key: 4

eng/eng

The HQ of UCO Bank located at Kolkata, West Bengal.
FIAFTAT, T A | T THT S F7 AT



eng hin

The HQ of UCO Bank located at Kolkata, West Bengal.
FTARTAT, TIEH S § R TahT 5 7 JEATag|

Q-117

eng/eng

Q-117

eng hin

What is the constituency of Narendra Singh Tomar?

Tz foig e &1 Fat= o = g?

01. Lucknow/a&«3; 02. Patna Sahib/TeAT AT
03. Morena/q¥AT 04.  Ambala/sfaTeT
05. Rae Bareli/TTa¥at

What is the constituency of Narendra Singh Tomar?

Tz g T &1 Fat= o F=r g?

01. Lucknow/sT&+ 3 02. Patna Sahib/TeAT AT
03. Morena/q¥AT 04.  Ambala/z{aTeT
05. Rae Bareli/TTaa¥et

Solution for Question 117 Ans Key: 3

eng/eng

Narendra Singh Tomar constituency 'Morena, Madhya Pradesh./A3% f8g T fFat=m & {1, e 29Tl

eng hin

Q-118

Q-118

Narendra Singh Tomar constituency 'Morena, Madhya Pradesh./A3% T8g ¥ [HaT= & {1, e 97|

Who is the present president of Singapore?/f&i < F FTATT TP FIeT 22

01. Emmanuelle Mignon/sHue fHe 02. Julie Payette/S[eT Tete
03. Grazia Zafferani/ITH T FTHITH 04. Halimah Yacob/geitH AT

05. Sandra Mason/HgT H&
Who is the present president of Singapore? muw F FAYTT g HIT 27

01. Emmanuelle Mignon/ZHau oo 02. Julie Payette/S[eiT Tete
03.  Grazia Zafferani/ITe =T FTHITHT 04. Halimah Yacob/geiq ATa
05. Sandra Mason/SgT H&+

Solution for Question 118 Ans Key: 4

Singapore Prime Minister Lee Hsien Loong on recently announced snap general elections to allow a fresh five-year mandate. President Halimah Yacob to
dissolve Parliament and issue the writ for election, 10-months ahead of the schedule.

TR % ey w=ft ot FRET &0 9 T &1 § T &1 o6 AT 0 AGA o F foIT AT FATE ¥ =S0or 7| TP gei® TrRa F T9e H7 47T
FLA ST FATE  forw e ST Fw = forw, STg= 7 10 ALl 30|

Singapore Prime Minister Lee Hsien Loong on recently announced snap general elections to allow a fresh five-year mandate. President Halimah Yacob to
dissolve Parliament and issue the writ for election, 10-months ahead of the schedule.

TERTTYR o STerm #3(T off R 31 o @11 &1 # T |1 o ATl 0 STAATA < o (70 STH FATAT o0l S0 ohT| AT g7 AT o FHE [ 7T
3 3T T ¥ o P T e ¥ o, skt & 10 WYY s

Q-119

eng/eng

Q-119

eng hin

Where is the HQ of United Nations Relief and Works Agency for Palestine Refugees in the Near East (UNRWA) located?
A%z 7@ (UNRWA) # forferedt=r ereortfaiat 3 fore g7 11y Trea i fAwior usiHt &1 qeamarg #gf fRuad g2

01. Amman/sT# = 02. Gaza/ATTsIT
03. Madrid/Afse® 04. Both 1) and 2)/ T 1) 3T 2)

05. Both 2) and 3) / T4 2) 3T 3)
Where is the HQ of United Nations Relief and Works Agency for Palestine Refugees in the Near East (UNRWA) located?
e 99 (UNRWA) # TRfered I sreorfeiat 3 forg S3<h 71 T1ed Sire Raior Ui 7 geamad Faf 09d g2

01. Amman/sT#= 02. Gaza/ATTSIT
03. Madrid/Af3e 04. Both 1) and 2)/ T 1) 3T 2)
05. Both 2) and 3) / T 2) 3T 3)

Solution for Question 119 Ans Key: 4

eng/eng

The HQ of United Nations Relief and Works Agency for Palestine Refugees in the Near East (UNRWA) located at Amman, Jordon & Gaza, Israel.
TS  ATHTH, STTe ¥ T 7 fRord e 99 (UNRWA) # Frferedie ereomfai=i 3 foro wer g wred e fAmior usi=h =1 g

eng hin

The HQ of United Nations Relief and Works Agency for Palestine Refugees in the Near East (UNRWA) located at Amman, Jordon & Gaza, Israel.
TS AT, STTe ¥ T 7 o e 79 (UNRWA) & Frferedier ereomfai=i 3 foro wr g wred e fAmior usi=h =1 g




Q-120 Who is the Ministry of Statistics & Programme Implementation (MoSPI)?
engleng  FITEAHT ST FTAFH FTA T HATAT (MoSPI) F17 2

01. Rao Inderjit Singh/7T F5stia fig 02. Thawar Chand Gehlot/aITa¥ = TgeATd
03. Mahendra Nath Pandey/Hg% T 972 04. Raj Kumar Singh/TTsT FAT fig

05. Santosh Kumar Gangwar/Sd T FHTT
LUEIES

Q-120 Who is the Ministry of Statistics & Programme Implementation (MoSPI)?
eng hin ST ST FTHFHH FTATAT HATAT (MoSPI) F17 2

01. Rao Inderjit Singh/TT 5= f&g 02. Thawar Chand Gehlot/aTa¥ =< TgaATd
03. Mahendra Nath Pandey/Ag% T 972 04. Raj Kumar Singh/TTsT FATY fig

05. Santosh Kumar Gangwar/SdTT FHHTT
UREIES

Solution for Question 120 Ans Key: 1

eng/eng  Rao Inderjit Singh is the present Ministry of Statistics & Programme Implementation (MoSPI).
T TSI g aqHT FIeht 3T FTAHH HI a9 HATT (MoSPI) 2

eng hin  Rao Inderjit Singh is the present Ministry of Statistics & Programme Implementation (MoSPI).
T4 ZESid (HE FqHTT HieTeht AT HAHT wra=ad= T=red (MoSPI) 2l

Passage for Question 121, 122, 123, 124, 125 (ST-2077 RRB CLERK MAINS E (1-5) 2020)
eng/eng Passage

In the following passage, there are blanks each of which has been numbered. These numbers are given below the passage and against each, four
words have been suggested. Find out the appropriate word(s) in each case and mark your answer accordingly.

If 7.35% wasn’t bad enough, here is 7.59%. Old (P) inflation is back to haunt the Reserve Bank of India (RBI) but this time there isn’t much
power in it. Also, the reasons are pretty much known and (Q) by the central bank. Vegetables are yet to get cheaper and therefore remain the
biggest contributor behind the 7.59% headline consumer price index inflation for January. This is expected to change henceforth as prices have been coming down
off late. “The January reading of headline CPI however, is likely to be its peak and going ahead headline inflation should ease, driven by the ongoing reversal in
vegetable prices on higher production of major vegetables," said Chief Economist of IndusInd Bank. But the story beyond vegetables should also give some bad
moments to the RBI. Prices of milk, pulses, cereals, edible oils, sugar, eggs, meat and fish are on the rise. While rabi output could ease pressure from pulses and

cereals, other items could still remain firm for some more time. Core inflation, that (R) the demand in the economy and is a key input for monetary
policy, has begun its climb up again. Core inflation is now within a hair’s breadth from 4%. Much of the rise in core is attributed to the recent tariff hikes by telecom
companies and price increases of a few drugs. But in an economy where capacity (S) is near 70%, the upward pressure on core inflation is likely to

(T), analysts argue. Given that food inflation is on the downward path and core inflation is little reason to power ahead, most expect the headline
inflation to drop from here on.

eng hin Passage

= fagag wreria # g8 frw eama e fru e € aarsw v dear @ gafaraa18)1 T deard werna F f= giya §, stewd@ s % awa (@),
@), @), (@) AT (@) FFAFer RTTT I A N A G FIT CFHF T NHFEATTF TR TATA F GH A STLH ST [T HTIAT | MTHT T fFarsveq
T HIATE A TSHRT HATH T ST H TTH IATAT ]| AAFT (T AT FAheqi & § G SULH FT AT FIATZ

FF TR A UF VAT BT od g0 STH-HeH T 8 HIGGT 7 =02 370 2T ¥ T5F FT (AT &1 FHEQTred &=1-STe-FeHT Ud T2 %
] F FTA F AT 471 20 G2 § T9E T THL-FH9H T FEaTF. L @)..... TR FT 237 81 77 e ggor At § ${T 56 a8 A ar §
TIA g3 T2 e ST-FH9H1T & =g 370 F STTEaha STaeTe GHIH Fid, ST HLHI HT [ALTHEHT aTeT S Ted &7 3T Agrd 1 foaT et
FTAT FRATIT & TATT FT TG FLAT 81 T 7T | A= 370 (1) BT AT T, lavnna(Tece. T TH-FLHIT F 0T FTT T4 & HeAferT 81 STHA-
FHIT TEHTT T THHT TTET 97 FoRAT| 17 STRaw, 1949 T =g 370 AT S 1 0T a1 20 sq=as #1 dfaa § ofifF 7 ... (@).cwnen. TIE
FT SEAHTA 2 g AT TR AT 971 37 39 ®F H AT ST AT ST G6aT § STH-HH T AT TAT F1 6 T&A, ZeTT AT L@ T ATTHT =TI
T 9T T TH AR TG T AT TFAT) T80 AAT9T T T TF & ford U Sqiew sqaea g1t 1% of, St a o aoft faeam=i 1 anfaet #2 wevdiv
T, T SATAH THTETT Tol (Hhe ATl 9 &l ATTeE 370 ST ol 2, T o7 38 T T ST a1 81 THeeennn (@) 1 TR H ST THI-HLT
Tferee T T TgAtT F @A AT ST T g1 STE-FeH <1 AR H Ao w7 T w1 8- -7 o aEre 9| T T SO e SR T1e
BT ST-FH9HT H e grft, A Tera § ramear 981 gRi| sriq STF-FeHIT § ST GERTE FeiT, AT Aard 6l His ST qYhT Tal
BRI STRL-FH9HIY FT ST ST T2 81 TAT &, A gl A T A€ AN T ST-FH9FH AT ST FHeT AT q21 G| STEL-FH9H H AT A i
FIEET AWTIRAT AT BT T ST-F9HT THTT FHT FTARTA AT TG T FT AR, T0Frrsen(T)ornn T ST

Q-121 Choose the correct option for (P)

eng/eng
A. foe

B. enemy
C.ally
D. confidant



Q-121

eng hin

01. OnlyB 02. BothBandD
03. Both A and B 04. Both C and D

05. OnlyC
£33 72 wrerfer § o1 3 forw gt 39 AT g

01. 2020 02. 2018
03. 2019 04. 1947
05. 1946

Solution for Question 121

Ans Key: 3

eng/eng

Foe (n) - enemy.
For other options-
Ally (n) - friend.

Confidant (n) - a person with whom one shares a secret or private matter.

eng hin

2019

Q-122

eng/eng

Q-122

Choose the correct option for (Q)

A. pioneered
B. bifurcated

C. anticipated
D. apprehended

01. OnlyB 02. Both Band D
03. Both A and B 04. BothCand D

05. Only C
o w3y wrrver @ ¥ % forw wEy S=e =T R

01. 157 47 02. = THT
03. <7 e dew 04. §o=
05. fagm 7T

Solution for Question 122

Q-123

eng/eng

Q-123

eng hin

Anticipate (v) - expect or predict.
Apprehend (v) - anticipate (something) with uneasiness or fear.

For other options-
Pioneer (v) - develop.
Bifurcate (v) - divide into two branches.

e
Choose the correct option for (K)

. captures
. represents
. stimulates
. palpates

oQw»

01. OnlyB 02. BothBand C
03. Both AandB 04. Both C and D

05. Only C

33 w0 wTerter § & % forw gy 39T FAT gAY
(1) =iy

(2) srEaTt

(3) TP

OERENEET

01. 13fT2 02. 2373
03. 2:3fT 334 04. 3374
05. 13fT23iiT4

Solution for Question 123

Ans Key: 4

Ans Key: 3



eng/eng

Capture (V) — represent.

For other options-

Stimulate (v) - encourage.

Palpate (v) - examine (a part of the body) by touch, especially for medical purposes.

eng hin

2 3R 33k 4

Q-124

eng/eng

Q-124

eng hin

Choose the correct option for (S)

A. significant

B. utilisation

C. inspiration
D. manifestation

01. OnlyB 02. BothBandC
03. Both A andB 04. Both Cand D

05. OnlyC
& 1o wrerfer § =1 % forw w12y 3¢ AT B

01. vrgufa 02. JeTAw=T
03. roaaTer 04. T FTE T qET AT

05. 39 TI5F T qEAHAT

Solution for Question 124

Q-125

Q-125

eng hin

utilisation (n) - the action of making practical and effective use of something.
For other options-

Significant (adj.) - notable.

Inspiration (n) - creativity.

Manifestation (n)- display.

Treafa

X

Choose the correct option for (T)

A. harsh
B. reveal
C. abate
D. laud

01. OnlyB 02. BothBandC
03. Both A and B 04. BothCand D

05. OnlyC
&3 73 e ¥ @ F e adr STTFATEAT?

01. TF e 02. =7 |TT
03. F= 9T 04. =TT I T
05. oi= &TeT

Solution for Question 125

Ans Key: 1

Ans Key: 5

eng/eng abate (v) — decrease.
For other options-
Harsh (adj.) - cruel.
Reveal (v)-show.
Laud (v)- praise.
eng hin 9= 91T
Q-126 In the following question, a sentence with a blank followed by four words is given. Choose the most suitable combination of words that fits in
eng/eng the blank appropriately.

The clear message of the scientific reports is that there should be a/an

A. immensely
B. sparse
C. drastic

cut in car use.



Q-126

eng hin

D. extreme

01. AandB 02. AandC
03. BandC 04. CandD

05. AandD

=3 fRrarrrds vy d R samm gergan & shsus v fAwer garuau §) 599 @ ST AT FTAITFIIN F A ATRAUH
FETU ATHFT T ATAT 8 | GET AT ATA FLIAF [AFTT FTITLH ST H 3 Tohq 10T, FET T 1587 & & G718 STLF AT FT AT
T

T e, TEEIT o AU BT qIET T Hahl

01. = 02. &
03. g 04. foreo
05. q&w

Solution for Question 126 Ans Key: 4

eng/eng

Q-127

Q-127

Drastic (adj.) - likely to have a strong or far-reaching effect; radical and extreme.
For other options—

Sparse (adj.) - thin.

Immensely (adv.) - very.

In the following question, a sentence with a blank followed by four words is given. Choose the most suitable combination of words that fits in
the blank appropriately.

His with his father brought matters to a summit.

A. squabble
B. approval
C. argument
D. regiment

01. AandB 02. AandC
03. BandC 04. BandD

05. AandD

= fFrrarurAF 9 d RF eara Fergar g 1 Sos 77 fAwer gargau ) 378 § T AT FTAITFIIA G I AT TCH
FATO FTFT T ATAT 8| GET A5 ATA FL TP (IFHTT FTITLH €T H 3 (o 10T, FET T 1537 & § FIT{8F STLH A3 HT AT
Fform

01. fFopoor 02. faoer
03. faoo= 04. ==
05. FEHerar

Solution for Question 127 Ans Key: 2

eng/eng

Squabble (n) - a noisy quarrel about something trivial.
Quarrel (n) - argument, fight.

For other options—

Approval (n) - acceptance.

Regiment (n) - group.

eng hin

EEE]

Q-128

eng/eng

In the following question, a sentence with a blank followed by four words is given. Choose the most suitable combination of words that fits in
the blank appropriately.

I am sure that this meeting will contribute to the of peace and security all over the world.

A. equipment
B. reinforcement
C. additional
D. augmentation

01. AandB 02. CandD



03. BandC 04. BandD
05. AandD

Q-128 HATATTTTAFITR NF AT FET A € AL SHS TTF FAFeT GATC TR | S99 & ST AT HFTIITFLIN A I ATFTTH
enghin ST ATHFT TTAATATE | FET AT ATT FL IS AHT FTITLH T H & Fova RN T, Frgarg o153 7 & waffars Iug asa1 #1997
Ffvrm
AT T {ih ST F & (o0 sy ygiaai &7 A &7, T T STUAET AR
01. =t 02. qroreft
03. feor 04. =t
05. wregfash
Solution for Question 128 Ans Key: 4
eng/eng Reinforcement (n) - augmentation, increase.
For other options—
Equipment (n) - the necessary items for a particular purpose.
eng hin <7
Q-129 In the following question, a sentence with a blank followed by four words is given. Choose the most suitable combination of words that fits in
eng/eng the blank appropriately.
The children provided a convenient for missing the party.
A. excuse
B. pretext
C. edifice
D. disorder
01. AandB 02. CandD
03. BandC 04. BandD
05. AandD
Q-129 T FATATTAFITH W EATTFETGATE s LTS T FAFeT ATCTY R | TR @ ST AT HFTIITF LI A I ATFATCH
FAG FTFT T FATATR | AT AT ATA LD (AHT HT ITLH Y A 3 fova HIFNT, g 7w o153 & & aa{fas SugF a2t #1997
Frfvrm
SHEEl 9TaTeaT | Y 29T H T8-98........... A gUl
01. #Hi=gfas 02. A3
03. freqren 04. wTRRfoA"
05. o
Solution for Question 129 Ans Key: 1
Excuse (n) - a reason put forward to conceal the real reason for an action; a pretext.
For other options—
Disorder (n) - a state of confusion.
Edifice (n) - structure.
enghin  HTERfAH
Q-130 In the following question, a sentence with a blank followed by four words is given. Choose the most suitable combination of words that fits in
eng/eng the blank appropriately.
At least 15 million Americans still hold the view that cancer is contagious.
A. bogus
B. precise
C. accurate
D. erroneous
01. AandB 02. CandD
03. BandC 04. BandD
05. AandD
Q-130 R fITTTTAFITA RF AT g g S T3od 7T AFer garuau ) 7R AT AT FTIITFRA A IZATFATH
enghin LI ATHFT TATTATZ | TET TSI ATT FL IS [AFT FTITCH TTH & Fora FIN T, Frgarg orsTi # / qaffars Ioge as81 F 1997

Ffvrm



faferaragy ... & T ST ST § ST g srae T gl

01. srearTaer 02. wTEeTT
03. a@%q 04. &
05. Bam=
Solution for Question 130 Ans Key: 5

eng/eng  Erroneous (adj.) - wrong; incorrect.
Bogus (adj.) - false.
For other options—
Precise (adj.) - exact; accurate.

eng hin Qe

Q-131 In the following question, four words are given of which two words are most nearly the same or opposite in meaning. Find the two words
eng/eng Wwhich are most nearly the same or opposite in meaning.

(A) Difficult (B) Depart (C) Obligation (D) Onerous

01. A-B 02. B-D
03. B-C 04. C-D
05. A-D
Q-131 = faF asar #1 3~ Ay asg IarsA?
?fﬂc
01. 33 02. 93
03. FaAaT 04. FY
05. faureg
Solution for Question 131 Ans Key: 5

Onerous (adj.) - (of a task or responsibility) involving a great deal of effort, trouble, or difficulty.
For other options-

Depart (v) - leave.

Obligation (n) - duty.

e

Q-132 In the following question, four words are given of which two words are most nearly the same or opposite in meaning. Find the two words
which are most nearly the same or opposite in meaning.

(A)Reveal (B)Escalate (C)Plunge (D) Vary

01. A-B 02. B-D
03. B-C 04. C-D

05. A-D
Q-132 = X3 srear w1 3fa e rsq FaT=A?

eng hin
qreTd

01. wfi=T 02. yT=T
03. Y9iaieT 04. yogeT
05. racTeT
Solution for Question 132 Ans Key: 3

eng/eng  Escalate (v) - increase rapidly.
Plunge (v-jump) is the antonym of escalate.

eng hin  Haiex

Q-133 In the following question, four words are given of which two words are most nearly the same or opposite in meaning. Find the two words
eng/eng Which are most nearly the same or opposite in meaning.

(A) Bother (B) Concern (C) Tenant (D) Expect



01. A-B 02. B-D

03. B-C 04. C-D
05. A-D
Q-133 = fa3 as<r w137 Rew sz aarsa?
eng hin
s
01. e 02. =y
03. =i 04. =T
05. F21%
Solution for Question 133 Ans Key: 1

eng/eng  Bother (v) - concern oneself.
For other options-
Tenant (n) - a person who occupies land or property rented from a landlord.
Expect (v) - regard (something) as likely to happen.

eng hin  Fa=

Q-134 In the following question, four words are given of which two words are most nearly the same or opposite in meaning. Find the two words
eng/eng Which are most nearly the same or opposite in meaning.

(A) Prestige (B) Assemble (C) Disgrace (D) Scatter

01. A-B 02. B-D
03. B-C 04. C-D
05. A-D

Q-134 = fa3 qreIr w13 few qsT FaT=a?

Q
01. sreq 02. &
03. U7 04. s
0s5. &
Solution for Question 134 Ans Key: 2

Assemble (V) - come together.

Scatter (v-separate) is the antonym of assemble.
For other options-

Prestige (n) - status.

o=

Q-135 In the following question, four words are given of which two words are most nearly the same or opposite in meaning. Find the two words
eng/eng Which are most nearly the same or opposite in meaning.

(A) Bar (B) Casual (C) Pacify (D) Forbid

01. A-B 02. B-D
03. B-C 04. C-D
05. A-D

Q-135 = fa3 asar w137 e asT Iarza?

bi

eng hin o
01. =fizrer 02. f3=Tar
03. srfeaw 04. =3 F 1S TS
05. =fefr

Solution for Question 135 Ans Key: 5

eng/eng  Bar (v) - prohibit; forbid.
For other options-
Pacity (v) - calm.

eng hin s'ﬁ%ﬁ




Passage for Question 136, 137, 138, 139, 140 (ST-2077 RRB CLERK MAINS E (16-20) 2020)
eng/eng Passage

Rearrange the following sentences from (A)-(G) in the proper sequence to form a meaningful paragraph while (C) and (G) are already at their
original position, then answer the questions given below.

(A) emerging in the middle of January

(B) to locate hundreds of Indians, mainly students
(C) the Indian Embassy stepped up efforts
(D) central Hubei province and Wuhan

(E) as the news of the outbreak began

(F) residing hundreds of kilometers apart in the
(G) the epicentre of the virus outbreak.

eng hin Passage

T AT TT @S TI§ 797 F 7gd A THART AT FTFAM: (A) S T(G) FTFRATIATI ] T 9 & s a1 stari &7 917 A7 § FTieH?
(B),(C),(D),(E)STY(F) FTHEATIT AL B 1 T AT HTASTHA HH A A1 o | Sv &ATH & UgH fRq Y fasweqi # & S ww givg, ™raw adt
FrFT w1 AT EN

Tre- AT G ot fRafy (POSITION) & 21

(A) AT ST SATATAATE 3 AT SAAT & JgT Shaq &

(B) U ==k & ATH TgTe it o701 B g o 8

(C) TF I FTEH 219 9% WT 75 ST, AT fFoam 90 areq ¥ e yaa #xar g

(D) ¥ ZTLAT IHF ITE TF A2t et

(F) T2t =3 {<F STiae | 0 I 7% SaT8 a1 I F2d

(G) T U& £ =7fF & o TP F THIST F Aqr a2

Q-136  Which of the following would be the FOURTH sentence after the rearrangement?

01. D 02. C
03. A 04. E
05. B

Q-136 T TX ATFAT Tl HHAG F%A & AT& AMFT ATFT I AT 2 A2

01. D 02. B
03. A 04. E
05. C
Solution for Question 136 Ans Key: 5

The correct rearrangement is ‘EACBFDG'. The passage is based on ‘the outbreak outside India.’

Q-137  Which of the following would be the SECOND LAST sentence after the rearrangement?

eng/eng
01. D 02. A
03. E 04. B
05. F
Q-137 T3 T ATl T FHAG T % ATE TALT ATHT DI AT 22
eng hin
01. E 02. A
03. D 04. B
05. F
Solution for Question 137 Ans Key: 1

eng/eng  The correct rearrangement is ‘EACBFDG’. The passage is based on the ‘The outbreak outside India.’

Q-138  Which of the following would be the FIFTH sentence after the rearrangement?
eng/eng

01. E 02. A



03. F 04. B
05. D

Q-138 T T ATHAT T FHAG T & ATE ATAT HI AT 2T
eng hin
01. E 02. A
03. B 04. F
05. D
Solution for Question 138 Ans Key: 3
eng/eng  The correct rearrangement is ‘EACBFDG’. The passage is based on the ‘The outbreak outside India.’
Q-139  Which of the following would be the FIRST sentence after the rearrangement?
eng/eng
01. B 02. G
03. C 04. E
05. A
Q-139 = T ATRIT T FHAG A 6 ATE BT I AT G2
eng hin
01. B 02. G
03. C 04. F
05. A
Solution for Question 139 Ans Key: 4
The correct rearrangement is ‘EACBFDG’. The passage is based on ‘the outbreak outside India.’
Q-140 Which of the following would be the SECOND sentence after the rearrangement?
01. C 02. E
03. A 04. D
05. B
Q-140 T T AT T FHIG FLA 6 1& TIAAT 1 9T G2
01. C 02. E
03. D 04. A
05. B
Solution for Question 140 Ans Key: 3
The correct rearrangement is ‘EACBFDG’. The passage is based on the ‘the outbreak outside India.'
Q-141  Ii the following question, thiee seiteiices iave been given which may or may not be grammatically correct. Find out the correct senteices
eng/eng and mark your answer accordingly. If all the sentences are correct, mark your answer (5) i.e., All correct.
A. The menu changes weekly and usually include a vegan option.
B. New ways to treat arthritis may provide an alternative to painkillers.
C. Tony was so tall that he had to lean down to get through the doorway.
01. Only A 02. OnlyB
03. Both A and C 04. Both B and C
05.  All correct
Q-141 = a3 13 Fraaraai & 4 FET uF araa & AT AT H 1A AT A Afe grawat g, A Afe § ar STHTIIT R TE A7 FAHTT (5) FT
enghin  TITHI

(1) & TSt syaeter F AT Ffe #Y qeraa S g
(2) Torerss = FeaT & T AT H T T
(3) FRT 4 T T 1L AT a1al § 0T TS 7 2l

01. Fae72 02. Faer3
03. Faer 1 04. 23T 3 aMAT
05. Frs =t T



Solution for Question 141

Ans Key: 4

eng/eng

In sentence A- ‘includes’ should replace ‘include’ as ‘singular noun (menu) takes singular verb with it.’

eng hin

2 3T 3 AT

Q-142

eng/eng

Q-142

eng hin

In the following question, three sentences have been given which may or may not be grammatically correct. Find out the correct sentences

and mark your answer accordingly. If all the sentences are correct, mark your answer (5) i.e., All correct.

A. The empty desk suggested she had already gone home.
B. Spread bread-crumbs on a dry baking sheet and crisp it in the oven.
C. Housing costs gobble up almost half of our budget.

01. Only A 02. OnlyB
03. Both A and C 04. Both Band C
05. All correct

1= fo3 T A arFai & 9 frdt ga araa § T AT a1 diai & AT g aadl §,ATCATC § AT SARTIAIA HL A-T AT (95T (5) HT

ITTHLN

(1) =i 7 39 79 &7 @7
(2) FETE | ST g2
(3) H AT Gedl & 98T Tei ATgUl

01. 3973 02. FaeT2
03. =7s =fe 92F 04. 2T 3 TMT
05. Fae 1

Solution for Question 142

Q-143

Q-143

In sentence B- “Them’ should replace ‘it’ as ‘bread-crumbs (plural)’ is given.

F1E At T

Ans Key: 3

In the following question, three sentences have been given which may or may not be grammatically correct. Find out the correct sentences and mark your

answer accordingly. If all the sentences are correct, mark your answer (5) i.e., All correct.

A. During the lecture Sarah's attention began to wander.
B. It's impossible for me to give you a definite answer.
C. Hay fever is an affliction which arrives at an early age.

01. Only A 02. OnlyB
03. Both A and B 04. Both B and C
05. All correct

A= o 7 A At § & Rt ue g § A1 W0 H A7 A H AT BT AT 8,39 AT § AT SHART FAT AL Al al (dhed (5) FHT =TI FL

(1) HIS F= FAAT IAH T 2
(2) H %o %1 F (vE (WA
(3) waret &7 B =oH g T AR arae § 29 w21

01. Fae 1 02. Fae 2

03. 23T 3 amT 04. Fr< fe T

05. Fae2
Solution for Question 143 Ans Key: 5
eng/eng  All correct.
enghin  &ae 2
Q-144 In the following question, three sentences have been given which may or may not be grammatically correct. Find out the correct sentences and mark your
eng/eng answer accordingly. If all the sentences are correct, mark your answer (5) i.e., All correct.

A. Ifthe firm cannot sell its products, it will go bankrupt.
B. This car polish is an effectively shield against rust.
C. His savings were a comfortable cushion against financially problems.

01. Only A 02. OnlyB
03. Both AandB 04. BothBandC



05. All correct

Q-144 = o T A At § | et U ared & A7 0 H AT A0 H AT 7 AT 8, 3 AT § AT ST AT FL gl ql [ahed (5) FT 999 H|

eng hin

(1) o7 3 319 AT g
(2) STH F AAHT ATH 2
(3) F¥ AFAT F FHTA {7 17T

01. Fa72
03. Fa 1
05. TS A 7

Solution for Question 144

eng/eng In sentence B- ‘effective’ should replace ‘effectively’ as adjective is required to qualify noun (shield).
In sentence C- “financial’ should replace ‘financially’ as an adjective is required to qualify the noun (problems).

eng hin  fAShY- 31T BT TN FE 9|

02.
04.

FaA 3
13T 3 2T

Ans Key: 1

Q-145 In the following question, three sentences have been given which may or may not be grammatically correct. Find out the correct sentences

eng/eng and mark your answer accordingly. If all the sentences are correct, mark your answer (5) i.e., All correct.

A. He gambled away his family estate on a single throw of the dice.
B. Prices are rising sharply, while incomes are lagging far behind.
C. Manufacturers must be able to juggled demands of all kinds.

01. Only A
03. Both A and B
05.  All correct

02.
04.

Only B
Both B and C

Q-145 R FIFA R ATITFNT R G HFATTFITFA A ATIAATH ITAAATH AT T AFAT &, AT ATE § TTSHRT TIA FL AR AT (aeq (5) FT

FIT HN

(1) T srreft gera v s
(2) T AT FETTT T ToT 2T THA
(3) ITHT TF [T 2|

01. Fa ]

03. =g =fe Tt

05. F973
Solution for Question 145

02.
04.

Fae 2
13T 2

In sentence C- ‘Juggle’ should replace ‘juggled’ as ‘to’ takes ‘v1’ with it.

P A TR

Ans Key: 3

Q-146 Which of the phrases (1), (2) (3) and (4) given below each sentence should replace the phrases given in bold in the sentence to make it

eng/eng grammatically correct. If the sentence is correct as it is given and no correction is required, mark (5) as the answer.

The police have seized the truck after registering an FIR against the driver for causing death due to negligent driving and efforts are upon too arrest the

driver.

01. Are under too arrest
03. Are on to arrest

05. No correction required
Q-146 =< T UAH AT 7 A &-

eng hin

01. = < & T T 1 FTATI
03. reT-T- et st Wit =TT T@T
05. =% T Frs AL

Solution for Question 146

eng/eng  ‘Are on’ mean ‘the act is going to be done, here the driver is going to be arrested’

eng hin  FFE-7-FFeT wepre it amTe v

02.
04.

02.
. T AT FET

Were onto arrests

Is on for arrested

I ATH AT

Ans Key: 3



Q-147 Which of the phrases (1), (2) (3) and (4) given below each sentence should replace the phrases given in bold in the sentence to make it
eng/eng grammatically correct. If the sentence is correct as it is given and no correction is required, mark (5) as the answer.

The robbers had lifted several sets of fingerprints from the scene of crime, indicating that more than one person were involving.

01. More than one person was involved 02. More of one person found involve
03. More than one persons was involving 04. More and more one person is involved

0S. No correction required

Q-147 WA FTIAG AT@ BATHT AT §-

eng hin
01. =T Teei T THIH AT 3T 02. fareT TRT F AT g T&T gl
03. Zreq = |rr g F#Am 04. =T Hr=-TH= i I
05. =% FFIE T
Solution for Question 147 Ans Key: 1

eng/eng  More than (in case of comparison ‘than’ is used with ‘more”) one person (‘one’ takes singular noun) was (as per ‘more’, a singular verb is
correct) involved (expression of passive voice).

eng hin I |l FT THIH TAT aATI

-148 Which of the phrases (1), (2) (3) and (4) given below each sentence should replace the phrases given in bold in the sentence to make it
p g P p g
grammatically correct. If the sentence is correct as it is given and no correction is required, mark (5) as the answer.

The construction work came to a standstill due to unavailability of funds, and the area has been taking over by cattle and anti-social elements.

01. Had be taking over 02. Were to be take over
03. Was been taken over 04. Has been taken over
05. No correction required

Q-148 HTH AT & TFTX FT T2 o AT THIH &1 AT | TR aTeaTer F oI T2t q21aT gl

01. Zror &7 gl 02. 2373 ST
03. FTaT Z2Z ST 04. =79 ST I ST
05. =% ¥ FIs TGl
Solution for Question 148 Ans Key: 4

Has been (in passive expression, ‘has/have/had’ takes ‘been’) taken (‘been’ is followed by v3) over

eng hin ¥ T IS AT

Q-149  Which of the phrases (1), (2) (3) and (4) given below each sentence should replace the phrases given in bold in the sentence to make it
grammatically correct. If the sentence is correct as it is given and no correction is required, mark (5) as the answer.

In rural areas, including tribal regions, district collectors and self-help groups mobilized people into opening bank accounts, while in urban areas people
were less supported.

01. Were less supportive 02. Would less support
03. Was least supports 04.  Are least supportive

05. No correction required

Q-149  =THATT & aTd FHIAT F7 7% 2-

eng hin
01. Fgq =T 02. IRTe &7 ST
03. J<7 =T 04. FgT TR FEAT
05. it & A7
Solution for Question 149 Ans Key: 1

eng/eng were (incident is of the past time and ‘people’ is a plural word) less (there is comparison with rural people) supportive (this is the correct
adjective)

enghin  FgT 3T

Q-150 Which of the phrases (1), (2) (3) and (4) given below each sentence should replace the phrases given in bold in the sentence to make it
eng/eng grammatically correct. If the sentence is correct as it is given and no correction is required, mark (5) as the answer.



The institute has an annual expenditure of Rs. 34 crore that was sourced from the Environment Ministry.

01. that was sourcing from the
03. that were sourced from the

0S. No correction required

02. that was sourced with the
04. that had sourced from the

Q-150 gFAAATFTITT HAT?
eng hin
01. I5g 02. 3ISFT
03. TS 04. ISt
05. IS
Solution for Question 150 Ans Key: 5

eng/eng The sentence is already correct.

eng hin IS

Passage for Question 151, 152, 153, 154, 155, 156, 157, 158, 159, 160 (ST-2077 RRB CLERK MAINS E (31-40) 2020)
eng/eng Passage

Read the following passage and answer the questions based on it. Certain words have been given in bold to help you locate them while answering.

As humans, we have all been there---made a decision or decisions that we have later regretted. We have all made right and wrong decisions, although, given a
choice, we would love to only make the right decisions. But life often does not happen that way, and we land up making a lot of decisions and choices that we later
regret or suffer the consequences of. Some of the wrong decisions are minor, and carry small penalties, while some, like education, career, choosing a partner,
having a child, moving to a new city or country---these could have lifelong ramifications. Why do we make the wrong decisions? We come here on earth, not only
to grow up, earn a living and pay bills, but for the purpose of learning soul lessons and soul evolution. But the world is such a strong illusion, and is the only reality
we know. So, we forget that we are not just flesh and blood, but spirit or soul encased in flesh. And like our body has its needs, so does the soul. The soul can
evolve and learn in many ways. But once the soul is encased in the body, it loses its free will and has to depend on our conscious mind, to make all our decisions.
And since we are all born with complete free will, the soul waits patiently, for us to make decisions--some right ones, some wrong ones, and learns and evolves
from all these decisions.

The lessons that the soul is looking for, are always about more love, kindness, humility, joy, freedom, growth, compassion and forgiveness. When we display these
qualities through our body-mind, the soul starts to vibrate higher and moves ahead. When we act out of the opposite set of qualities---fear, anger, jealousy,
frustration, depression, worry, anxiety, guilt and grief, the soul's vibrations are lowered and its journey becomes longer. We have a choice of making our decisions
based on love, joy, freedom, compassion and forgiveness, and we could avoid a wrong decision. But invariably, we are governed and ruled by our conscious mind
or left brain, and we don't listen to the inner whisperings of the right brain, or our inner self or soul, which speaks to us through dreams, visions, images, intuition, and;
feelings. When we cut off a major source of inspiration which comes from the soul, and rely mostly on our logical and rational conscious mind, we tend to make a
lot of wrong decisions, often rooted in fear or anger or guilt. And having made these wrong decisions, we are forced to suffer the consequences of our decision.
Wrong decisions have an important role to play, however. Often, under the influence of the conscious mind, which looks more outward than inward, we are
confused about what we really want. "I want a beautiful wife, I want an intelligent or rich husband, I want to become a doctor/ engineer, I want to have many
children, I want to be slim, I want to be famous, I want that job paying me well, etc."--these are some of our common wants. But all these wants stem from the
conscious mind, and are useful to us, only in this world. These wants are not balanced, and we are often unaware, of a whole lot of other things that need to happen,
to fulfil our wants. The soul is not looking for any of these.

The soul is looking for freedom,

Jjoy, love, learning and evolution. But once we make a wrong decision, we automatically know what we don't want. Wrong decisions and their consequences help us
to refine our search, and make us fully aware of what we don't want. And from that point, we can channel our energies towards what we want. To make the right
decision more often than a wrong one, we need to listen to our inner self, and then use the conscious mind to act on that inspiration and do what is necessary in the
outer world, to fulfil that want.

The conscious mind is a brilliant tool, to be used to further the needs of the inner self. But since most of us have made this tool the master, we are suffering at its
hands, because the conscious mind takes input only from outside, and ignores the inside. Don't overhype the conscious mind or deny the inner self, use both, one to
inspire and one to act on that inspiration, to take you towards more and more right decisions and on the path of learning and evolution.

eng hin Passage

#9 frgag s #1 saraga & T st T 38 T swatia vt & ST AR o er F aqars, few g fFraweai # § g9@ Sy faaer w1
T FIT

ST T FRET ST & T3 FATT 1T o [FAUel § T THHT o1 TAAT1 61 ¢ 1o 157 [reT off § Seae A5t T8 AT & a3 aF a9 H] 7 2T 37T T
FLAT ¢ T T S SATATHY TH TG T AL gl Hedl {30 ST ATAF ST=q FT07 I AT Z1 T 297 ¥ Uk T o forw maer &= 2n o f_Aeer vsa &
TS UH TS | g STt T gHt & THH-9TT 8 3@T AT 8, T et a7 foar fReT 93 % 98079 are < 3T qvare e smar € & ag Gl o f@ere =7
ATHTOT Tl FHLAT ST AT HAT H T Arer T Aaartet & f9w-f o=t A UF G99 A3 F 99 F 3@qT gl 39 @ arihed UE SEATHE
T9T g, FATCR AT TEATH ol T[T % ¥ o & § FT+AT ITH 3

TS TSI AT T - emfies et 3 evd 7 g% T a7 GEhTe o o e 9w et & off 12 Fgema 7 w31 Bt % ol 71 fadrey e 721 8 afew
T T T eTiie fersaTet Ud Areqrst 7 T ATATE & AT ¥ e a7 | arH=wet 77 § 39 =ATE w1 7 G801 grar g S et off e 1 78t
ATHAT 8| gHAIEAdT & "a9 § o, i<k &1 [ard [t a8t g, e 57 a9 a5 geqeid Tal F3dT S ae (o [T 8T 1 g gTorst § $ae §
TR st R sooer 7 8N e Rerar enfie gfafRraarsit #7528 57 1 T0d FLAT g1 T TR ATt 3 for enfies f@eam o g ar




STTOOT T ST d FLaT 2l

AT T3eTe Tarehl IUTHAT 1 Fqa=IdT ad7 g1 g T ATHITAT &l o7 STIAT Teled T T SIqHTd a1 g1 Ta J2F [Fat== 7veai w1 qqmq #7 a7 g
T gAR Rat= F1F § sraear g 5 aaarar &7 S[rfd, ISt 67T 7 99 % 9 92 = ovfte vF ge=r ¢ Sms Fwror v [attra stw #
RaT= 73 &7 99T S8 9T % Jarall § 157 % (o0 g aeaerar it fG=eemT & Feqe Faieada w1 AT Fed & (o0 HioT g9 T g, ot
errfarget sir fAewer w1 gfafar w3 e g auearstt o sft oft eam 39 sraeasar 81 e fReerar o aei= 7 g afvarar # T s et
THZT T ST AT 2| ZAT DT TqqT T F HTH FHIAT AT AT TF g THT H FHIT HT TAT FLAT AU SASTET 5 3 FHT A1 AT TS g
AT o THT AT T HeA o (o0 eTiien fafaerdr siT Sid % USie 7 TEHTT F3d T8 8

AT e # ATiarene & 5 9ed 757 &7 9T F1e oF Tal g TZ1 AT g< dTiHE THETT AT oH A 37T 36 T & [oI7 Taa= g1 STave #a|
77 2 T TS et aeary U et fog § o Agi ST S| o1 gt o6 AR T AT TadEar § O a2, A7 39 39 @9, AT T A o=t 37T
FFET % ToIT THEAT 3T BT TSI AT 6T orw oY e qramrell 7 IHar 9 Tiaaer gATY e § S¥TET T47 g1 Gy |t & A s
T F T THH gHATaeqdr it sraereorn [iga of S afaem F 9wr-3 § aftta /e stfwt # et wad=rdar F Sfawe (aqees- 25%28)%@‘@?&
g AT ST | O R HaaeqdT T TR F3d g0 42 F Fiae T S9me 1976 FTT S8t Seqradt § o2 Huerdr o &7 (et @ T2t
TAfATTeT FT o1 8- 36 Fvx T o F AT | Tae YT IHAT TUAT F1S TS T Tal g AT 197 H T AT T STIT ST o6 ATHATE TS
IYTEFAT T ATERTT T ATLT TLRTE A 7 Toheft errfaler oor o7 e onfy sire 1 21 forely emfeer dor =7 fardrer sveet) drrfRecrer o oot 3 streme o el
AT | ATATS T FHT TAF AE & AT GHE AT HIT T F1 e et o o & =T germ 981 8

FHATTEAT FT 32T ATARAT TAT AT FwdTOT FT FETET & ST THT W FT G 3297 9 g1 G ATIeIar Ff A< ST F9TT 1A g 36 78 afsm & et
TS B TATY 3HhT IATT SHTSAT | @IS(t T 31 I Aaerar 92 e el g 7 ST ot T STav § S AR 60 716 Tga T & o @a<r Sore
FAT 1 AT W H g ATaeral 92 ST @97 STTaT g 3 157 Tgaeaahi F AT gIH SAeqHeda & A § geqerd HYdl g ST STeqaedahi & 79
H g SATSTHT IoT= FTAT g o6 157 TR0 7 A 7 Feram <ar g1 vH ygirat £1 et aear & arrariasar #r agEr oot 81 aefaeerar wr sty
Al SehEaart &9 § off T@T STa1 8 ST THTIT ST SARAT 0 T TaqIar § TATHF geqerd HIdl gl T S T TSI 1 F@rar adf gl Fartea
=xfer &1 Aat=e et off T & Fat=m w1 % Soarae & e 9% 7 F7 {337 Srar g Aaararst w1 fad 397, STHT-aweaTT, g, S A1 aEETT §
AT 9T FERTHT-FEATT At Tt Fat=e w19+ F Soerae & sarzzo #) Fatta aifvg 2t 5w o oft 7f% samres § gz aifaq 2o G et s
A= T ol FoRET W AT ST GTTel T Iocrad dleh (oot ITH &l g1 al ST AT T ¥ (<IT ST gl T qLg i T TeATE 397 F Sdgrd §
BIEIRA

Q-151 “Wrong decisions can be classified under certain categories, one has short term consequences while the other has lifelong consequences”.

The sentence given above can be inferred from-

01. Paragraph 2 02. Paragraph 1
03. Paragraph 4 04. Paragraph 3
0S. Paragraph 5

Q-151 =3 wrerier 3 AqaTe gei{ATer 1o T 37 #7471 22

01. gt oy gt 1 FaHaE- T T aet a@r 02, St asft gt 7 qH1=- A1 7 37 S 21
ST RN

03. Sret oY aut 7 90 AT i qeTT 04, SRl TUST HT UAT F IS a9 2rdT arl
TE1 T strar an

05. =% T FTE AL
Solution for Question 151 Ans Key: 2

The answer lies in the first paragraph of the passage.

enghin  o=¢ mofy ot Y FAF-9T F W@ ST B
Y- ZaX IIRT & Ugel NEMH HA Tl

Q-152  According to the passage, which of the following is/are not sought by the soul?
eng/eng

01. Freedom and happiness 02.  Abhorrence and commitment
03. Learning and evolution 04. Fear and wisdom

05. Both2 and 4
Q-152 fAaif=a = i< 1 Fat=m e sma o2 75 B S aar 82
enghin  (2) FaETaTs F1 Foad 3= F1 A U

(b) ATETATIA T ST LHEFTH o ATLTT IT

(c) A= FTA FT Ieerad Fd TT

01. 39T A 02. 3997B
03. AsfiTB 04. ASFTC
05. AsfiTBsiTC
Solution for Question 152 Ans Key: 5



eng/eng

The answer lies in the fourth paragraph of the passage.

enghin  AfTB3TC
ey e wTerter % srfeaw SRR A g
Q-153 As mentioned in the passage, in which of the following cases does our soul degrade?
eng/eng
A. When we act out of fear and frustration.
B. When we express humility and love.
C. When we show signs of depression and worry.
01. OnlyA 02. OnlyB
03. Both A and B 04. Both A and C
05. All of the above
Q-153 & Awrerar 7 A&7 FAT1 22
eng hin

01. Trsx T AT T aeft gwt Fuf AL 02. T[S FT AT oH ST & IH Tah! HIAAT g1 T2
TR FAT o TEAT

03. 75 ST AT ANTHT AT ATiHw 04. 75T ST TAT ATHT T AT T=am 2 % (o707 TiT4d gl
T & % forw wfasga 72t 2

05. =% A 1S T2

Solution for Question 153

Q-154

Q-154

cng

The answer lies in the second paragraph of the passage.

TS AT FHY ARTT T GTTHE FFa=rdr & & oIy Iiasd g

“From that point, we can channel our energies towards what we want.” Which point of time is being referred to in the sentence?

A. When we are clearly able to elaborate our search.
B. When we have a clear understanding of our needs.
C. When we analyze and start acting on our inspiration.

01. Only A 02. OnlyB
03. Only Aand B 04. Both B and C

05.  All of the above.
T2 wTerier % SIAT WA o HiAe H g9 [R30er orse R Hiaer S g1 S T

01. 40 F FfaemT H9rTeT 1974 02. 44 3 Fieem H9TeT 1976
03. 42 F FfEgT T9ea= 1976 04. 44 3 gfaem T 1979
05. 46 F FfEgT T9Tea= 1982

Solution for Question 154

Ans Key: 4

Ans Key: 3

eng/eng  The answer lies in the fourth paragraph of the passage.
eng hin 42 3 e H9e 1976
Ao 372 Terver % = STRITE A Q)
Q-155 According to the passage, mention the reason/s behind the negative impact of the conscious mind.
eng/eng A. Conscious mind is considered as the master tool.
B. The habit of the conscious mind to get over-involved every time.
C. The conscious mind takes the input from outside ignoring the inner self.
01. OnlyA 02. OnlyB
03. Both A and B 04. Both A and C
05. All except A
Q-155 uR Frama # adfAcdear ¥ frg s a1 w181 32
enghin  (a) T&f TL ET ATIHS HHTT ATAT & HIA ST I8 THATC 6 oI &=q = 721 2

(b) FTET TT5T T TIAT &H ZTI
(c) TBT I¥ BT &ITiHe THETT ATAT & H WA 3T 36 THAT 6 7w &&= g

01. Fa A 02. AT C
03. BTt C 04. Fg1C



05. =i & F 18 T

Solution for Question 155

Ans Key: 4

eng/eng

The answer lies in the last paragraph.

eng hin

Fa C
fAShY- ZAX IIRT b DY REmE 7

Q-156

eng/eng

Q-156

eng hin

As mentioned in the passage, which of the following is/are ignored by the soul?

A. Desire to grab a high-paid job.
B. Need to have a lot of children.

C. Want of having a beautiful wife.
D. Wish for an intelligent spouse.

01. OnlyA 02. Both AandB
03. OnlyB 04. Both Cand D

05. All of them
&3 Terier  FIeT ITIWR §U AT 7T (AATH s 9qT3W?

IERE]

»

01. T=Hfa 02. ==
03. =S 04. TFwTT
05. IO

Solution for Question 156

Q-157

Q-157

The answer lies in the third paragraph of the passage.

FqAdF

According to the passage, which of the following facts is/are conveniently ignored by us?

A. We are controlled by the left part of our brain.
B. We are comprised of soul enclosed in the flesh.
C. We are dependent on our spirit for happiness.

01. Only A 02. OnlyB
03. OnlyC 04. Both A and C

05. AllABandC
&3 Terier & TeT ITIWR §U AT HTAATAAAT 758 TATIQ?

01. qoy 02. Sffa Greft
03. TR 04. faear
05. =7 FFIS Al

Solution for Question 157

Ans Key: 5

Ans Key: 2

eng/eng  The answer lies in the first paragraph of the passage.
eng hin  Sfiae 9eft
Q-158 Choose the word most SIMILAR in meaning to the word given in bold, as used in the passage.
eng/eng
Brilliant
01. Acceptable 02. Ordinary
03. Hopeful 04. Exceptional
05. Mandatory
Q-158 A= A & ge =R o Fgr T 872
eng hin () AAETATEAl F1 Foad a7 9
(b) FARTATAT T SLAT &HHTAT

(c) g FTamTel T IFAT FT Fat= & S{q griere FeAm



01. Faa A 02. FaB
03. FaarC 04. A=TTBSITC
05. BsiizC

Solution for Question 158

Ans Key: 4

eng/eng

Brilliant (adj.) - outstanding; exceptional.
For other options:
Mandatory (adj.) - compulsory.

eng hin

AT BT C
e~ 3T T=ITer % Afeaw TRITE A g

Q-159
eng/eng

Q-159

Choose the word most OPPOSITE in meaning to the word given in bold, as used in the passage.

Illusion

01. Strangely 02. Reality
03. Deception 04. Fantasy

05. Recession

FHTATIAAT T o &g F e anr 7 iR of?

01. 99T 2 02. 9T 4
03. TS5 04. 91T 10
05. 93

Solution for Question 159

Q-160

Q-160

[llusion (n) — a false idea or belief; deception.
Reality (n) - truth.

For other options:

Strangely (adv.) - in an unusual or surprising way.

AT 3
Aot~ 3T T=rver *F =Y RTE ° 2

Choose the word most SIMILAR in meaning to the word given in bold, as used in the passage.

Suffer

01. Examine 02. Ordinary
03. Tolerate 04. Remember
05. Overreact

2 Terter § e AT SWY g 955 T THTAAAT orex FATIU?

SRIGEL

01. quq 02. = °
03. oI 04. 7
05. zrit i S Y

Solution for Question 160

Ans Key: 2

Ans Key: 3

eng/eng

Suffer (v) - tolerate.
For other options:
Overreact (v) - respond more emotionally or forcibly than is justified.

eng hin

Sl
Ao IUTHAT T G 9753 --- TIT, T=AT, ST, TTET|

Q-161
eng/eng

The topology with highest reliability is .
Igaw fersaaar arer Sraretst 2l

01. Bus topology 02. Star topology
03. Ring topology 04. Mesh topology
05. None of these



Q-161 The topology with highest reliability is )
enghin AN AHAIAT ATAT rTTATSHH 2

01. Bus topology 02. Star topology
03. Ring topology 04. Mesh topology
05. None of these

Solution for Question 161

Ans Key: 4

eng/eng  The topology with highest reliability is Mesh Topology
IGAH A aE=ar aTar Srareisit Mesh &1

eng hin  The topology with highest reliability is Mesh Topology
IGAH TAaEA=aT aTAT Srareisit Mesh &1

Q-162 Who is the creator of the PASCAL language?
eng/eng PASCAL HTOT T SFHETAT Fl 22

01. Niklaus Wirth 02. Dijkstra
03. Donald Knuth 04. Basic Pascal

05. None of these
Q-162 Who is the creator of the PASCAL language?
PASCAL ¥TUT T SFHETAT 14 &7

01. Niklaus Wirth 02. Dijkstra
03. Donald Knuth 04. Basic Pascal
05. None of these

Solution for Question 162

Niklaus Wirth is the creator of the PASCAL language
Niklaus Wirth PASCAL st = fmiar @

Niklaus Wirth is the creator of the PASCAL language
Niklaus Wirth PASCAL srsm & femter &

Q-163 EPROM can be used for )
EPROM T STIIT % forT fRaT s @eRar 2

01. erasing the contents of ROM 02. reconstructing the contents of ROM
ROM T ATHIT &1 Hemar g ROM T |THIAT &1 qAHATT

03. Erasing and reconstructing the contents of  04. duplicating the ROM
ROM ROM #1 gfterahe FHldT TITT AT
ROM & ATHIAT &1 HemT 3T qafiai
AT

05. None of the above

Q-163 EPROM can be used for )
enghin  EPROM T 3T o forT T ST |t 2

01. erasing the contents of ROM 02. reconstructing the contents of ROM
ROM it arft &7 foerar g ROM T AT T qA AT

03. Erasing and reconstructing the contents of  04. duplicating the ROM
ROM ROM # gfterae Fitft Fame et
ROM T ATRAT &7 He™T &iie qafaamor
HTAT

05. None of the above

Solution for Question 163

Ans Key: 1

Ans Key: 3

eng/eng  EPROM can be used for Erasing and reconstructing the contents of ROM
EPROM T 3TIRT ROM T ATHRAT &7 et 3T qafeAior #2 & forg o smar g

eng hin  EPROM can be used for Erasing and reconstructing the contents of ROM
EPROM T 3TIRT ROM T ATHRAT &7 et 3T qafeAior &2 & forg o smar g




Q-164

Numbers and formula entered in cell are called

engleng O ¥ T HEAT T TA HT FET ST Bl
01. Labels 02. Numeric entries
03. Intersection 04. Text
05. Fillers
Q-164 Numbers and formula entered in cell are called .
eng hin ﬁﬁﬁaﬁwﬁtaﬁrﬁ gl SIId %|
01. Labels 02. Numeric entries
03. Intersection 04. Text
05. Fillers
Solution for Question 164 Ans Key: 2
eng/eng Numbers and formula entered in cell are called Numeric entries
A H TS HEAT 3Y T FI Numeric entries F2T SITAT g
eng hin  Numbers and formula entered in cell are called Numeric entries
T | TS HEAT 3T T FI Numeric entries FgT SITAT g
Q-165 The physical arrangement of elements on a page is referred to as a document’s
TF T8 97 Jaal il AT HAaeAT T & 5 T?F‘Tfrﬂ—ﬂc%ﬁm'rwﬁl
01. features 02. format
03. pagination 04. grid
05. None of these
Q-165 The physical arrangement of elements on a page is referred to as a document’s
Q%g’gwﬁﬁrmm%wqwliﬁwmw? %Wﬁﬂ?ﬁﬁﬁﬁr‘q'rwgl
01. features 02. format
03. pagination 04. grid
05. None of these
Solution for Question 165 Ans Key: 2
The physical arrangement of elements on a page is referred to as a document’s Format.
TF I8 I Jal il AT HAGEAT T TEqrasl & HILHS F & § HEHq g7 SJar gl
hin  The physical arrangement of elements on a page is referred to as a document’s Format.
T T8 T qeal il Al{dah AT il TEqTA % RIS & =T | Far9q (631 a1 g
Q-166  All the components of a computer are either or
FoqeT F ) T T 2l
01. software, CPU/RAM 02. application software, system software
03. hardware, software 04. input device, output device
05. input, output
Q-166  All the components of a computer are either or
enghin  FIEL F Tl q2F Rl 2l
01. software, CPU/RAM 02. application software, system software
03. hardware, software 04. input device, output device
05. input, output
Solution for Question 166 Ans Key: 3

eng/eng  All the components of a computer are either Hardware or Software.
FOET o qHY TeF gready AT ATHATT gId 2
eng hin  All the components of a computer are either Hardware or Software.

FOYET o THT T gread? AT AIFEdIT 2Id g




Q-167 A is a major database object used to display information in a printable page format.
eng/eng TF T ST Sieoae g et STt fife #3 I 79 wTeT # ST wetdha ww & forw fmar smar 21
01. form 02. query
03. report 04. table
05. None of these
Q-167 A is a major database object used to display information in a printable page format.
enghin TF T ST SfeoFe g (et START e F3 T I8 e # ST Y&fia w2 & forw e smar 21
01. form 02. query
03. report 04. table
05. None of these
Solution for Question 167 Ans Key: 3
eng/eng A report is a major database object used to display information in a printable page format.
T NO1E T TeTaw siserae g et 3wt i #3a T77 99y # Sy wefdha e 6 forw B stmar 2
eng hin A report is a major database object used to display information in a printable page format.
T NO1E T Teraw sitserae g et 3wt fife #3977 99 yreT # SR wefoha e 3 forw R stmar 2
Q-168 Which of the following code detects and corrects error in data?
Aeferfad & & &9 |7 Fre 2T § T T 9q7 OMaT 2 3T 39 Tat FHar g2
01. Windows 02. Hamming Codes
03. Encryption 04. All of these
05. None of these
Q-168 Which of the following code detects and corrects error in data?
Rerferid ® & 1 J7 Frs 327 H T FT IG7 T0Ar g S IH HE FAr?
01. Windows 02. Hamming Codes
03. Encryption 04. All of these
05. None of these
Solution for Question 168 Ans Key: 2
Hamming Codes detects and corrects error in data.
Hamming Codes T H ?fﬁ:’ T 9T < Td %* 3T 3T ZI?QF FATE
n  Hamming Codes detects and corrects error in data.
Hamming Codes T H ?fﬁ: EARKIRIEII ? 3T 3T ?ZI?QF FATE
Q-169 Whatis the best definition of a compiler?
01. A compiler is a utility that copies a program 02. A compiler is a program that converts all the source code into object code.
from disk into memory and begins its FATTAL TF TUTH g ST T H19 I 7 Afsorae Fre § TRafdd Fedr 21
execution.
TF FUTSAL T ITITNAT & ST o 7
AT UF TUTH 7 FHidT FAT & T
THHT FoITEe 9% FaT 2|
03. A compiler is used to detect logical errors in 04. A compiler is a utility that links a programmer’s source code to operating system utilities prior to
a program by allowing the programmer to execution.
trace the code line by line. TR U ITATRIAT g ST TUTHY % S HIE T FoaTee & Tge At feeq Suariarsi
THITHE T AT FIT A€ ATSH T Iaql H Sr=ar gl
T T ATATT I TH TUTH H qTlheh
FAFEHT T TqT T % 0 U Fureaw
T ITART T ST 21
05. ¢) None of these
Q-169 What is the best definition of a compiler?
eng hin  FOITEAL T HIAH =l TILATIT T 22

01. A compiler is a utility that copies a program 02. A compiler is a program that converts all the source code into object code.
from disk into memory and begins its FATSAL U THITH & ST THT I HIE H] AfeoFe FlS H qTRATIT HdT g

execution.



TF FTSAT Tk ITITAT & ST foh

AT § T TUTH T FIAT FAT 3 3T
THHT ATITEe 9% FEdT 2
03. A compiler is used to detect logical errors in 04. A compiler is a utility that links a programmer's source code to operating system utilities prior to
a program by allowing the programmer to execution.
trace the code line by line. AT U STATRIGT & ST TUTHT o BT I Hl (AT F Tget AT fees suariarst
THITHT T AT ZTT HIE AT T TadT EEIECIE
T T ATATT I T TUTH H ATl
FAfT T 9aqT T F o uE Fursaw
T ITART THAT ST B
05. ¢) None of these
Solution for Question 169 Ans Key: 2
eng/eng A compiler is a program that converts all the source code into object code.
FATSAT UF T g ST THT HH FIE F sAfeode Al § TRATTT FdT gl
eng hin A compiler is a program that converts all the source code into object code.
FATSAL UF T g ST THT H1H FIE F SAleode Al § TRATTT FdT gl
Q-170 Password in computer environment means .
eng/eng AT ATATALIN § TTEAS T 7 2l
01. Words needed to be transferred between ~ 02. Secret words the computer communicates with other
two computers NS Eﬁ‘T{ET =T o AT HAL FAT &
TN FETT & S AT F & (o0
AT Aox
03. Secret words known to authorized 04.  All of the above
05. None of these
Q-170 Password in computer environment means
FTLET ATATEAY0 | ITHae FT 72 2l
01. Words needed to be transferred between ~ 02.  Secret words the computer communicates with other
two computers NS % T AT = T HAT FLAT
FT FHTGT o FI SATAALT HLA o (0
SIEERE R
03.  Secret words known to authorized 04. All of the above
T 9re% Tfersd o forg ST AT 8
05. None of these
Solution for Question 170 Ans Key: 3
Password in computer environment means Secret words known to authorized
FTIET FTATET0T H TTHEE T 37 g T 975 ST AT o o7y ST et §
Password in computer environment means Secret words known to authorized
FET ATATEL0T H TTHAE 1 7% 2 I[H 68 S ATAFHA o o707 AT 1T &
Q-171 Dynamic Adhoc Wireless Networks (DAWN) usually come under ?
engleng  STAATTHE USEIF AATH *2a (DAWN) SHAT 9T F ST AT 52
01. 2G 02. 5G
03. 4G 04. 3G
05. None of these
Q-171 Dynamic Adhoc Wireless Networks (DAWN) usually come under ?
enghin ~ STIATTHE USEIF aAZad #2a® (DAWN) SHAR 7T F AT AT 22
01. 2G 02. 5G
03. 4G 04. 3G
05. None of these
Solution for Question 171 Ans Key: 2

eng/eng Dynamic Adhoc Wireless Networks (DAWN) usually come under 5G.
TTATIHE USEiF aTaverd deas (DAWN) HATE 9% 5G % aq9id sdr 82
eng hin  Dynamic Adhoc Wireless Networks (DAWN) usually come under 5G.

TTATIHE TSEIF aTaverd deas (DAWN) SHAE 92 5G % aqeia sdr 22



Q-172

eng/eng

Q-172

eng hin

How many layers are in Open Systems Interconnection (OSI) Model?

A freew Zevaeaer (0SI) Afee # FrasT avd grdt 82

01. Seven 02. Six
03. Four 04. Five
05. Eight

How many layers are in Open Systems Interconnection (OSI) Model?

Ao B TexaaFer (OS]) Aiee | fohast ud gt 82

01. Seven 02. Six
03. Four 04. Five
05. Eight

Solution for Question 172

Ans Key: 1

eng/eng

Seven layers are in Open Systems Interconnection (OSI) Model.

A freew Sezaaaer (0S]) Aied § 7 9% it &

eng hin

Q-173

Q-173

Seven layers are in Open Systems Interconnection (OSI) Model.

A fBeew Teaawa=#e (OSI) Aied | 7 9%d grdl &

is a networking device that forwards data packets between computer networks.

T deafhar f2aTe § S Fvges Jead & a1 227 The &1 31 92T 2|

01. Hub 02. Repeater
03. Switch 04. Router
05. Modem

is a networking device that forwards data packets between computer networks.

T Hea T (SaTeH g ST FTAET 7eah 6 a9 ST Tahe HT AT T&TaT gl

01. Hub 02. Repeater
03. Switch 04. Router
05. Modem

Solution for Question 173

Q-174

cung/eng

Q-174

eng hin

Router is a networking device that forwards data packets between computer networks.
3T U a1 (ZAT2H § ST HTYE deaeh & a1 22T Tohe & 3 J2rar 2|

Router is a networking device that forwards data packets between computer networks.
T3 UF FediT (SaT2H § S FOge deadh & a1+ 22T Tohe & 3 J2raT 2|

Consider the following:
et 1 g3 § T@d g

1. C++
ii. C
iii. COBOL

Which among the above is/ are High-Level Languages (HLL)?
I § & FHIA-HT Ig-FTLT 91970 (HLL) 22

01. Onlyi 02. Bothi&ii
03. Alli, ii &iii 04. Bothii &iii

05. Bothi&iii
Consider the following:

FRafafad & oo 7 w@d gu

1. C++

ii.C

iii. COBOL

Which among the above is/ are High—L¢ve1 Languages (HLL)?
IUUH § F HIA-HT IF-Fa<1T ATITY (HLL) 82

Ans Key: 4



01. Onlyi 02. Bothi&ii
03. Alli, i &iii 04. Bothii & iii
05. Bothi&iii

Solution for Question 174 Ans Key: 3
eng/eng C C++ Cobol all are high level language.
C C ++ FETe gl 3 T ATIT &
enghin  C C++ Cobol all are high level language.
C C ++ FETe g1 3 T ATIT &
Q-175 Which is used to return to the first slide during the Slide-Show?
engleng FATES-AT F FH TAT TATS UL Ated 6 (oId FheshT It T ST 82
01. Ctrl+1 02. Shift+ 1 + Enter
03. Ctrl + 1 + Enter 04. 1+ Enter
0S. Shift+1
Q-175 Which is used to return to the first slide during the Slide-Show?
enghin ~ FATES-9T % FH Tl TATEE T At 6 (ord et I o ST 82
01. Ctrl+1 02. Shift+ 1 + Enter
03. Ctrl+ 1+ Enter 04. 1+ Enter
05. Shift+ 1
Solution for Question 175 Ans Key: 4
1 + Enter is used to return to the first slide during the Slide-Show.
TATSE- 91T o ST Ugell FATSS U< @Afed o o1 1 + Enter T SUFNT (AT SITAT &
1 + Enter is used to return to the first slide during the Slide-Show.
TATSS-9MT o 14T Tl FAT5E U< @ fed o forw 1 + Enter T STFNT 64T STAT &
Q-176 HTTP port number
01. 80 02. 123
03. 25 04. 125
05. None of these
Q-176 HTTP port number
ng hin
01. 80 02. 123
03. 25 04. 125
05. None of these
Solution for Question 176 Ams Key: 1

eng/eng HTTP(Hyper Text Transfer Protocol ) port number is 80.
HTTP (FTZHY TFEE T TSI TIE H&AT 80 2
eng hin  HTTP(Hyper Text Transfer Protocol ) port number is 80.
HTTP (FTSHY THEE TTEHT TSI TIE H&AT 80 2
Q-177 Which of the following refers to too much electricity and may cause a voltage surge?
engleng ¥ H & F1 aga T8 et it H2f7q F7aT ¢ o7 qTees a@+ 7 F0T &1 qdT &7
01. Shock 02.  Anomaly
03. Splash 04. Spike
05. Virus
Q-177 Which of the following refers to too much electricity and may cause a voltage surge?
enghin 7% ® & %17 aga s(fd= fasrett it §2f67q F7aT1 2 T qrees a@+ 7 FL00 g1 FhdT 82

01. Shock 02. Anomaly
03. Splash 04. Spike
05. Virus



Solution for Question 177 Ans Key: 4
eng/eng  Spike refers to too much electricity and may cause a voltage surge
Spike TET AT TASTAT HT HIITT FIAT & ST ATeesT A& HT HILIT &l FHaT ©
eng hin  Spike refers to too much electricity and may cause a voltage surge
Spike TET T fasTelt T HIFTT FIAT § 3T ATeesT @ HT HIL BT THAT §
Q-178  Which of the following is the latest version of Windows?
eng/eng T8 H & A1 AT SIS T TAITTH HEHTT T2
01. Windows 98 02. Windows XP
03. Windows 2000 04. Windows 10
05. None of these
Q-178  Which of the following is the latest version of Windows?
enghin T8 ® & F17 &7 [HETST 7 T 7qH FEHT F2
01. Windows 98 02. Windows XP
03. Windows 2000 04. Windows 10
05. None of these
Solution for Question 178 Ans Key: 4
Windows 10 is the latest version of Windows
SISt T T4 dH G0 Windows 10 &
Windows 10 is the latest version of Windows
SISt T T dH SR Windows 10 &
Q-179 is the science that attempts to produce machines that display the same type of intelligence that humans do.
Fg AT g ST AefHT FT ITTEA F2A T TITH FIAT ¢ ST I6T TR AT JIGAT FT TSI Fd & ST AT Fd 2
01. Nano science 02. Nanotechnology
03.  Simulation 04. Artificial intelligence
05. None of these
Q-179 is the science that attempts to produce machines that display the same type of intelligence that humans do.
g = & S wefiei &1 ITT FH2A T TITH FLAT & ST IET T T AT A7 TN F2d & S AT F gl
01. Nano science 02. Nanotechnology
03.  Simulation 04. Artificial intelligence
05. None of these
Solution for Question 179 Ans Key: 4
Artificial intelligence is the science that attempts to produce machines that display the same type of intelligence that humans do.
Atificial intelligence FE TaT & ST WETHT T ICATEA Tl HT TATH FLAT § ST SHT THTL 6T FIFHAT T TENT FHd & ST 7T L 2
eng hin  Artificial intelligence is the science that attempts to produce machines that display the same type of intelligence that humans do.
Artificial intelligence a2 =TT g ST TeRAT FT ITATEA FTA HT TATH FIAT § ST SHT THTL 207 FIFHAT HT TEIT FHT & ST 7T LT 2
Q-180 BIT stands for—
eng/eng BIT T ‘I'Jf ] T T@?IT g
01. Binary Information Unit 02. Binary language
03. Megabyte 04. Binary Number
05. Binary Digit
Q-180 BIT stands for—
enghin  BIT & 0 &7 T gral &
01. Binary Information Unit 02. Binary language
03. Megabyte 04. Binary Number
05. Binary Digit
Solution for Question 180 Ans Key: 5

eng/eng

BIT is the smallest memory unit. BIT: Binary Digits.



BIT &4 et 9T IfAe 1

eng hin

BIT is the smallest memory unit. BIT: Binary Digits.
BIT &% el #9RT e 2

Q-181

eng/eng

Q-181

eng hin

Programmer who works in high level languages and have application understanding are considered as

THITHY ST 3 T2 T ATITSH § TH FTdT g 3T e ol T80T T9dT g S9 AT ST &

01. design programmers 02. applications programmer
03. analysis programmer 04. train programmers

05. None of these
Programmer who works in high level languages and have application understanding are considered as

THITHE ST 3 Fq¢ T STOTsH H FTH FIAT § 3T AT il T 7@l § 39 JET Sar &

01. design programmers 02. applications programmer
03. analysis programmer 04.  train programmers
05. None of these

Solution for Question 181 Ans Key: 1

eng/eng

Q-182

Q-182

Programmer who works in high level languages and have application understanding are considered as design programmers
T ST 35 Fq< T ATOTSH § T AT & 3T ATIe =l TH TGdT g 39 design programmers ATAT STTAT &

Programmer who works in hlgh level languages and have application understanding are considered as design programmers
TRITHY ST 3 £ T ATHTAT | FTH FEAT & ST AT il THT TEdT & 39 design programmers HTAT STTAT &

The name given to a document by its user is called .
AT IUANTHRAT GTT TohelT TEATAS 0 T 3T 918 FEATdT gl

01. Data 02. Program
03. Record 04. File name
0S. File type

The name given to a document by its user is called g
I STTRTRAT ZTT She T ZEdTaST %1 T<FT 47 A1 FEATdT 2l

01. Data 02. Program
03. Record 04. File name
0S. File type

Solution for Question 182 Ans Key: 4

The name given to a document by its user is called File name
A STTRTHAT ZTT [T S=arast i [&FT T 719 ®IE FT A9 FHadTdT 2l

The name given to a document by its user is called File name

O STARTHAT GIXT THHT ZEATAS T [T AT A9 WIS FT ATH FgaTal gl

Q-183

eng/eng

Q-183

eng hin

Stock maintaining control system in store which consists hardware and software to contact and manage suppliers is called

T =07 FATC T ATeAT Tt ored srqfdadist & Juh Fed ¥ Taed FA & o7 gready oY qifead? gid &, Fgl Al g

01. system 02. component classification
03.  information processing system 04. operating system

05. None of these
Stock maintaining control system in store which consists hardware and software to contact and manage suppliers is called

T T FAT0 T ATt Teieh forad s ist & Jueh Fed ¥ Taed F3d & (o[ gready sfi¥ qiFedd? gid &, Fal Al g

01. gsystem 02.  component classification
03. information processing system 04. operating system
05. None of these

Solution for Question 183 Ans Key: 3

eng/eng

Stock maintaining control system in store which consists hardware and software to contact and manage suppliers is called information processing system

T =7 FAT0 T AT Ee i forad srqfdadtst & Hush A ST e FIA o o7 gre g si¥ Aieead¥ gid &, information processing

system FgT STTAT &




eng hin

Stock maintaining control system in store which consists hardware and software to contact and manage suppliers is called information processing system
T § =7 990 e ATt Tt orad srqfdadtst & qush A ST TEee FA o o7 greag si¥ qieead¥ gid g, information processing
system FgT STTAT &

Q-184

eng/eng

Q-184

eng hin

A device which uses small lever to control movement on screen is classified as

T ITHLIT ST ShIT I AT &1 FIEa w3 % o1 e Saw F7 ST F:3aT §, 39§ afiad 63T 147 82

01. joystick 02. light stick
03. digital stick 04. transmission stick

05. None of these
A device which uses small lever to control movement on screen is classified as

T ITFIT ST ThIF T AT o1 A= Fee 3 fore @i g w7 Suanr F2ar 8, 39 # avfiga w1 g2

01. joystick 02. light stick
03. digital stick 04. transmission stick
05. None of these

Solution for Question 184 Ans Key: 1

eng/eng

Q-185

Q-185

A device which uses small lever to control movement on screen is classified as joystick

T ITFIVT ST T I AT 1 AT Fea F o @ Sfiay a7 ST #59AT 8, 397 joystick T AT AT AT

A device which uses small lever to control movement on screen is classified as joystick
T ITHIT ST ThIF T AT DT (AT FE 6 (7T FGIE AT FHT ITANT FAT &, SH joystick H Ak (3T TAT &

Processing that is carried out by using remote terminal processors is called
gTee] fHAe T T STANT F: (0 ST ATeT TEERT0 T gl ST 8

01. teleprocessing 02. digital processing
03. logic processing 04. remote processing
05. None of these

Processing that is carried out by using remote terminal processors is called
T A TIHET AT ITAN Fh T ST ATl THERLT il gl Sl §

01. teleprocessing 02. digital processing
03. logic processing 04. remote processing
05. None of these

Solution for Question 185 Ans Key: 1

Processing that is carried out by using remote terminal processors is called teleprocessing
g STHAR TIHET FHT STTNT Fah [T ST ATl THERTIT &l SATTTETERT gl STTaT &

Processing that is carried out by using remote terminal processors is called teleprocessing
FTE ZTHAA TTEHT T STIN F¥eh (o0 ST AT THERTIT 6l AT TE T Fgl ST &

Q-186

eng/eng

Q-186

eng hin

A piece of data that can be transferred between CPU and backing store as a single unit is called

UF THTS & ®F § I ST ST 2T F A= AT HIT ST Hoe aTAT ST 7 T She] FEATAT &

01. block 02. streamer

03. cartridge 04. gaps

05. None of these

A piece of data that can be transferred between CPU and backing store as a single unit is called

TF THTS 6 & § HA1 AT 7 T2 F = SAiaed FFar S aeh aTar 227 7 UF el FEATAT S

01. block 02. streamer
03. cartridge 04. gaps
05. None of these

Solution for Question 186 AnsKey: 1

eng/eng

A piece of data that can be transferred between CPU and backing store as a single unit is called block
UF THTS 6 ®F § I ST ST T2 d= ST HIT ST el ATAT ST T T SHET A1 FgeATdl g

eng hin

A piece of data that can be transferred between CPU and backing store as a single unit is called block

THF THTS o ®F H IH T ST T2 F 1= S AT ST 96 9Tl S27 7 U THeT s (6 FgaTdT &



Q-187

eng/eng

Q-187

eng hin

Types of software programs usually includes

TATFETT TRITH % YT H ST T2 AT i &

01. application programs 02. operation programs
03. mathematical operation only 04. both a) and b)

05. None of these
Types of software programs usually includes

AT TRITH & TR H AHGE T2 ATHA g &

01. application programs 02. operation programs
03. mathematical operation only 04. both a) and b)
05. None of these

Solution for Question 187

Ans Key: 1

eng/eng

Types of software programs usually includes application programs.

AT TR F THE § SAHA I ATHA BId & TioeAaherd TR

eng hin

Q-188

Q-188

Types of software programs usually includes application programs.

TATFEATT TRITH % ThTE H ST T2 AT i 8 uitesher T

Techniques used in 'character recognition' includes

FTFET LRRTH AT H TETHTS ] ST ATl qaheTohi | 9TTTHeT a2

ol

01. optical character recognition 02. magnetic ink character recognition

03. optical mark reading 04. both a) and b)

05. None of these
Techniques used in 'character recognition' includes

"FEFEE TR § TEHTA ohl ST FTeAT Aehet 1901 | AT grae

01. optical character recognition 02. magnetic ink character recognition

03. optical mark reading 04. both a) and b)
05. None of these

Solution for Question 188

Q-189

eng/eng

Q-189

eng hin

Techniques used in 'character recognition' includes OCR MICR

FLFT TR | ZETATA T ST AT T o150t § OCR MICR 9TTHHeT 2

Techniques used in 'character recognition' includes OCR MICR

FFET TR | ZETATA T ST AT qohe 150t § OCR MICR 9TTHH<T &

An error in a computer program is called

FGET FTTH H A o FET STl ol .

01. Crash 02. Power failure
03. Vims 04. Bug

05. Bugger
An error in a computer program is called

FIET TRITH | Ff FT FgT STl 2l .

01. Crash 02. Power failure
03. Virus 04. Bug
05. Bugger

Solution for Question 189

Ans Key: 4

Ans Key: 4

eng/eng  An error in a computer program is called Bug.
FOIET TRITH | (AT a7 FHgl SATaT g
eng hin  An error in a computer program is called Bug.

FOIET TRITH | (AT a7 FHgT SATaT g




Q-190 A device used to print graphical output such as graphs and designs by computer on a paper is called
engleng  FTAET TT ATTHA SMITIE FHH T i RS &1 9w w2 e F21 F Forg zeqwmer fram S e Suser Fgamar &

01. printer 02. plotter
03. output processing unit 04. input processing unit

05. None of these

Q-190 A device used to print graphical output such as graphs and designs by computer on a paper is called
enghin  FTIEL T AMTHA ST FAH IT 37 BSAT=T 1 9w w2 e F2 3 Forg geqwmer fm s e soser wgarar g

01. printer 02. plotter
03. output processing unit 04. input processing unit
05. None of these

Solution for Question 190 Ans Key: 2
eng/eng A device used to print graphical output such as graphs and designs by computer on a paper is called Plotter
FIEY T TR ATSE STH I 317 AT F7 92 2 fife 2 3 forw geqwmer f36am STy arer S92 plotter FaTar &
eng hin A device used to print graphical output such as graphs and designs by computer on a paper is called Plotter
FOET UL AT SIS ST ATH AT o2 &1 Guw 9 ffe e 3 forw zeawmer 3 ST aTelr ST=60T plotter FgTdT &
Q-191 A keyboard is base input device
TEAEE  adEAYE A 5
01. black 02. CUI
03. output 04. word Process
05. None of these
Q-191 A keyboard is base input device.
eI CIES 3 = AT g
01. black 02. CUI
03. output 04. word Process
05. None of these
Solution for Question 191 Ans Key: 2
A keyboard is a CUI (Command User Interface) base input device.
Th Frere CUI (Command User Interface) I EGRC IECIEGS ?I
hin A keyboard is a CUI (Command User Interface) base input device.
Th Frers CUI (Command User Interface) aH EQRC IECIES ?I
Q-192  Who is known as father of Attificial Intelligence?
TeRferae eforia & f9ar % &7 # o ST ST 872
01. John McCarthy 02. Vint Cerf
03. Dennis Ritchie 04. James Gosling
05. None of these
Q-192 Who is known as father of Artificial Intelligence?
eng hin  STEfRArrer Z2forsta % foqr & =7 § 6 ST s 22
01. John McCarthy 02. Vint Cerf
03. Dennis Ritchie 04. James Gosling
05. None of these
Solution for Question 192 Ans Key: 1

eng/eng  John McCarthy known as father of Artificial Intelligence.
srtEfRfarer Sefersie 3 fIaT 3 =7 & John McCarthy T STTHT STTAT &

eng hin  John McCarthy known as father of Artificial Intelligence.
artefRfarrer Fefersie 3 fIaT % =7 & John McCarthy T STTHT STTAT &

Q-193  Which of the following is not a storage device?
engleng THHTITET H & FIF #2s (SAT3H A2l &



01. Monitor 02. CD
03. Hard disk 04. Floppy Disk

05. DVD
Q-193  Which of the following is not a storage device?
eng hin T T eEns %aﬁg—qﬂ@'%

01. Monitor 02. CD
03. Hard disk 04. Floppy Disk
05. DVD

Solution for Question 193

Ans Key: 1

eng/eng  Monitor is not a storage device. It is an output device

Hiffer et fearea 781 € 78 UF asee fRara g

eng hin  Monitor is not a storage device. It is an output device

Hiffer et feared 781 € 72 UF asee fRara g

Q-194 The CPU comprises of Control, Memory and units.
engleng ST # FRar=ror, wArd =T THTZAT AT B

01. Microprocessor 02.  Arithmetic/Logic
03. Output 04. ROM

05. None of these
Q-194 The CPU comprises of Control, Memory and units.
i # fA=ror, 99T e THRTSIT AT 2|

01. Microprocessor 02.  Arithmetic/Logic
03. Output 04. ROM
05. None of these

Solution for Question 194

The CPU comprises of Control, Memory and Arithmetic Logic units.
Hrdr & =07, aRT s stiRermtes i Ao shream anfie g
The CPU comprises of Control, Memory and Arithmetic Logic units.

g 7 f=ror, TR ST stemfes ol Ao sareat antad g

Q-195 is the most important/powerful computer in a typical network.

U e Feas H qaw Ageaqul / AR FUIET 2

01. Desktop 02. Network client
03. Network server 04. Bank

05. None of these

Q-195 is the most important/powerful computer in a typical network.
eng hin uF fafers Fead # qaE Agal / el FegeET B

01. Desktop 02. Network client
03. Network server 04. Bank
05. None of these

Solution for Question 195

Ans Key: 2

Ans Key: 3

eng/eng  Network server is the most important/powerful computer in a typical network.
Teae qAY UF AT qeas § qa9 Agea ol / AT $ger gl

eng hin  Network server is the most important/powerful computer in a typical network.

e FaT Ua At dead § qa9 Aged vl / AR FET g

Q-196 A appearing on a web page opens another document when clicked .

eng/eng UF A U 9T fa@TE A AT T AT A IY U T & GAdl §

01. anchor 02. URL



03. hyperlink 04. reference

05. None of these
Q-196 A appearing on a web page opens another document when clicked .

enghin  TF 3 U 92 fE@Ts & aan T T F 9¥ U ¥ FEATas gAdr g

01. anchor 02. URL
03. hyperlink 04. reference
05. None of these
Solution for Question 196 Ans Key: 3
eng/eng  A(n) Hyperlink appearing on a web page opens another document when clicked .
T 9F U 97 fa@Ts 3 91T greaeicis 9 (e i 0% U ST Tqrael gadl §
eng hin  A(n) Hyperlink appearing on a web page opens another document when clicked .
T 99 U 97 fa@Ts 39 aTer greueieis 9 (e i 0% U ST Tqras gadl §
Q-197  Junk e-mail is also called
engleng S - A %ﬁwwﬁl
01. spoof 02. spam
03. gpill 04. sniffer script
05. None of these
Q-197  Junk e-mail is also called
TR S -l T ot g7 STaT 2
01. spoof 02. spam
03. spill 04.  sniffer script
05. None of these
Solution for Question 197 Ans Key: 2
Junk e-mail is also called Spam.
Junk e-mail is also called Spam.
SR $-Ue T T HT T ST 2l
Q-198 To save an existing file with new name at a new location we should use command.
eng ToRHT 70 T 9 90 AT % |7 HISET WIS Fl TgoT & o0 g8 FHTE T ITANT FLAT AT
01. Save 02. Save and replace
03. Save as 04. New file
05. None of these
Q-198 To save an existing file with new name at a new location we should use command.
eng hin T 7T ¥2T7 9% FT ATH % AT WISET WA TG (0 gH FHTE T ITANT FHIAT AT
01. Save 02. Save and replace
03. Saveas 04. New file
05. None of these
Solution for Question 198 Ans Key: 3

eng/eng To save an existing file with new name at a new location we should use Save As command.

FoReft T T 9% AT AT F AT HIS[ET FIEA H T & (o0 g1 99 TR HHIE HT ITIN HIAT A0

eng hin  To save an existing file with new name at a new location we should use Save As command.

TRt T T 9% AT AT F AT HIS[ET FIE H T & (o0 g7 99 TR HHIE HT ITIN FHIAT A0

Q-199  The primary job of an operating system is to manage-

engleng AT REzwFTOAfFFd AT GEGA FATRATE
01. Commands 02. Users
03. Programmes 04. Resources

05. Process



Q-199  The primary job of an operating system is to manage-

enghin ANETREAFITAFFFE_ FTEEgT FATATE
01. Commands 02. Users
03. Programmes 04. Resources

05. Process

Solution for Question 199 Ans Key: 4
eng/eng The primary job of an operating system is to manage Resources.
ST Foreed 7 IrITHe F1d RATEH FT TIEF FIAT 2T &
eng hin  The primary job of an operating system is to manage Resources.
AT REreew 7 yrate w1 REEE A7 Ja€" FEAT1 2l ©
Q-200 is collection of web pages and is the very first page that we see on opening of a website.
eng/eng EEREIEOR: D ARy TEAT IS § ST gH da€Tee @I 97 39d gl
01. Home page, Web-page 02. Web-site, Home-page
03. Login page, Home-page 04. Web-page, Web-site
05. None of these
Q-200 is collection of web pages and is the very first page that we see on opening of a website.
eng hin AT USTT AT TG 3T JEAT U g ST gH Ja9T2e Giad I¢ 6@ d gl
01. Home page, Web-page 02. Web-site, Home-page
03. Login page, Home-page 04. Web-page, Web-site
05. None of these
Solution for Question 200 Ans Key: 2

eng/eng  Website is collection of web pages and home page is the very first page that we see on opening of a website.

JIETSE 39 USIT 1 63 AT STHUST TZT UST g ST 2H AaHTEe Gle 9% 3@d ¢l

eng hin  Website is collection of web pages and home page is the very first page that we see on opening of a website.

JTETSE 39 USTT 1 5 AT 2THUST TEAT UST & ST 29 JaH1EE Gied I¥ a@d ¢l



